THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

## Bid MB-1688 Ended At May 22, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Old City Jail Window Improvements

Company:	Diversified Construction of Oklahoma, Inc	
Base Bid	\$334,170.00	
TOTAL BID:	\$334,170.00	

Tresha Willia	ams
City Clerk	

Chad Harrison Purchasing Agent

\_\_\_\_\_Tim Alvarez\_\_\_\_\_

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

# Bid #MB-1688 - Old City Jail Window Improvements

Creat	ion Date	Apr 1, 2024	End Date	Мау	22, 2024 10:0	0:00 AM CDT	
Start I	Date	Apr 24, 2024 8:02:07 AM CDT	Awarded Date	Not	Yet Awarded		
Dive	rsified Co	onstruction of Oklahoma, Inc					\$334,170.00
Qual	intact ifications lotes	Skip Gower asag@diversifiedok.com Ph 405-340-3164 Fax 405-348-7070 OKC PRE-QUALIFIED CONTRACTORS See attachment on Base Bid	A	ddress	5 6288 Bouch Edmond, Ok		
Ageno	y Notes:		Supplier Notes: See attachment on Base Bid				
ltem #	Line Ite	n	Unit	Price	Qty/Unit		Total Price
MB- 1688- -01- 01	Bas	e Bid: Old City Jail Window Improvements - First Offer	\$334,1	70.00	1 / lump sum		\$334,170.00
1	ict Code: cy Notes:		Supplier Product Co Supplier Notes: Bid Bond Attached	ode:	•		
						Lot To	otal: \$334,170.00

# Bid PM-0308 Ended At May 22, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Residential, Local and Collector Street Resurfacing

Company:	Silver Star Construction Company	Ellsworth Construction OKC dba A- Tech Paving	Atlas Paving Company
BASE BID	\$6,998,500.00	\$7,117,394.00	\$7,291,630.00
TOTAL BID:	\$6,998,500.00	\$7,117,394.00	\$7,291,630.00

Company:	SCHWARZ PAVING CO., INC.	Rudy Construction Co.	T.J. Campbell Construction Co.
BASE BID	\$7,660,280.00	\$7,719,090.00	\$8,266,805.00
TOTAL BID:	\$7,660,280.00	\$7,719,090.00	\$8,266,805.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk – Potential Bid Defects Noted:	Purchasing Agent	Auditor

- **#1** Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

# Bid #PM-0308 - Residential, Local and Collector Street Resurfacing

Creation Date Apr 12, 2024

Start Date Apr 24, 2024 8:02:07 AM CDT

End Date May 22, 2024 10:00:00 AM CDT

Awarded Date Not Yet Awarded

PM-030801-01 BASE BID: 200-00 UNCLASSIFIED EXCAVATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 🧕	First Offer - \$6.74	2000 / cubic yard	\$13,480.00	Y	Y				
Product Code: Agency Notes:	· ·	Supplier Product Cod Supplier Notes:	e:						
Rudy Construction Co. 👔	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
SCHWARZ PAVING CO., INC. 🧕	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
T.J. Campbell Construction Co.	First Offer - \$21.00	2000 / cubic yard	\$42,000.00	Y	Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Atlas Paving Company 👔	First Offer - \$50.00	2000 / cubic yard	\$100,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

PM-030801-02 BASE BID: 200-01 UNSUITABLE MATERIAL EXCAVATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$7.26	2000 / cubic yard	\$14,520.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	2000 / cubic yard	\$40,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$25.00	2000 / cubic yard	\$50,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$26.00	2000 / cubic yard	\$52,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$50.00	2000 / cubic yard	\$100,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PM-030801-03 BASE BID: 200-04 DRAINAGE DITCH EXCAVATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1.00	5000 / linear foot	\$5,000.00		Y	

## City of Oklahoma City and

ii and Collector Street	its trusts			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1.50	5000 / linear foot	\$7,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Rudy Construction Co. 👔	First Offer - \$3.00	5000 / linear foot	\$15,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Silver Star Construction Company 👔	First Offer - \$3.26	5000 / linear foot	\$16,300.00	Y
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	2:	·
T.J. Campbell Construction Co.	First Offer - \$5.00	5000 / linear foot	\$25,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.00	5000 / linear foot	\$25,000.00	Y
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	2:	

PM-030801-04 BASE BID: 202-00 UNCLASSIFIED BORROW									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$24.00	500 / cubic yard	\$12,000.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$25.00	500 / cubic yard	\$12,500.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$30.85	500 / cubic yard	\$15,425.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes: State Stat		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$50.00	500 / cubic yard	\$25,000.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							

PM-030801-05 BASE BID: 220-01 SUBGRADE (8 INCHES COMPACTED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 🙀	First Offer - \$5.00	1000 / square yard	\$5,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.00	1000 / square yard	\$5,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.50	1000 / square yard	\$5,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$6.00	1000 / square yard	\$6,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

bid #PM-0308 - Residential,
Local and Collector Street

	113 114313			
Silver Star Construction Company 🙀	First Offer - \$7.06	1000 / square yard	\$7,060.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Atlas Paving Company 🙀	First Offer - \$8.00	1000 / square yard	\$8,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030801-06 BASE BID: 220-02 PROOF ROLLING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 🙀	First Offer - \$0.15	100000 / square yard	\$15,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$0.15	100000 / square yard	\$15,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Atlas Paving Company 🙀	First Offer - \$0.25	100000 / square yard	\$25,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.25	100000 / square yard	\$25,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$0.28	100000 / square yard	\$28,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$0.75	100000 / square yard	\$75,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								

PM-030801-07 BASE BID: 222-05 CEMENTITIOUS STABILIZED SUBGRADE (8 INCHES THICK COMPACTED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$3.00	7040 / square yard	\$21,120.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.50	7040 / square yard	\$24,640.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$4.00	7040 / square yard	\$28,160.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$4.00	7040 / square yard	\$28,160.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.50	7040 / square yard	\$31,680.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$5.00	7040 / square yard	\$35,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PM-030801-08 BASE BID: 222-18 CEMENT SLURRY (4%)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
	First Offer - \$258.00	500 / ton	\$129,000.00		Y

Silver Star Construction Company 👔					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co. 👔	First Offer - \$265.00	500 / ton	\$132,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$279.00	500 / ton	\$139,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$298.00	500 / ton	\$149,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 🧕	First Offer - \$325.00	500 / ton	\$162,500.00		Y
		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$375.00	500 / ton	\$187,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-030801-09 BASE BID: 225-00 AGGREGATE BASE (TYPE A)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$70.00	1000 / cubic yard	\$70,000.00		Y				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
Silver Star Construction Company 👔	First Offer - \$72.00	1000 / cubic yard	\$72,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Rudy Construction Co. 🙀	First Offer - \$75.00	1000 / cubic yard	\$75,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$75.00	1000 / cubic yard	\$75,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$80.00	1000 / cubic yard	\$80,000.00		Y				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
Atlas Paving Company 👔	First Offer - \$100.00	1000 / cubic yard	\$100,000.00		Y				
Product Code: Agency Notes:	· ·	Supplier Product Cod Supplier Notes:	e:						

PM-030801-10 BASE BID: 226-02 PROCESSING EXISTING BASE AND SURFACE METHOD B (8 INCHES THICK COMPACTED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$1.00	32000 / square yard	\$32,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.00	32000 / square yard	\$64,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$2.15	32000 / square yard	\$68,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2.75	32000 / square yard	\$88,000.00		Y			
İ İ		ĺ						

bid #PM-0308 - Residential,
Local and Collector Street

		its Trusts				
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 🙀		First Offer - \$3.00	32000 / square yard	\$96,000.00		Y
Product Code:		Supplier Product Code:				
		Supplier Notes:				
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$3.50	32000 / square yard	\$112,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

PM-030801-11 BASE BID: 226-05 PROCESSING EXISTING BASE & SURFACE WITH CHEMICAL ADDITIVE METHOD E									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$1.50	32000 / square yard	\$48,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$2.35	32000 / square yard	\$75,200.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 🙀	First Offer - \$2.50	32000 / square yard	\$80,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.70	32000 / square yard	\$86,400.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$5.00	32000 / square yard	\$160,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$5.25	32000 / square yard	\$168,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030801-12 BASE BID: 301-07 ASPHALT CRACK REPAIR TYPE S6 (1/2 INCH TO 2 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$185.00	50 / ton	\$9,250.00		Y				
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:							
Rudy Construction Co. 👔	First Offer - \$225.00	50 / ton	\$11,250.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$265.00	50 / ton	\$13,250.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$385.00	50 / ton	\$19,250.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$450.00	50 / ton	\$22,500.00		Y				
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:							
Atlas Paving Company 👔	First Offer - \$500.00	50 / ton	\$25,000.00		Y				
		Supplier Product ( Supplier Notes:	Code:						

PM-0308--01-13 BASE BID: 301-35 SUPERPAVE TYPE S6 (PG 64-22 OK)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$91.70	4000 / ton	\$366,800.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$116.16	4000 / ton	\$464,640.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$120.00	4000 / ton	\$480,000.00		Y
Product Code:	 ·	Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$128.00	4000 / ton	\$512,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$130.00	4000 / ton	\$520,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$143.00	4000 / ton	\$572,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			

PM-030801-14 BASE BID: 301-36 SUPERPAVE TYPE S6 (PG	i 58-28 OK)(15%RAP)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$90.75	4000 / ton	\$363,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$92.00	4000 / ton	\$368,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$115.00	4000 / ton	\$460,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$125.00	4000 / ton	\$500,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Atlas Paving Company 🙀	First Offer - \$126.00	4000 / ton	\$504,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$136.00	4000 / ton	\$544,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-030801-15 BASE BID: 301-37 SUPERPAVE TYPE S3 (PG 64-22 OK)(15% RAP)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$90.00	8000 / ton	\$720,000.00		Y
Product Code:		Supplier Product C	Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$92.20	8000 / ton	\$737,600.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$95.00	8000 / ton	\$760,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
	Π					

bid #PM-0308 - Residential, Local and Collector Street	Ci	ty of Oklahoma City and its Trusts			
Atlas Paving Company 👔		First Offer - \$97.00	8000 / ton	\$776,000.00	Y
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:	
SCHWARZ PAVING CO., INC. 👔		First Offer - \$100.00	8000 / ton	\$800,000.00	Y
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:	
T.J. Campbell Construction Co.		First Offer - \$109.00	8000 / ton	\$872,000.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	

PM-030801-16 BASE BID: 301-39 SUPERPAVE TYPE S5 (PG	G 64-22 OK)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$110.00	8000 / ton	\$880,000.00		Y
Product Code: Agency Notes:	·	Supplier Product ( Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$114.00	8000 / ton	\$912,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$116.75	8000 / ton	\$934,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co. 👔	First Offer - \$120.00	8000 / ton	\$960,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$120.00	8000 / ton	\$960,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$138.00	8000 / ton	\$1,104,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PM-030801-17 BASE BID: 301-41 SUPERPAVE TYPE S5 (PG	i 58-28 OK)(15% RAP)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$101.00	8000 / ton	\$808,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 🙀	First Offer - \$105.00	8000 / ton	\$840,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$115.00	8000 / ton	\$920,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$116.30	8000 / ton	\$930,400.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Rudy Construction Co. 🙀	First Offer - \$125.00	8000 / ton	\$1,000,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$133.00	8000 / ton	\$1,064,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			

Г

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀		First Offer - \$10.00	2000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		1	Supplier Product Code Supplier Notes:	2:		
Rudy Construction Co. 👔		First Offer - \$15.00	2000 / linear foot	\$30,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Silver Star Construction Company 👔		First Offer - \$15.76	2000 / linear foot	\$31,520.00		Y
		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.		First Offer - \$16.00	2000 / linear foot	\$32,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$20.00	2000 / linear foot	\$40,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$22.00	2000 / linear foot	\$44,000.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		

PM-030801-19 BASE BID: 304-06 P. C. CONC. PAVEMENT (8 INCHES) (4000 PSI HES) (REINF. CONC. VALLEY GUTTE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$97.52	1200 / square yard	\$117,024.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$110.00	1200 / square yard	\$132,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$128.00	1200 / square yard	\$153,600.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$135.00	1200 / square yard	\$162,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 🙀	First Offer - \$150.00	1200 / square yard	\$180,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company 👔	First Offer - \$150.00	1200 / square yard	\$180,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PM-030801-20 BASE BID: 304-31 P C CONC PVMT (7 INCH)(DOWELL JOINTED) (4000 PSI HES 500 SY AND GREATER)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$90.00	2000 / square yard	\$180,000.00		Y	
Product Code:		Supplier Product Code:	:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$95.00	2000 / square yard	\$190,000.00		Y	
Product Code:		Supplier Product Code:	:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$95.00	2000 / square yard	\$190,000.00		Y	
Product Code:		Supplier Product Code	:			

Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$97.83	2000 / square yard	\$195,660.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$100.00	2000 / square yard	\$200,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$114.00	2000 / square yard	\$228,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030801-21 BASE BID: 305-00 CURB AND GUTTER	(AL	L TYPES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀		First Offer - \$33.18	2000 / linear foot	\$66,360.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.		First Offer - \$38.00	2000 / linear foot	\$76,000.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$38.00	2000 / linear foot	\$76,000.00		Y
		Supplier Product Cod Supplier Notes:	e:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$40.00	2000 / linear foot	\$80,000.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co. 👔		First Offer - \$45.00	2000 / linear foot	\$90,000.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Atlas Paving Company 👔		First Offer - \$50.00	2000 / linear foot	\$100,000.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		

PM-030801-22 BASE BID: 305-14 INTEGRAL CURB FOR S	IDEWALK (6 INCHES TO	D 12 INCHES)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15.50	1000 / linear foot	\$15,500.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co. 👔	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y
		Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 🙀	First Offer - \$36.29	1000 / linear foot	\$36,290.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$40.00	1000 / linear foot	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PM-030801-23 BASE BID: 305-15 HEADER CURB (6 INCHES X 2 FOOT 8 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.50	1000 / linear foot	\$22,500.00		Y		
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:					
Atlas Paving Company 👔	First Offer - \$25.00	1000 / linear foot	\$25,000.00		Y		
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:					
Silver Star Construction Company 👔	First Offer - \$25.42	1000 / linear foot	\$25,420.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Rudy Construction Co. 🙀	First Offer - \$30.00	1000 / linear foot	\$30,000.00		Y		
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:					
T.J. Campbell Construction Co.	First Offer - \$30.00	1000 / linear foot	\$30,000.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				

PM-030801-24 BASE BID: 309-03 HAUL OUT MILLED PA	AVEMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.05	50000 / square yard	\$2,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$0.30	50000 / square yard	\$15,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$0.40	50000 / square yard	\$20,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$0.50	50000 / square yard	\$25,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·			
T.J. Campbell Construction Co.	First Offer - \$1.10	50000 / square yard	\$55,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1.15	50000 / square yard	\$57,500.00		Y	
Product Code: Agency Notes:	· ·	Supplier Product Code: Supplier Notes:	I			

PM-030801-25 BASE BID: 309-12 COLD MILLING PAVEMENT (ASPHALT UP 4 INCH)(FINE MILL)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$2.80	100000 / square yard	\$280,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$3.25	100000 / square yard	\$325,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$3.50	100000 / square yard	\$350,000.00		Y					

	its Trusts			
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.75	100000 / square yard	\$375,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 🙀	First Offer - \$4.00	100000 / square yard	\$400,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.75	100000 / square yard	\$475,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030801-26 BASE BID: 309-14 COLD MILLING PVMT (PCC UP TO 2 INCH)(FINE MILL)											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Silver Star Construction Company 🙀	First Offer - \$3.20	9000 / square yard	\$28,800.00		Y						
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:									
Rudy Construction Co. 👔	First Offer - \$5.00	9000 / square yard	\$45,000.00		Y						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
Atlas Paving Company 👔	First Offer - \$5.00	9000 / square yard	\$45,000.00		Y						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:										
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.00	9000 / square yard	\$45,000.00		Y						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
T.J. Campbell Construction Co.	First Offer - \$5.25	9000 / square yard	\$47,250.00		Y						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:										
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.15	9000 / square yard	\$55,350.00		Y						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									

PM-030801-27 BASE BID: 310-04 ASPHALT CRACK		. ,				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀		First Offer - \$2.45	8000 / linear foot	\$19,600.00		Y
Product Code: S		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$2.75	8000 / linear foot	\$22,000.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.75	8000 / linear foot	\$22,000.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$3.00	8000 / linear foot	\$24,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$3.00	8000 / linear foot	\$24,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.00	8000 / linear foot	\$32,000.00		Y
Product Code:			Supplier Product Code:			

Agency Notes:

PM-030801-28 BASE BID: 310-05 CLEANING AND SEALING P.C. CONCRETE JOINTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	::							
Silver Star Construction Company 👔	First Offer - \$2.55	2000 / linear foot	\$5,100.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.85	2000 / linear foot	\$5,700.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:							
T.J. Campbell Construction Co.	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Atlas Paving Company 👔	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:							
Rudy Construction Co. 👔	First Offer - \$5.00	2000 / linear foot	\$10,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

PM-030801-29 BASE BID: 310-06 CLEANING AND SEALING P.C. CONCRETE CRACKS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 🧕	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.85	2000 / linear foot	\$5,700.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
T.J. Campbell Construction Co.	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:							
Atlas Paving Company 👔	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:								
Rudy Construction Co. 👔	First Offer - \$5.00	2000 / linear foot	\$10,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:							

PM-0308–01-30 BASE BID: 312-00 DIAMOND GRINDING P.C. CONC.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀	First Offer - \$5.00	5000 / square yard	\$25,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$8.00	5000 / square yard	\$40,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Agency Notes.								

## City of Oklahoma City and

al and Collector Street	its Trusts			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8.00	5000 / square yard	\$40,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10.00	5000 / square yard	\$50,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$12.00	5000 / square yard	\$60,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$12.00	5000 / square yard	\$60,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030801-31 BASE BID: 313-00 TACK COAT (CSS-1H OR CBC-1H)									
Supplier		Unit Price	Qty/Unit		<b>Total Price</b>	Attch.	Docs		
Silver Star Construction Company 🙀		First Offer - \$3.50	9000 / gallon		\$31,500.00		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔		First Offer - \$4.00	9000 / gallon		\$36,000.00		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$4.25	9000 / gallon		\$38,250.00		Y		
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4.85	9000 / gallon		\$43,650.00		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Atlas Paving Company 👔		First Offer - \$5.00	9000 / gallon		\$45,000.00		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Rudy Construction Co. 👔		First Offer - \$6.00	9000 / gallon		\$54,000.00		Y		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

PM-030801-32 BASE BID: 313-01 TACK COAT (ULTRATAC	К)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$3.75	9000 / gallon	\$33,750.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$5.00	9000 / gallon	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$5.50	9000 / gallon	\$49,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.25	9000 / gallon	\$56,250.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$6.50	9000 / gallon	\$58,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	lode:		
Rudy Construction Co. 👔	First Offer - \$8.00	9000 / gallon	\$72,000.00		Y

#### Product Code: Agency Notes:

Agency Notes:

## Supplier Product Code: Supplier Notes:

Supplier Notes:

PM-0308--01-33 BASE BID: 316-00 SUPERPAVE DELIVERY SURCHARGE (ONE WAY)(OVER 5 MILES) Supplier Unit Price Qty/Unit **Total Price** Attch. Docs Ellsworth Construction OKC dba A-Tech Paving First Offer - \$0.27 150000 / ton mile \$40,500.00 Υ Product Code: Supplier Product Code: **Supplier Notes:** Agency Notes: T.J. Campbell Construction Co. First Offer - \$0.35 150000 / ton mile \$52,500.00 Υ Supplier Product Code: Product Code: Supplier Notes: Agency Notes: Rudy Construction Co. 🔓 First Offer - \$0.40 150000 / ton mile \$60,000.00 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Atlas Paving Company 🔓 First Offer - \$0.40 150000 / ton mile \$60,000.00 Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: 150000 / ton mile SCHWARZ PAVING CO., INC. 🔓 First Offer - \$0.40 \$60,000.00 Υ Product Code: Supplier Product Code: **Supplier Notes:** Agency Notes: 150000 / ton mile First Offer - \$0.48 \$72,000.00 Υ Silver Star Construction Company 🔓 Product Code: Supplier Product Code:

PM-030801-34 BASE BID: 404-00 STRUCTURAL CO		11.14 B.1	0, 11, 1	Train	A I.		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$480.00	50 / cubic yard	\$24,000.00		Y	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$625.00	50 / cubic yard	\$31,250.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 🙀		First Offer - \$675.00	50 / cubic yard	\$33,750.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$700.00	50 / cubic yard	\$35,000.00		Y	
Product Code:	· · ·		Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				

PM-030801-35 BASE BID: 404-04 CONCRETE (FLOWABLE FILL)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 👔	First Offer - \$225.00	25 / cubic yard	\$5,625.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$250.00	25 / cubic yard	\$6,250.00		Y					
Product Code:		Supplier Product Co	ode:							

Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$260.00	25 / cubic yard	\$6,500.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$285.00	25 / cubic yard	\$7,125.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$380.00	25 / cubic yard	\$9,500.00	Y
Product Code:	·	Supplier Product Co	ode:	·
Agency Notes:		Supplier Notes:		
Atlas Paving Company 👔	First Offer - \$500.00	25 / cubic yard	\$12,500.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PM-030801-36 BASE BID: 411-00 REINFORCING STEEL									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.		First Offer - \$1.10	5000 / pounds	\$5,500.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Atlas Paving Company 👔		First Offer - \$2.00	5000 / pounds	\$10,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company 👔		First Offer - \$2.00	5000 / pounds	\$10,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2.15	5000 / pounds	\$10,750.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔		First Offer - \$2.50	5000 / pounds	\$12,500.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Rudy Construction Co. 👔		First Offer - \$3.00	5000 / pounds	\$15,000.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

PM-030801-37 BASE BID: 451-01 (CGMP) STORM PIPE (18 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$55.50	100 / linear foot	\$5,550.00		Y				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:							
T.J. Campbell Construction Co.	First Offer - \$62.00	100 / linear foot	\$6,200.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$70.00	100 / linear foot	\$7,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y				
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:						

PM-0308 - Residential, I and Collector Street	Cit	ty of Oklahoma City ar its Trusts	ld				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$89.00	100 / linear foot	\$8	3,900.00		Y
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

PM-030801-38 BASE BID: 451-02 (CGMP) PREFAB END SECTION (18 INCHES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$300.00	4 / each	\$1,200.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Rudy Construction Co. 👔	First Offer - \$400.00	4 / each	\$1,600.00		Y					
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:								
T.J. Campbell Construction Co.	First Offer - \$430.00	4 / each	\$1,720.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$475.00	4 / each	\$1,900.00		Y					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$575.00	4 / each	\$2,300.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$620.00	4 / each	\$2,480.00		Y					
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:							

PM-030801-39 BASE BID: 451-05 (CGMP) STORM PIPE (24 INCHES)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company 🧕	First Offer - \$64.07	100 / linear foot	\$6,407.00		Y					
Product Code: Agency Notes:	·	Supplier Product Co Supplier Notes:	de:							
Rudy Construction Co. 👔	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y					
Product Code:	Supplier Product Co	de:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company 🙀	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$88.00	100 / linear foot	\$8,800.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

PM-030801-40 BASE BID: 451-06 (CGMP) PREFAB END SECTION (24 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$350.00	4 / each	\$1,400.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$500.00	4 / each	\$2,000.00		Y				

bid #PM-0308 - Residential,
Local and Collector Street

		Supplier Product C	Code:				
		Supplier Notes:					
	First Offer - \$575.00	4 / each	\$2,300.00		Y		
		Supplier Product (	Code:				
		Supplier Notes:					
	First Offer - \$600.00	4 / each	\$2,400.00		Y		
Product Code:			Supplier Product Code:				
		Supplier Notes:					
	First Offer - \$700.00	4 / each	\$2,800.00		Y		
		Supplier Product (	Code:				
		Supplier Notes:					
Τ	First Offer - \$711.55	4 / each	\$2,846.20		Y		
		Supplier Product C	Code:				
		Supplier Notes:					
		First Offer - \$600.00       First Offer - \$700.00	Supplier Notes:   Image: Signal state in the state in	Supplier Notes:   Supplier Notes:     Image: Supplier Size of Size o	Supplier Notes:     Image: Supplier Notes:     Supplier Product Code:     Supplier Notes:     Supplier Notes:     Supplier Notes:     Supplier Notes:     Supplier Product Code:     Supplier Notes:     Supplier Product Code:     Supplier Notes:     Supplier Product Code:     Supplier Notes:     Supplier Product Code:     Supplier Product Code:     Supplier Notes:		

PM-030801-41 BASE BID: 453-12 REINFORCED CONCRETE PIPE 18 INCHES O RING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company 👔	First Offer - \$85.39	100 / linear foot	\$8,539.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
Rudy Construction Co. 👔	First Offer - \$90.00	100 / linear foot	\$9,000.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$94.00	100 / linear foot	\$9,400.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 👔	First Offer - \$115.00	100 / linear foot	\$11,500.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							

PM-0308–01-42 BASE BID: 453-13 REINFORCED CONCRETE PIPE 24 INCHES O RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Y			
Product Code:		Supplier Product Coo	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$95.55	100 / linear foot	\$9,555.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$107.00	100 / linear foot	\$10,700.00		Y			
Product Code:		Supplier Product Coo	de:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y			
Product Code:		Supplier Product Coo	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y			
Product Code:		Supplier Product Coo	de:					
Agency Notes:		Supplier Notes:						

Product Code:		Supplier Product Co	łe،	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$120.00	100 / linear foot	\$12,000.00	Y
#PM-0308 - Residential, al and Collector Street	City of Oklahoma City an its Trusts	d		

riouuce couc.
Agency Notes:

Supplier Product Code: Supplier Notes:

PM-030801-43 BASE BID: 453-19 REINFORCED CONCRETE PIPE END SECTION (18 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$500.00	4 / each	\$2,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$1,000.00	4 / each	\$4,000.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,080.00	4 / each	\$4,320.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
T.J. Campbell Construction Co.	First Offer - \$1,100.00	4 / each	\$4,400.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,100.00	4 / each	\$4,400.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
Silver Star Construction Company 👔	First Offer - \$1,372.28	4 / each	\$5,489.12		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

PM-0308–01-44 BASE BID: 453-25 REINFORCED CONCRETE PIPE END SECTION (24 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Rudy Construction Co. 👔	First Offer - \$1,200.00	4 / each	\$4,800.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,200.00	4 / each	\$4,800.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,250.00	4 / each	\$5,000.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$1,626.40	4 / each	\$6,505.60		Y		
Product Code: Agency Notes:	· ·	Supplier Product ( Supplier Notes:	Code:				

PM-030801-45 BASE BID: 453-49 REINFORCED CONCRETE PIPE ARCH (22 INCHES X 13 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company 🙀	First Offer - \$61.65	100 / linear foot	\$6,165.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y		

bid #PM-0308 - Residential,
Local and Collector Street

	115 110515			
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$110.00	100 / linear foot	\$11,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$110.00	100 / linear foot	\$11,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company 🙀	First Offer - \$125.00	100 / linear foot	\$12,500.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$130.00	100 / linear foot	\$13,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PM-030801-46 BASE BID: 453-50 REINFORCED CONCRETE PIPE ARCH (28 INCHES X 18 INCHES)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	Firs	t Offer - \$86.40	100 / linear foot	\$8,640.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
T.J. Campbell Construction Co.	First	Offer - \$111.00	100 / linear foot	\$11,100.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Atlas Paving Company 👔	First	Offer - \$135.00	100 / linear foot	\$13,500.00		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First	Offer - \$139.00	100 / linear foot	\$13,900.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First	Offer - \$140.00	100 / linear foot	\$14,000.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Rudy Construction Co. 👔	First	Offer - \$150.00	100 / linear foot	\$15,000.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							

PM-030801-47 BASE BID: 453-54 REINFORCED CONCRETE PIPE ARCH END SECTION (28 INCHES X 18 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀	First Offer - \$750.00	4 / each	\$3,000.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$1,200.00	4 / each	\$4,800.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,200.00	4 / each	\$4,800.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,400.00	4 / each	\$5,600.00		Y			
Product Code:		Supplier Product (	Code:					

bid #PM-0308 - Residential,
Local and Collector Street

Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$1,626.40	4 / each	\$6,505.60	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		

PM-030801-48 BASE BID: 453-58 REINFORCED CONCRETE PIPE ARCH END SECTION (22 INCHES X 13 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$650.00	4 / each	\$2,600.00		Y				
Product Code:	Supplier Product	Code:							
Agency Notes:	Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$900.00	4 / each	\$3,600.00		Y				
Product Code:		Supplier Product	Code:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,000.00	4 / each	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$1,100.00	4 / each	\$4,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$1,500.00	4 / each	\$6,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Silver Star Construction Company 🙀	First Offer - \$1,778.88	4 / each	\$7,115.52		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PM-030801-49 BASE BID: 454-34 DESIGN 2-0 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$1,000.00	10 / each	\$10,000.00		Y			
		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3,000.00	10 / each	\$30,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3,100.00	10 / each	\$31,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,200.00	10 / each	\$32,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$3,700.00	10 / each	\$37,000.00		Y			
		Supplier Product ( Supplier Notes:	Code:					
Silver Star Construction Company 👔	First Offer - \$4,797.89	10 / each	\$47,978.90		Y			
		Supplier Product ( Supplier Notes:	Code:					

PM-030801-50 BASE BID: 454-37 DESIGN 2-1 INLET COMPLETE IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$1,500.00	5 / each	\$7,500.00		Y		
Product Code:		Supplier Product	Code:				
		Supplier Notes:					

d #PM-0308 - Residential, ocal and Collector Street	С	ity of Oklahoma City and its Trusts				
T.J. Campbell Construction Co.		First Offer - \$4,000.00	5 / each	\$20,000.00		Y
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$4,000.00	5 / each	\$20,000.00		Y
		Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4,000.00	5 / each	\$20,000.00		Y
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:		
Rudy Construction Co. 👔		First Offer - \$4,500.00	5 / each	\$22,500.00		Y
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$5,397.62	5 / each	\$26,988.10		Y
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:		

PM-030801-51 BASE BID: 454-38 DESIGN 2-2 INLET COMPLETE IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$2,000.00	5 / each	\$10,000.00		Y					
		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,700.00	5 / each	\$23,500.00		Y					
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:								
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$5,000.00	5 / each	\$25,000.00		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
Rudy Construction Co. 👔	First Offer - \$5,200.00	5 / each	\$26,000.00		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
T.J. Campbell Construction Co.	First Offer - \$5,700.00	5 / each	\$28,500.00		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
Silver Star Construction Company 👔	First Offer - \$6,048.18	5 / each	\$30,240.90		Y					
		Supplier Product ( Supplier Notes:	Code:							

PM-030801-52 BASE BID: 454-45 DESIGN 2-3 INLET COMPLETE IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$2,500.00	5 / each	\$12,500.00		Y					
Product Code:	Supplier Product (	Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,600.00	5 / each	\$28,000.00		Y					
Product Code:	Supplier Product (	Code:								
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$6,000.00	5 / each	\$30,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$6,200.00	5 / each	\$31,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$6,856.30	5 / each	\$34,281.50		Y					

Agency Notes:			Supplier Notes:		
Product Code:			Supplier Product	Code:	
T.J. Campbell Construction Co.		First Offer - \$6,900.00	5 / each	\$34,500.00	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
PM-0308 - Residential, Il and Collector Street	C	City of Oklahoma City and its Trusts			

PM-030801-53 BASE BID: 454-50 RECESS DESIGN 2-0 INL	ET COMPLETE IN PLACE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co. 👔	First Offer - \$3,700.00	5 / each	\$18,500.00		Y	
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3,700.00	5 / each	\$18,500.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4,000.00	5 / each	\$20,000.00		Y	
Product Code: Agency Notes:	·	Supplier Product ( Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$4,917.98	5 / each	\$24,589.90		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,975.00	5 / each	\$24,875.00		Y	
		Supplier Product ( Supplier Notes:	Code:			
Atlas Paving Company 👔	First Offer - \$5,000.00	5 / each	\$25,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:		-	

PM-030801-54 BASE BID: 454-51 RECESS DESIGN 2-1 INLET COMPLETE IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co. 🙀	First Offer - \$4,500.00	5 / each	\$22,500.00		Y					
		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$4,700.00	5 / each	\$23,500.00		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$5,000.00	5 / each	\$25,000.00		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
Silver Star Construction Company 👔	First Offer - \$5,435.66	5 / each	\$27,178.30		Y					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5,975.00	5 / each	\$29,875.00		Y					
		Supplier Product C Supplier Notes:	Code:							
Atlas Paving Company 👔	First Offer - \$6,000.00	5 / each	\$30,000.00		Y					
		Supplier Product C Supplier Notes:	Code:							

PM-030801-55 BASE BID: 454-52 RECESS DESIGN 2-2 INLET COMPLETE IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co. 👔	First Offer - \$5,200.00	5 / each	\$26,000.00		Y		
Product Code:		Supplier Product	Code:				

Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$6,200.00	5 / each	\$31,000.00	Y		
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$6,522.80	5 / each	\$32,614.00	Y		
Product Code:	Supplier Product	Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$6,800.00	5 / each	\$34,000.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,800.00	5 / each	\$39,000.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$8,250.00	5 / each	\$41,250.00	Y		
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				

PM-030801-56 BASE BID: 454-53 RECESS DESIGN 2-3 INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 👔	First Offer - \$6,200.00	5 / each	\$31,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$7,064.69	5 / each	\$35,323.45		Y				
Product Code: Agency Notes:									
SCHWARZ PAVING CO., INC. 👔	First Offer - \$7,400.00	5 / each	\$37,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$8,000.00	5 / each	\$40,000.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$9,500.00	5 / each	\$47,500.00		Y				
		Supplier Product ( Supplier Notes:	Code:						
Atlas Paving Company 👔	First Offer - \$9,600.00	5 / each	\$48,000.00		Y				
Product Code:		Supplier Product ( Supplier Notes:	Code:						

PM-030801-57 BASE BID: 459-01 ADJUST MANHOLE	то	GRADE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co. 🙀		First Offer - \$800.00	20 / each	\$16,000.00		Y	
		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$836.92	20 / each	\$16,738.40		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$950.00	20 / each	\$19,000.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company 🙀		First Offer - \$1,000.00	20 / each	\$20,000.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	1		

bid #PM-0308 - Residential,	
Local and Collector Street	

Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product (	Code:	
T.J. Campbell Construction Co.	First Offer - \$1,200.00	20 / each	\$24,000.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product	Code:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,000.00	20 / each	\$20,000.00	Y
al and Collector Street	its Trusts			

PM-030801-58 BASE BID: 460-00 PROVIDE AND SET NEW MANHOLE RING AND COVER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$581.44	20 / each	\$11,628.80		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:							
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,150.00	20 / each	\$23,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,400.00	20 / each	\$28,000.00		Y				
		Supplier Product ( Supplier Notes:	Code:						
T.J. Campbell Construction Co.	First Offer - \$1,500.00	20 / each	\$30,000.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

PM-030801-59 BASE BID: 511-27 WATER METER ADJUST TO GRADE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$100.00	5 / each	\$500.00		Y				
		Supplier Product C Supplier Notes:	Code:						
Silver Star Construction Company 👔	First Offer - \$377.96	5 / each	\$1,889.80		Y				
		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 🙀	First Offer - \$500.00	5 / each	\$2,500.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$500.00	5 / each	\$2,500.00		Y				
		Supplier Product C Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$540.00	5 / each	\$2,700.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						

PM-030801-60 BASE BID: 511-28 WATER METER BOX ADJUST TO GRADE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$100.00	5 / each	\$500.00		Y

		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$475.72	5 / each	\$2,378.60		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co. 🙀		First Offer - \$500.00	5 / each	\$2,500.00		Υ
			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	Τ	First Offer - \$500.00	5 / each	\$2,500.00		Y
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$540.00	5 / each	\$2,700.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

PM-030801-61 BASE BID: 512-01 METER RELOCATION (1 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$100.00	5 / each	\$500.00		Y				
Product Code:	-	Supplier Product (	Code:	,					
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,500.00	5 / each	\$7,500.00		Y				
Product Code:	Supplier Product (	Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,500.00	5 / each	\$7,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2,000.00	5 / each	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 🙀	First Offer - \$4,000.00	5 / each	\$20,000.00		Y				
Product Code:	·	Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$5,636.40	5 / each	\$28,182.00		Y				
Product Code:		Supplier Product (	Code:						
Agency Notes:		Supplier Notes:							

PM-030801-62 BASE BID: 516-02 RELOCATE FIRE HYDRANT						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$3,000.00	1 / each	\$3,000.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$7,000.00	1 / each	\$7,000.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,000.00	1 / each	\$8,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$9,171.96	1 / each	\$9,171.96		Y	
Product Code:	· ·	Supplier Product	Code:			

Agency Notes: Su		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$13,000.00	1 / each	\$13,000.00		Y
Product Code:		Supplier Product Code:			
		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$15,000.00	1 / each	\$15,000.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

PM-030801-63 BASE BID: 520-03 VALVE BOX ADJUST TO GRADE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co. 🙀	First Offer - \$500.00	20 / each	\$10,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$645.00	20 / each	\$12,900.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$687.16	20 / each	\$13,743.20		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	20 / each	\$16,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$895.00	20 / each	\$17,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Atlas Paving Company 👔	First Offer - \$1,000.00	20 / each	\$20,000.00		Y				
		Supplier Product ( Supplier Notes:	Code:						

PM-030801-64 BASE BID: 520-15 WATER VALVE BOX					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$250.00	20 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$400.00	20 / each	\$8,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$719.58	20 / each	\$14,391.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030801-65 BASE BID: 520-16 WATER METER BOX (TRAFFIC TYPE)							
Supplier     Unit Price     Qty/Unit     Total Price     Attch.     Docs							

	113 114313			
Atlas Paving Company 👔	First Offer - \$100.00	5 / each	\$500.00	Y
Product Code:	·	Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$300.00	5 / each	\$1,500.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 🙀	First Offer - \$465.91	5 / each	\$2,329.55	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$500.00	5 / each	\$2,500.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	5 / each	\$2,500.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:	 	Supplier Notes:		

PM-030801-66 BASE BID: 713-00 3 INCH GALVANIZED STEEL CONDUIT (INSTALLED WITH ONE HOLE MALLIBLE STRAPS)											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Atlas Paving Company 👔	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y						
Product Code: Agency Notes:	·	Supplier Product Coo Supplier Notes:	le:								
Rudy Construction Co. 👔	First Offer - \$51.50	100 / linear foot	\$5,150.00		Y						
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:								
Silver Star Construction Company 👔	First Offer - \$51.84	100 / linear foot	\$5,184.00		Y						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 👔	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y						
Product Code: Agency Notes:	- -	Supplier Product Coc Supplier Notes:	le:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y						
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	le:									
T.J. Campbell Construction Co.	First Offer - \$59.00	100 / linear foot	\$5,900.00		Y						
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:								

PM-030801-67 BASE BID: 713-08 2 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀		First Offer - \$22.00	100 / linear foot	\$2,200.00		Y				
Product Code:			Supplier Product Coc	le:						
Agency Notes:			Supplier Notes:							
Silver Star Construction Company 🙀		First Offer - \$22.55	100 / linear foot	\$2,255.00		Y				
Product Code:			Supplier Product Coc	le:						
Agency Notes:			Supplier Notes:							
Rudy Construction Co. 🙀		First Offer - \$22.75	100 / linear foot	\$2,275.00		Y				
Product Code:			Supplier Product Coc	le:						
Agency Notes:			Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔		First Offer - \$23.00	100 / linear foot	\$2,300.00		Y				

#### City of Oklahoma City and its Trusts

		lis musis				
		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$23.10	100 / linear foot	\$2,310.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$26.00	100 / linear foot	\$2,600.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PM-030801-68 BASE BID: 713-09 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Silver Star Construction Company 👔	First Offer - \$30.74	100 / linear foot	\$3,074.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Rudy Construction Co. 👔	First Offer - \$31.00	100 / linear foot	\$3,100.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$31.50	100 / linear foot	\$3,150.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$31.50	100 / linear foot	\$3,150.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
T.J. Campbell Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							

PM-030801-69 BASE BID: 713-10 3 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Silver Star Construction Company 👔	First Offer - \$20.50	100 / linear foot	\$2,050.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Rudy Construction Co. 👔	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
T.J. Campbell Construction Co.	First Offer - \$23.00	100 / linear foot	\$2,300.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	de:						

PM-0308--01-70 BASE BID: 713-11 3 INCH TRAFFIC SIGNAL CONDUIT (BORED)

	113 110313				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$51.24	100 / linear foot	\$5,124.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$51.50	100 / linear foot	\$5,150.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$52.50	100 / linear foot	\$5,250.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code:		Supplier Product Coo	de:		
Agency Notes:		Supplier Notes:			

PM-030801-71 BASE BID: 714-01 TWO CONDUCTOR SHIELDED LOOP DETECTOR LEAD-IN CABLE										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔		First Offer - \$5.00	100 / linear foot	\$500.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							
Silver Star Construction Company 👔		First Offer - \$5.12	100 / linear foot	\$512.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							
Rudy Construction Co. 👔		First Offer - \$5.15	100 / linear foot	\$515.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	100 / linear foot	\$525.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔		First Offer - \$5.50	100 / linear foot	\$550.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$6.00	100 / linear foot	\$600.00		Y				
Product Code:			Supplier Product Cod	e:						
Agency Notes:			Supplier Notes:							

PM-030801-72 BASE BID: 714-02 LOOP DETECTOR WIRE (AWG 14)(TYPE XHHW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$6.00	1200 / linear foot	\$7,200.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Rudy Construction Co. 🙀	First Offer - \$6.15	1200 / linear foot	\$7,380.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Silver Star Construction Company 🙀	First Offer - \$6.21	1200 / linear foot	\$7,452.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:	1	Supplier Notes:							

bid #PM-0308 - Residential, Local and Collector Street	(	City of Oklahoma City a its Trusts	and		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$6.30	1200 / linear foot	\$7,560.00	Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:	
SCHWARZ PAVING CO., INC. 👔		First Offer - \$6.50	1200 / linear foot	\$7,800.00	Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:	
T.J. Campbell Construction Co.		First Offer - \$7.00	1200 / linear foot	\$8,400.00	Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:	

PM-030801-73 BASE BID: 714-04 5C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 👔	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y					
Product Code:	Supplier Product Code	2:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$6.15	2000 / linear foot	\$12,300.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$6.15	2000 / linear foot	\$12,300.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6.30	2000 / linear foot	\$12,600.00		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$6.50	2000 / linear foot	\$13,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

PM-030801-74 BASE BID: 714-05 7C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$7.00	500 / linear foot	\$3,500.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company 👔	First Offer - \$7.17	500 / linear foot	\$3,585.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Rudy Construction Co. 👔	First Offer - \$7.20	500 / linear foot	\$3,600.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7.35	500 / linear foot	\$3,675.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$7.50	500 / linear foot	\$3,750.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
T.J. Campbell Construction Co.	First Offer - \$8.00	500 / linear foot	\$4,000.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							

Г

PM-0308-01-75 BASE BID: 714-06 10C CONDUCTOR		Unit Price	-	Total Price	Attch.	Docs	
Supplier					ALLCH.		
Atlas Paving Company 🧕		First Offer - \$8.00	100 / linear foot	\$800.00		Y	
Product Code:			Supplier Product Coc	le:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$8.20	100 / linear foot	\$820.00		Y	
Product Code:			Supplier Product Coc	le:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$8.25	100 / linear foot	\$825.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$8.40	100 / linear foot	\$840.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$8.50	100 / linear foot	\$850.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$9.00	100 / linear foot	\$900.00		Y	
Product Code:			Supplier Product Coc	le:			
Agency Notes:			Supplier Notes:				

PM-030801-76 BASE BID: 714-07 15C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Unit Price	Qty/Unit	Total Price	Attch.	Docs						
First Offer - \$9.00	100 / linear foot	\$900.00		Y						
			Supplier Product Code: Supplier Notes:							
First Offer - \$9.22	100 / linear foot	\$922.00		Y						
Product Code:										
Agency Notes:			Supplier Notes:							
First Offer - \$9.25	100 / linear foot	\$925.00		Y						
	Supplier Product Code:									
	Supplier Notes:									
First Offer - \$9.45	100 / linear foot	\$945.00		Y						
	Supplier Product Code:									
	Supplier Notes:									
First Offer - \$9.50	100 / linear foot	\$950.00		Y						
Product Code: Agency Notes:										
First Offer - \$10.00	100 / linear foot	\$1,000.00		Y						
		le:								
	Unit Price First Offer - \$9.00 First Offer - \$9.22 First Offer - \$9.25 First Offer - \$9.45 First Offer - \$9.45	Unit PriceQty/UnitFirst Offer - \$9.00100 / linear footSupplier Product Coc Supplier Notes:Supplier Notes:First Offer - \$9.22100 / linear footFirst Offer - \$9.25100 / linear footFirst Offer - \$9.45100 / linear footFirst Offer - \$9.50100 / linear footSupplier Product Coc Supplier Notes:Supplier Notes:First Offer - \$9.50100 / linear footFirst Offer - \$10.00100 / linear foot	Unit PriceQty/UnitTotal PriceFirst Offer - \$9.00100 / linear foot\$900.00Supplier Product Code: Supplier Notes:\$100 / linear foot\$922.00First Offer - \$9.22100 / linear foot\$922.00Supplier Product Code: Supplier Notes:\$100 / linear foot\$925.00First Offer - \$9.25100 / linear foot\$925.00First Offer - \$9.25100 / linear foot\$925.00First Offer - \$9.45100 / linear foot\$945.00Supplier Product Code: Supplier Notes:\$upplier Notes:First Offer - \$9.50100 / linear foot\$945.00First Offer - \$9.50100 / linear foot\$945.00First Offer - \$9.50100 / linear foot\$945.00First Offer - \$9.50100 / linear foot\$950.00First Offer - \$9.50100 / linear foot\$950.00First Offer - \$10.00100 / linear foot\$1,000.00First Offer - \$10.00100 / linear foot\$1,000.00	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$9.00100 / linear foot\$900.00\$900.00Supplier Product Code: Supplier Notes:\$922.00\$922.00First Offer - \$9.22100 / linear foot\$922.00\$922.00Supplier Product Code: Supplier Notes:\$925.00\$925.00\$925.00First Offer - \$9.25100 / linear foot\$925.00\$925.00\$925.00First Offer - \$9.45100 / linear foot\$945.00\$945.00\$945.00First Offer - \$9.50100 / linear foot\$945.00\$945.00\$945.00First Offer - \$9.50100 / linear foot\$950.00\$950.00\$950.00First Offer - \$9.50100 / linear foot\$950.00\$950.00\$950.00First Offer - \$9.50100 / linear foot\$950.00\$950.00\$950.00First Offer - \$10.00100 / linear foot\$1,000.00\$950.00First Offer - \$10.00100 / linear foot\$1,000.00\$950.00						

PM-030801-77 BASE BID: 714-08 18C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀	First Offer - \$10.00	100 / linear foot	\$1,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$10.25	100 / linear foot	\$1,025.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 🙀	First Offer - \$10.30	100 / linear foot	\$1,030.00		Y			
Product Code:		Supplier Product Coo	de:					

Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$10.50	100 / linear foot	\$1,050.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$11.00	100 / linear foot	\$1,100.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$12.00	100 / linear foot	\$1,200.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				

PM-030801-78 BASE BID: 714-09 21C CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$11.00	100 / linear foot	\$1,100.00		Y				
Product Code:	Supplier Product Cod	le:							
Agency Notes:	Supplier Notes:								
Silver Star Construction Company 🙀	First Offer - \$11.27	100 / linear foot	\$1,127.00		Y				
Product Code:	Supplier Product Coc	le:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$11.30	100 / linear foot	\$1,130.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.55	100 / linear foot	\$1,155.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$12.00	100 / linear foot	\$1,200.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$13.00	100 / linear foot	\$1,300.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PM-030801-79 BASE BID: 714-10 (1 CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$3.07	500 / linear foot	\$1,535.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$3.10	500 / linear foot	\$1,550.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.15	500 / linear foot	\$1,575.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.25	500 / linear foot	\$1,625.00		Y				
Product Code: Agency Notes:	Supplier Product Coc Supplier Notes:	le:							
T.J. Campbell Construction Co.	First Offer - \$3.50	500 / linear foot	\$1,750.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						

PM-030801-80 BASE BID: 714-11 (1 CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 👔		First Offer - \$3.00	500 / linear foot	\$1,500.00		Y		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$3.07	500 / linear foot	\$1,535.00		Y		
Product Code:			Supplier Product Cod	e:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 🙀		First Offer - \$3.10	500 / linear foot	\$1,550.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$3.15	500 / linear foot	\$1,575.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$3.25	500 / linear foot	\$1,625.00		Y		
Product Code:			Supplier Product Code:					
			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$3.50	500 / linear foot	\$1,750.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

PM-030801-81 BASE BID: 717-03 PEDESTRIAN SIGNAL HEAD (1 WAY 2 SEC.ADJ SIG.HD. (S-20))									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$860.00	16 / each	\$13,760.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Rudy Construction Co. 👔	First Offer - \$885.00	16 / each	\$14,160.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$891.71	16 / each	\$14,267.36		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$900.00	16 / each	\$14,400.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$903.00	16 / each	\$14,448.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$1,000.00	16 / each	\$16,000.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

PM-030801-82 BASE BID: 722-00 PEDESTRIAN PUSH BUTTON AND SIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$1,200.00	16 / each	\$19,200.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$1,244.24	16 / each	\$19,907.84		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
	First Offer - \$1,250.00	16 / each	\$20,000.00		Y		
Rudy Construction Co. 🙀							
--	--------------------------	---	-------------	--	---		
		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,250.00	16 / each	\$20,000.00		Y		
		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,260.00	16 / each	\$20,160.00		Y		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,400.00	16 / each	\$22,400.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

PM-030801-83 BASE BID: 722-03 PEDESTRIAN PUSH BUTTON- CENTRAL CONTROL UNIT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀	First Offer - \$4,500.00	2 / each	\$9,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 🙀	First Offer - \$4,650.00	2 / each	\$9,300.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$4,665.92	2 / each	\$9,331.84		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$4,700.00	2 / each	\$9,400.00		Y			
Product Code: Agency Notes:	• •	Supplier Product ( Supplier Notes:	Code:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4,725.00	2 / each	\$9,450.00		Y			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					
T.J. Campbell Construction Co.	First Offer - \$5,300.00	2 / each	\$10,600.00		Y			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					

PM-030801-84 BASE BID: 724-67 PEDESTAL POLE W/5 FOOT MOUNTING HEIGHT							
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$1,500.0	) 8 / each	\$12,000.00		Y		
		Supplier Product Supplier Notes:	Code:				
Rudy Construction Co. 👔	First Offer - \$1,550.0	) 8 / each	\$12,400.00		Y		
		Supplier Product Supplier Notes:	Code:				
Silver Star Construction Company 👔	First Offer - \$1,555.3	) 8 / each	\$12,442.40		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,575.0	) 8 / each	\$12,600.00		Y		
Product Code:		Supplier Product	Code:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,600.0	) 8 / each	\$12,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,800.0	) 8 / each	\$14,400.00		Y		

# Product Code: Agency Notes:

Supplier Product Code: Supplier Notes:

PM-030801-85 BASE BID: 724-68 PEDESTAL POLE W/10 FOOT MOUNTING HEIGHT								
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 🙀	First Offer - \$1,700.00	8 / each	\$13,600.00		Y			
Product Code:	· · ·	Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$1,750.00	8 / each	\$14,000.00		Y			
Product Code:		Supplier Product	Code:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$1,762.68	8 / each	\$14,101.44		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,785.00	8 / each	\$14,280.00		Y			
Product Code:		Supplier Product	Code:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$1,800.00	8 / each	\$14,400.00		Y			
Product Code:		Supplier Product	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,000.00	8 / each	\$16,000.00		Y			
Product Code:		Supplier Product	Code:					
Agency Notes:		Supplier Notes:						

PM-030801-86 BASE BID: 726-00 PULL BOX TYPE I							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$1,250.00	2 / each	\$2,500.00		Y		
		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$1,281.00	2 / each	\$2,562.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$1,300.00	2 / each	\$2,600.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,300.00	2 / each	\$2,600.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,312.50	2 / each	\$2,625.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

PM-030801-87 BASE BID: 726-01 PULL BOX TYPE II						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$1,537.20	2 / each	\$3,074.40		Y	
Product Code:		Supplier Product (	Code:			

Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$1,550.00	2 / each	\$3,100.00	Y
Product Code:	-	Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,575.00	2 / each	\$3,150.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,600.00	2 / each	\$3,200.00	Y
Product Code:	·	Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$1,800.00	2 / each	\$3,600.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PM-030801-88 BASE BID: 726-04 PULL BOX ADJUSTMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀	First Offer - \$1,250.00	2 / each	\$2,500.00		Y		
		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$1,281.00	2 / each	\$2,562.00		Y		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$1,300.00	2 / each	\$2,600.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$1,300.00	2 / each	\$2,600.00		Y		
Product Code: Agency Notes:	• •	Supplier Product ( Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,312.50	2 / each	\$2,625.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

PM-030801-89 BASE BID: 729-10 REMOVE AND RELOCATE SIGN						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$256.20	4 / each	\$1,024.80		Y	
Product Code:		Supplier Product (	Code:	`		
Agency Notes:	1	Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$260.00	4 / each	\$1,040.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$262.50	4 / each	\$1,050.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$300.00	4 / each	\$1,200.00		Y	
Product Code:		Supplier Product (	Code:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	4 / each	\$2,000.00		Y	
Product Code:		Supplier Product (	Code:			
Agency Notes:		Supplier Notes:				

bid #PM-0308 - Residential,
Local and Collector Street

Atlas Paving Company 👔

# City of Oklahoma City and its Trusts | First Offer - \$1,500.00 | 4 / each

\$6,000.00

Y

Product	Code:
Agency I	Notes:

# Supplier Product Code:

Supplier Notes:

PM-030801-90 BASE BID: 735-00 TRAFFIC STRIPE (4 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$0.75	40000 / linear foot	\$30,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			1			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$0.79	40000 / linear foot	\$31,600.00		Y			
		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$0.80	40000 / linear foot	\$32,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$0.80	40000 / linear foot	\$32,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						
Silver Star Construction Company 🧕	First Offer - \$0.91	40000 / linear foot	\$36,400.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1.00	40000 / linear foot	\$40,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						

PM-030801-91 BASE BID: 735-01 TRAFFIC STRIPE (A	RROW	/S) (SINGLE)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company 🙀		First Offer - \$65.00	20 / each	\$1,300.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$67.30	20 / each	\$1,346.00		Y		
Product Code:			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$68.25	20 / each	\$1,365.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$70.00	20 / each	\$1,400.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$70.00	20 / each	\$1,400.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$80.00	20 / each	\$1,600.00		Y		
Product Code:			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:		Supplier Notes:			

PM-030801-92 BASE BID: 735-06 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (SHARROW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$450.00	10 / each	\$4,500.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:	Supplier Notes:							
	First Offer - \$465.91	10 / each	\$4,659.10		Y			

Silver Star Construction Company 👔						
Product Code: S		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$472.50	10 / each	\$4,725.00		Y
Product Code: S		Supplier Product C	Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$475.00	10 / each	\$4,750.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$475.00	10 / each	\$4,750.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$550.00	10 / each	\$5,500.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

PM-030801-93 BASE BID: 735-07 TRAFFIC STRIPE (8 INCH WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$2.00	2000 / linear foot	\$4,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:							
Silver Star Construction Company 👔	First Offer - \$2.05	2000 / linear foot	\$4,100.00		Y					
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:								
Rudy Construction Co. 🙀	First Offer - \$2.10	2000 / linear foot	\$4,200.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.10	2000 / linear foot	\$4,200.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2.15	2000 / linear foot	\$4,300.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::							
T.J. Campbell Construction Co.	First Offer - \$2.50	2000 / linear foot	\$5,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:							

PM-030801-94 BASE BID: 735-08 TRAFFIC STRIPE (12 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$3.00	2000 / linear foot	\$6,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$3.07	2000 / linear foot	\$6,140.00		Y			
		Supplier Product Code: Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$3.15	2000 / linear foot	\$6,300.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.15	2000 / linear foot	\$6,300.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.20	2000 / linear foot	\$6,400.00		Y			

PM-0308 - Residential, I and Collector Street	City of Oklahoma City a its Trusts	and		
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$4.00	2000 / linear foot	\$8,000.00	Y
Product Code:		Supplier Product Code	2	
Agency Notes:		Supplier Notes:		

M-030801-95 BASE BID: 735-09 TRAFFIC STRIPE (24 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Silver Star Construction Company 👔	First Offer - \$10.25	1000 / linear foot	\$10,250.00		Y				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
Rudy Construction Co. 👔	First Offer - \$10.50	1000 / linear foot	\$10,500.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10.50	1000 / linear foot	\$10,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	e:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

PM-030801-96 BASE BID: 735-11 TRAFFIC STRIPE (PLASTIC) (SYMBOLS) (RR TRACKS)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$750.00	6 / each	\$4,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$750.00	6 / each	\$4,500.00		Y				
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:							
Silver Star Construction Company 🙀	First Offer - \$768.60	6 / each	\$4,611.60		Y				
		Supplier Product C Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$787.50	6 / each	\$4,725.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						
Rudy Construction Co. 🙀	First Offer - \$800.00	6 / each	\$4,800.00		Y				
		Supplier Product C Supplier Notes:	Code:						
T.J. Campbell Construction Co.	First Offer - \$900.00	6 / each	\$5,400.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						

PM-030801-97 BASE BID: 738-08 REMOVE TRAFFIC MARKING (4 INCH WIDE STRIPE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 👔	First Offer - \$1.00	1000 / linear foot	\$1,000.00		Y				
Product Code:		Supplier Product Code	:						

		Supplier Notes:					
	First Offer - \$1.00	1000 / linear foot	\$1,000.00		Y		
			Supplier Product Code: Supplier Notes:				
	First Offer - \$1.01	1000 / linear foot	\$1,010.00		Y		
		Supplier Product Code Supplier Notes:	:				
	First Offer - \$1.05	1000 / linear foot	\$1,050.00		Y		
		Supplier Product Code: Supplier Notes:					
	First Offer - \$1.05	1000 / linear foot	\$1,050.00		Y		
		Supplier Product Code: Supplier Notes:					
	First Offer - \$1.20	1000 / linear foot	\$1,200.00		Y		
		Supplier Product Code Supplier Notes:	:				
		First Offer - \$1.01 First Offer - \$1.05 First Offer - \$1.05	First Offer - \$1.00       1000 / linear foot         Supplier Product Code       Supplier Notes:         First Offer - \$1.01       1000 / linear foot         Supplier Product Code       Supplier Product Code         Supplier Notes:       5         First Offer - \$1.05       1000 / linear foot         Supplier Product Code       Supplier Notes:         First Offer - \$1.05       1000 / linear foot         Supplier Notes:       5         First Offer - \$1.05       1000 / linear foot         Supplier Product Code       Supplier Notes:         First Offer - \$1.05       1000 / linear foot         Supplier Notes:       1000 / linear foot         Supplier Notes:       Supplier Notes:         First Offer - \$1.20       1000 / linear foot	First Offer - \$1.00       1000 / linear foot       \$1,000.00         Supplier Product Code: Supplier Notes:       \$1,010.00         First Offer - \$1.01       1000 / linear foot       \$1,010.00         Supplier Product Code: Supplier Notes:       \$1,010.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         Supplier Product Code: Supplier Notes:       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         Supplier Product Code: Supplier Notes:       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         Supplier Product Code: Supplier Notes:       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         Supplier Product Code: Supplier Notes:       \$1,050.00       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         First Offer - \$1.20       1000 / linear foot       \$1,200.00         Supplier Product Code:       \$1,200.00       \$1,200.00	First Offer - \$1.00       1000 / linear foot       \$1,000.00         Supplier Product Code: Supplier Notes:       Supplier Notes:         First Offer - \$1.01       1000 / linear foot       \$1,010.00         Supplier Product Code: Supplier Notes:       Supplier Product Code: Supplier Notes:       \$1,050.00         First Offer - \$1.05       1000 / linear foot       \$1,050.00         Supplier Product Code: 		

PM-030801-98 BASE BID: 745-01 RADAR DETECTION SYSTEM (ADVANCE SENSORS)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$8,320.00	8 / each	\$66,560.00		Y				
Product Code: Agency Notes:	·	Supplier Product ( Supplier Notes:	Code:						
Silver Star Construction Company 👔	First Offer - \$8,526.33	8 / each	\$68,210.64		Y				
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:							
Rudy Construction Co. 👔	First Offer - \$8,550.00	8 / each	\$68,400.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8,700.00	8 / each	\$69,600.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$8,736.00	8 / each	\$69,888.00		Y				
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:							
T.J. Campbell Construction Co.	First Offer - \$9,900.00	8 / each	\$79,200.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

PM-030801-99 BASE BID: 745-02 RADAR DETECTION SYSTEM (PRESENCE SENSORS)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$7,870.00	8 / each	\$62,960.00		Y					
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:								
Silver Star Construction Company 🙀	First Offer - \$8,065.17	8 / each	\$64,521.36		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Rudy Construction Co. 🙀	First Offer - \$8,100.00	8 / each	\$64,800.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$8,250.00	8 / each	\$66,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PM-0308 - Residential, I and Collector Street	C	City of Oklahoma City and its Trusts			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$8,263.50	8 / each	\$66,108.00	Y
Product Code:			Supplier Product (	Code:	
Agency Notes:			Supplier Notes:		
T.J. Campbell Construction Co.	Τ	First Offer - \$9,400.00	8 / each	\$75,200.00	Y
			8 / each Supplier Product (	,	Y

PM-030801-100 BASE BID: 745-04 RADAR CABINET INTER	RFACE (MODEL 656 6 SEN	ISORS)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 🙀	First Offer - \$7,550.00	4 / each	\$30,200.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$7,737.24	4 / each	\$30,948.96		Y	
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:				
Rudy Construction Co. 🙀	First Offer - \$7,750.00	4 / each	\$31,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$7,927.50	4 / each	\$31,710.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$8,000.00	4 / each	\$32,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$9,000.00	4 / each	\$36,000.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			

PM-030801-101 BASE BID: 745-05 RADAR DETECTOR CA	BLE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$5.12	4000 / linear foot	\$20,480.00		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:			
Rudy Construction Co. 🙀	First Offer - \$5.15	4000 / linear foot	\$20,600.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.25	4000 / linear foot	\$21,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
T.J. Campbell Construction Co.	First Offer - \$6.00	4000 / linear foot	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PM-030801-102 BASE BID: 745-06 SWITCH FOR EXISTING TRAFFIC CONTROL CABINET					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$1,800.00	2 / each	\$3,600.00		Y

	113 114313			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:	
Silver Star Construction Company 👔	First Offer - \$1,844.64	2 / each	\$3,689.28	Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:	i
Rudy Construction Co. 🙀	First Offer - \$1,850.00	2 / each	\$3,700.00	Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,890.00	2 / each	\$3,780.00	Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:	
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,900.00	2 / each	\$3,800.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,150.00	2 / each	\$4,300.00	Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:	

PM-030801-103 BASE BID: 801-05 SURVEY CREW (TWO N	/IAN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$135.00	20 / hour	\$2,700.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$150.00	20 / hour	\$3,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$152.25	20 / hour	\$3,045.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$175.00	20 / hour	\$3,500.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$177.53	20 / hour	\$3,550.60		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$250.00	20 / hour	\$5,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			

BBING				
Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$5,000.00	2 / acre	\$10,000.00		Y
	Supplier Product C	Code:		
	Supplier Notes:			
First Offer - \$6,000.00	2 / acre	\$12,000.00		Y
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$7,738.00	2 / acre	\$15,476.00		Y
	Supplier Product C	Code:		
	Supplier Notes:			
First Offer - \$7,800.00	2 / acre	\$15,600.00		Y
	Supplier Product C	Code:		
	First Offer - \$5,000.00         First Offer - \$6,000.00         First Offer - \$6,000.00         First Offer - \$7,738.00	Unit Price       Qty/Unit         First Offer - \$5,000.00       2 / acre         Supplier Product O       Supplier Notes:         First Offer - \$6,000.00       2 / acre         First Offer - \$6,000.00       2 / acre         Supplier Product O       Supplier Product O         Supplier Product O       Supplier Notes:         First Offer - \$7,738.00       2 / acre         First Offer - \$7,800.00       2 / acre	Unit Price     Qty/Unit     Total Price       First Offer - \$5,000.00     2 / acre     \$10,000.00       Supplier Product Code: Supplier Notes:     Supplier Notes:       First Offer - \$6,000.00     2 / acre     \$12,000.00       First Offer - \$6,000.00     2 / acre     \$12,000.00       Supplier Product Code: Supplier Notes:     \$12,000.00       First Offer - \$7,738.00     2 / acre     \$15,476.00       First Offer - \$7,738.00     2 / acre     \$15,476.00	Unit Price         Qty/Unit         Total Price         Attch.           First Offer - \$5,000.00         2 / acre         \$10,000.00         4           Supplier Product Code: Supplier Notes:         Supplier Notes:         4           First Offer - \$6,000.00         2 / acre         \$12,000.00         4           Supplier Product Code: Supplier Notes:         5         5         5           First Offer - \$7,738.00         2 / acre         \$15,476.00         4           First Offer - \$7,738.00         2 / acre         \$15,476.00         4           First Offer - \$7,800.00         2 / acre         \$15,476.00         4

Agency Notes:		Supplier Notes:		
Rudy Construction Co. 👔	First Offer - \$8,000.00	2 / acre	\$16,000.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$9,000.00	2 / acre	\$18,000.00	Y
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		

PM-030801-105 BASE BID: 811-11 STRUCTURE REMOVAL	(ALL STORM SEWER INL	ETS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$772.47	10 / each	\$7,724.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,200.00	10 / each	\$12,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$3,000.00	10 / each	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,100.00	10 / each	\$31,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4,000.00	10 / each	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Atlas Paving Company 👔	First Offer - \$5,000.00	10 / each	\$50,000.00		Y
Product Code: Agency Notes:	·	Supplier Product ( Supplier Notes:	Code:		

PM-030801-106 BASE BID: 812-01 REMOVE SIDEWALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🧕	First Offer - \$12.44	250 / square yard	\$3,110.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:	1	Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$15.00	250 / square yard	\$3,750.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$16.00	250 / square yard	\$4,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$16.50	250 / square yard	\$4,125.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$18.00	250 / square yard	\$4,500.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$25.00	250 / square yard	\$6,250.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PM-030801-107 BASE BID: 812-02 REMOVE CURB AND	GUTTER				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

bid #PM-0308 - Residential,
Local and Collector Street

# City of Oklahoma City and

al and Collector Street		its Trusts					
Silver Star Construction Company 👔		First Offer - \$10.37	2000 / linear foot	\$20,740.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$13.00	2000 / linear foot	\$26,000.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$14.00	2000 / linear foot	\$28,000.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$15.00	2000 / linear foot	\$30,000.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Atlas Paving Company 👔		First Offer - \$15.00	2000 / linear foot	\$30,000.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$15.00	2000 / linear foot	\$30,000.00	Y		
Product Code:			Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:				

PM-030801-108 BASE BID: 812-03 P.C. CONCRETE PAVEMENT REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company 🙀	First Offer - \$12.00	2000 / square yard	\$24,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$13.50	2000 / square yard	\$27,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 🙀	First Offer - \$14.00	2000 / square yard	\$28,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$15.00	2000 / square yard	\$30,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$15.00	2000 / square yard	\$30,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$19.00	2000 / square yard	\$38,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030801-109 BASE BID: 813-00 REMOVE DRIVEWAY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$14.00	200 / square yard	\$2,800.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$15.00	200 / square yard	\$3,000.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$22.00	200 / square yard	\$4,400.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$25.00	200 / square yard	\$5,000.00		Y
İ	·	1			

bid #PM-0308 - Residential,
Local and Collector Street

#### City of Oklahoma City and its Trusts

		113 110313				
Product Code:			Supplier Product Code	2:		
Agency Notes: Su		Supplier Notes:				
Atlas Paving Company 🙀		First Offer - \$25.00	200 / square yard	\$5,000.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$25.00	200 / square yard	\$5,000.00	Y	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PM-030801-110 BASE BID: 818-04 PAVEMENT REPAIR (6 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$55.00	8000 / square yard	\$440,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$60.00	8000 / square yard	\$480,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 🙀	First Offer - \$60.00	8000 / square yard	\$480,000.00		Y				
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$60.00	8000 / square yard	\$480,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 🙀	First Offer - \$65.00	8000 / square yard	\$520,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$70.79	8000 / square yard	\$566,320.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PM-030801-111 BASE BID: 818-05 PAVEMENT REPAIR (8 INCHES)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC. 👔	First Offe	er - \$65.00	4000 / square yard	\$260,000.00		Y				
		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offe	er - \$69.00	4000 / square yard	\$276,000.00		Y				
			Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 🙀	First Offe	er - \$69.21	4000 / square yard	\$276,840.00		Y				
			Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offe	er - \$70.00	4000 / square yard	\$280,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 🧕	First Offe	er - \$75.00	4000 / square yard	\$300,000.00		Y				
		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offe	er - \$83.00	4000 / square yard	\$332,000.00		Y				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							

PM-0308--01-112 BASE BID: 819-03 ADJUST EXISTING STRUCTURE (2-0 INLET REPAIR)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 🙀	First Offer - \$829.50	2 / each	\$1,659.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$1,500.00	2 / each	\$3,000.00		Y	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,700.00	2 / each	\$3,400.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,800.00	2 / each	\$5,600.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,800.00	2 / each	\$5,600.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					
Atlas Paving Company 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PM-030801-113 BASE BID: 819-04 ADJUST EXISTING STRUCTURE (2-1 INLET REPAIR)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$985.03	2 / each	\$1,970.06		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:	Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$1,750.00	2 / each	\$3,500.00		Y			
Product Code:		Supplier Product (	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,800.00	2 / each	\$5,600.00		Y			
Product Code:	·	Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,900.00	2 / each	\$5,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Atlas Paving Company 🙀	First Offer - \$3,000.00	2 / each	\$6,000.00		Y			
		Supplier Product Code: Supplier Notes:						

PM-030801-114 BASE BID: 819-10 STORM SEWER CAST HOOD REPLACEMENT								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$300.00	20 / each	\$6,000.00		Y		
			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$362.90	20 / each	\$7,258.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$450.00	20 / each	\$9,000.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
	Π							

bid #PM-0308 - Residential, Local and Collector Street	City of Oklahoma City and its Trusts	d		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$475.00	20 / each	\$9,500.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Rudy Construction Co. 🧕	First Offer - \$500.00	20 / each	\$10,000.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Atlas Paving Company 👔	First Offer - \$500.00	20 / each	\$10,000.00	Y
Product Code: Agency Notes:	· ·	Supplier Product	Code:	

PM-030801-115 BASE BID: 819-16 ADJUST EXISTING STRUCTURE (2-2 INLET REPAIR)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$1,219.80	2 / each	\$2,439.60		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Rudy Construction Co. 🙀	First Offer - \$2,000.00	2 / each	\$4,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$2,000.00	2 / each	\$4,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2,400.00	2 / each	\$4,800.00		Y			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					
Atlas Paving Company 🙀	First Offer - \$3,000.00	2 / each	\$6,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,050.00	2 / each	\$6,100.00		Y			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					

PM-030801-116 BASE BID: 819-17 ADJUST EXISTING STRUCTURE (2-3 INLET REPAIR)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$1,521.67	2 / each	\$3,043.34		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,200.00	2 / each	\$4,400.00		Y				
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:							
Rudy Construction Co. 👔	First Offer - \$2,250.00	2 / each	\$4,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3,000.00	2 / each	\$6,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y				
		Supplier Product ( Supplier Notes:	Code:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,100.00	2 / each	\$6,200.00		Y				
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:						

Г

PM-030801-117 BASE BID: 819-20 STORM SEWER CA	AST GR	ATE REPLACEMENT				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$300.00	20 / each	\$6,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$300.00	20 / each	\$6,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$355.06	20 / each	\$7,101.20		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$400.00	20 / each	\$8,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$450.00	20 / each	\$9,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$500.00	20 / each	\$10,000.00		Y
Product Code:			Supplier Product (	Code:		
Agency Notes:			Supplier Notes:			

PM-030801-118 BASE BID: 819-21 STORM SEWER CAST F	FRA	ME REPLACEMENT					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔		First Offer - \$355.06	10 / each	\$3,550.60		Y	
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$400.00	10 / each	\$4,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$475.00	10 / each	\$4,750.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔		First Offer - \$500.00	10 / each	\$5,000.00		Y	
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$500.00	10 / each	\$5,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:				
Atlas Paving Company 👔		First Offer - \$500.00	10 / each	\$5,000.00		Y	
Product Code: Agency Notes:			Supplier Product ( Supplier Notes:	Code:			

PM-030801-119 BASE BID: 820-00 SAWCUT PAVEMENT (LOOPS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co. 🙀	First Offer - \$4.00	3000 / linear foot	\$12,000.00		Y			
Product Code: S		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$4.00	3000 / linear foot	\$12,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$4.06	3000 / linear foot	\$12,180.00		Y			
Product Code:		Supplier Product Code	2:					

Agency Notes: Si			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$4.20	3000 / linear foot	\$12,600.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.75	3000 / linear foot	\$14,250.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$5.25	3000 / linear foot	\$15,750.00		Y
Product Code:			Supplier Product Code	2:		
Agency Notes:			Supplier Notes:			

PM-030801-120 BASE BID: 820-01 SAWCUT PAVEMENT (0 INCHES TO SIX INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$1.00	1000 / linear foot	\$1,000.00		Y			
		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$3.30	1000 / linear foot	\$3,300.00		Y			
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.50	1000 / linear foot	\$3,500.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$3.55	1000 / linear foot	\$3,550.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Rudy Construction Co. 🙀	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y			
		Supplier Product Code Supplier Notes:	:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y			
		Supplier Product Code Supplier Notes:						

PM-030801-121 BASE BID: 822-01 GEO-COMPOSITE FABRIC MEMBRANE (2 FEET WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Atlas Paving Company 🙀	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.75	1000 / linear foot	\$3,750.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company 👔	First Offer - \$4.51	1000 / linear foot	\$4,510.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:							
Rudy Construction Co. 🙀	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y					
		Supplier Product Code Supplier Notes:	:							
T.J. Campbell Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:							

PM-030801-122 BASE BID: 823-00 SIDEWALK						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$59.00	200 / square yard	\$11,800.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$74.65	200 / square yard	\$14,930.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$75.00	200 / square yard	\$15,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co. 🙀	First Offer - \$80.00	200 / square yard	\$16,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$80.00	200 / square yard	\$16,000.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$100.00	200 / square yard	\$20,000.00		Y	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

PM-030801-123 BASE BID: 823-03 6 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company 🙀	First Offer - \$86.06	200 / square yard	\$17,212.00		Y		
Product Code:	Supplier Product Code	2:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$90.00	200 / square yard	\$18,000.00		Y		
Product Code:	Supplier Product Code	2:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$99.00	200 / square yard	\$19,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co. 🙀	First Offer - \$110.00	200 / square yard	\$22,000.00		Y		
Product Code:	·	Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$112.50	200 / square yard	\$22,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$125.00	200 / square yard	\$25,000.00		Y		
Product Code:		Supplier Product Code	2:				
		Supplier Notes:					

PM-030801-124 BASE BID: 823-11 8 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 🙀	First Offer - \$89.16	200 / square yard	\$17,832.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	200 / square yard	\$20,000.00		Y			
Product Code:		Supplier Product Code	2					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$118.50	200 / square yard	\$23,700.00		Y			

		113 114313			
Product Code:			Supplier Product Code	2:	
Agency Notes:			Supplier Notes:		
Rudy Construction Co. 👔		First Offer - \$120.00	200 / square yard	\$24,000.00	Y
Product Code: S		Supplier Product Code:			
Agency Notes:			Supplier Notes:		
T.J. Campbell Construction Co.		First Offer - \$125.00	200 / square yard	\$25,000.00	Y
Product Code:			Supplier Product Code	2:	
Agency Notes:			Supplier Notes:		
Atlas Paving Company 👔		First Offer - \$130.00	200 / square yard	\$26,000.00	Y
Product Code:			Supplier Product Code	2:	
Agency Notes:			Supplier Notes:		

PM-030801-125 BASE BID: 823-12 10 INCH P.C. CONC. DRIVEWAY (3000 PSI HES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 🙀	First Offer - \$98.38	200 / square yard	\$19,676.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$110.00	200 / square yard	\$22,000.00		Y				
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:							
Rudy Construction Co. 🙀	First Offer - \$130.00	200 / square yard	\$26,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$130.00	200 / square yard	\$26,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:						
Atlas Paving Company 🙀	First Offer - \$135.00	200 / square yard	\$27,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:						
T.J. Campbell Construction Co.	First Offer - \$160.00	200 / square yard	\$32,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:						

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔		First Offer - \$5.00	100 / linear foot	\$500.00		Y
Product Code: S			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co. 👔		First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$40.99	100 / linear foot	\$4,099.00		Y
Product Code:			Supplier Product Cod	e:		

Agency Notes:

PM-030801-127 BASE BID: 826-08 PERFORATED PIPE UN	NDERDRAIN (6 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y	
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$35.51	100 / linear foot	\$3,551.00		Y	
Product Code: Agency Notes:	·	Supplier Product Coc Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$58.00	100 / linear foot	\$5,800.00		Y	
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:			

PM-030801-128 BASE BID: 826-09 NON-PERFORATED PIPE UNDERDRAIN (6 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co. 🙀	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Atlas Paving Company 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$33.00	100 / linear foot	\$3,300.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$35.51	100 / linear foot	\$3,551.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
T.J. Campbell Construction Co.	First Offer - \$58.00	100 / linear foot	\$5,800.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							

PM-030801-129 BASE BID: 827-22 GUARDRAIL END TREATMENT (ODOT DETAIL T-602)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company 👔	First Offer - \$4,500.00	6 / each	\$27,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 👔	First Offer - \$5,000.00	6 / each	\$30,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

# City of Oklahoma City and

al and Collector Street	its Trusts			
Rudy Construction Co. 👔	First Offer - \$6,500.00	6 / each	\$39,000.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$6,593.91	6 / each	\$39,563.46	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$6,695.00	6 / each	\$40,170.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$7,800.00	6 / each	\$46,800.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

PM-030801-130 BASE BID: 827-23 W-BEAM-TYPE GUARDRAIL (SINGLE)(ODOT DETAILS T-605 AND 606)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co. 👔	First Offer - \$35.00	300 / linear foot	\$10,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	300 / linear foot	\$10,500.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company 🙀	First Offer - \$35.51	300 / linear foot	\$10,653.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$36.50	300 / linear foot	\$10,950.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$42.00	300 / linear foot	\$12,600.00		Y					
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:							
Atlas Paving Company 👔	First Offer - \$45.00	300 / linear foot	\$13,500.00		Y					
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:							

PM-030801-131 BASE BID: 828-09 REMOVE AND RESET FENCE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC. 👔		First Offer - \$30.00	100 / linear foot	\$3,000.00		Y		
Product Code: S		Supplier Product Cod	de:					
Agency Notes: Su		Supplier Notes:						
Rudy Construction Co. 👔		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y		
Product Code:			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company 🙀		First Offer - \$50.00	100 / linear foot	\$5,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$95.36	100 / linear foot	\$9,536.00		Y		

### Product Code: Agency Notes:

# Supplier Product Code: Supplier Notes:

PM-0308--01-132 BASE BID: 828-10 REMOVE EXISTING FENCE Supplier **Unit Price** Qty/Unit **Total Price** Attch. Docs T.J. Campbell Construction Co. First Offer - \$6.00 250 / linear foot \$1,500.00 Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: First Offer - \$7.00 250 / linear foot \$1,750.00 Υ Rudy Construction Co. 🔓 Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Ellsworth Construction OKC dba A-Tech Paving First Offer - \$7.50 250 / linear foot \$1,875.00 Υ Supplier Product Code: Product Code: Supplier Notes: Agency Notes: Atlas Paving Company 달 First Offer - \$10.00 250 / linear foot \$2,500.00 Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: 250 / linear foot SCHWARZ PAVING CO., INC. 🔓 First Offer - \$10.00 \$2,500.00 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: 250 / linear foot Silver Star Construction Company 🔓 First Offer - \$12.17 \$3,042.50 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PM-030801-133 BASE BID: 830-04 TACTILE MARKERS/TRUNCATED DOMES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 🙀	First Offer - \$25.49	200 / square foot	\$5,098.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC. 🙀	First Offer - \$35.00	200 / square foot	\$7,000.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$36.00	200 / square foot	\$7,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co. 👔	First Offer - \$40.00	200 / square foot	\$8,000.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$45.00	200 / square foot	\$9,000.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company 🙀	First Offer - \$50.00	200 / square foot	\$10,000.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

PM-030801-134 BASE BID: 830-09 ADA CURB RAMP (8 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$96.43	100 / square yard	\$9,643.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$155.00	100 / square yard	\$15,500.00		Y				
Product Code:		Supplier Product Code	2:						

Agency Notes: S			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$162.00	100 / square yard	\$16,200.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔		First Offer - \$180.00	100 / square yard	\$18,000.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co. 🙀		First Offer - \$200.00	100 / square yard	\$20,000.00	Y		
Product Code:		·	Supplier Product Code	2:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$210.00	100 / square yard	\$21,000.00	Y		
Product Code:			Supplier Product Code	e:			
Agency Notes:			Supplier Notes:				

PM-030801-135 BASE BID: 840-00 SOLID SLAB SODDING	G					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company 👔	First Offer - \$3.50	5000 / square yard	\$17,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$3.73	5000 / square yard	\$18,650.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co. 👔	First Offer - \$4.00	5000 / square yard	\$20,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$4.00	5000 / square yard	\$20,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.60	5000 / square yard	\$23,000.00		Y	
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$6.00	5000 / square yard	\$30,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PM-030801-136 BASE BID: 843-16 TREE REMOVAL (OVER 3 INCHES TO 12 INCHES CALIPER)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co. 🙀	First Offer - \$1,000.00	1 / each	\$1,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$1,205.00	1 / each	\$1,205.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,700.00	1 / each	\$1,700.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$1,800.00	1 / each	\$1,800.00		Y	
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,000.00	1 / each	\$2,000.00		Y	
		Supplier Product ( Supplier Notes:	Code:			

bid #PM-0308 - Residential Local and Collector Street	,
Atlas Paving Company	/ 🔓

# City of Oklahoma City and its Trusts

\$3,000.00

Y

Product Code:
Agency Notes:

# Supplier Product Code:

1 / each

PM-030801-137 BASE BID: 843-17 TREE REMOVAL (OVER	R 12 INCH CALIPER)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co. 👔	First Offer - \$1,500.00	1 / each	\$1,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$2,100.00	1 / each	\$2,100.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$2,400.00	1 / each	\$2,400.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$2,700.00	1 / each	\$2,700.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,200.00	1 / each	\$3,200.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$5,000.00	1 / each	\$5,000.00		Y
		Supplier Product ( Supplier Notes:	Code:		

PM-030801-138 BASE BID: 900-04 TRIANGULAR SIL	T DIK	ES (SEE DETAIL 7.2)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company 👔		First Offer - \$8.12	100 / linear foot	\$812.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 👔		First Offer - \$10.00	100 / linear foot	\$1,000.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$14.00	100 / linear foot	\$1,400.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$15.00	100 / linear foot	\$1,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company 🙀		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y		
Product Code:			Supplier Product Code:					
			Supplier Notes:					

PM-030801-139 BASE BID: 900-09 ROCK BAG SILT FENCE (SEE DETAIL 7.6)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co. 🙀	First Offer - \$5.00	100 / linear foot	\$500.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
	First Offer - \$6.59	100 / linear foot	\$659.00		Y		

Silver Star Construction Company 👔						
Product Code: S		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC. 🙀		First Offer - \$15.00	100 / linear foot	\$1,500.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Atlas Paving Company 🙀		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$20.00	100 / linear foot	\$2,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PM-030801-140 BASE BID: 982-00 HANDRAIL (POWDER COATED STEEL) (3 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$99.00	100 / linear foot	\$9,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
Product Code:	Supplier Product Co	de:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 🙀	First Offer - \$130.05	100 / linear foot	\$13,005.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$175.00	100 / linear foot	\$17,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PM-030801-141 BASE BID: 982-01 HANDRAIL (POWDER COATED STEEL) (1 1/2 INCHES)								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$82.00	100 / linear foot	\$8,200.00		Y				
Product Code:								
	Supplier Notes:							
First Offer - \$95.00	100 / linear foot	\$9,500.00		Y				
Product Code:		Supplier Product Code:						
	Supplier Notes:							
First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
	Supplier Product Code:							
	Supplier Notes:							
First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
Product Code:		Supplier Product Code:						
	Supplier Notes:							
First Offer - \$111.69	100 / linear foot	\$11,169.00		Y				
	Unit Price           First Offer - \$82.00           First Offer - \$95.00           First Offer - \$100.00           First Offer - \$100.00	Unit Price     Qty/Unit       First Offer - \$82.00     100 / linear foot       Supplier Product Consupplier Notes:     Supplier Notes:       First Offer - \$95.00     100 / linear foot       First Offer - \$95.00     100 / linear foot       Supplier Product Consupplier Notes:     Supplier Product Consupplier Notes:       First Offer - \$100.00     100 / linear foot       First Offer - \$100.00     100 / linear foot       First Offer - \$100.00     100 / linear foot       Supplier Notes:     Supplier Notes:       First Offer - \$100.00     100 / linear foot	Unit PriceQty/UnitTotal PriceFirst Offer - \$82.00100 / linear foot\$8,200.00Supplier Product Code: Supplier Notes:Supplier Notes:First Offer - \$95.00100 / linear foot\$9,500.00First Offer - \$95.00100 / linear foot\$9,500.00First Offer - \$100.00100 / linear foot\$10,000.00First Offer - \$100.00100 / linear foot\$10,000.00Supplier Product Code: Supplier Notes:\$10,000.00	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$82.00100 / linear foot\$8,200.00\$8,200.00Supplier Product Code: Supplier Notes:First Offer - \$95.00100 / linear foot\$9,500.00Supplier Product Code: Supplier Notes:\$9,500.00\$First Offer - \$100.00100 / linear foot\$10,000.00First Offer - \$100.00100 / linear foot\$10,000.00First Offer - \$100.00100 / linear foot\$10,000.00First Offer - \$100.00100 / linear foot\$10,000.00Supplier Notes: Supplier Notes:\$10,000.00First Offer - \$100.00100 / linear foot\$10,000.00				

Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product Co	de:	
T.J. Campbell Construction Co.	First Offer - \$175.00	100 / linear foot	\$17,500.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
id #PM-0308 - Residential, ocal and Collector Street	City of Oklahoma City and its Trusts	d		

PM-030801-142 BASE BID: 982-02 PEDESTRIAN HANDRAIL-OPTION 1 (POWDER COATED STEEL) (1 1/2 INCHES)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$85.00	100 / linear foot	\$8,500.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co. 🙀		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Atlas Paving Company 👔		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC. 👔		First Offer - \$100.00	100 / linear foot	\$10,000.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$125.00	100 / linear foot	\$12,500.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$130.05	100 / linear foot	\$13,005.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

PM-030801-143 BASE BID: 982-03 PEDESTRIAN HANDRAIL-OPTION 2 (POWDER COATED STEEL) (1 1/2 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Atlas Paving Company 🙀	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC. 👔	First Offer - \$100.00	100 / linear foot	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co. 👔	First Offer - \$105.00	100 / linear foot	\$10,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$111.69	100 / linear foot	\$11,169.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PM-030801-144 BASE BID: 988-01 GEOTEXTILE SEPARATOR FABRIC FOR BASES					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$2.30	2500 / square yard	\$5,750.00		Y
Product Code:		Supplier Product Code:			

Agency Notes:	Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$2.54	2500 / square yard	\$6,350.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	· · · ·	·	
Rudy Construction Co. 👔	First Offer - \$3.00	2500 / square yard	\$7,500.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.20	2500 / square yard	\$8,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.50	2500 / square yard	\$8,750.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$5.00	2500 / square yard	\$12,500.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PM-030801-145 BASE BID: 988-04 REINFORCEMENT GRID FOR BASES					
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$1.50	2500 / square yard	\$3,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$2.49	2500 / square yard	\$6,225.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3.45	2500 / square yard	\$8,625.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.50	2500 / square yard	\$8,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3.50	2500 / square yard	\$8,750.00		Y
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$6.50	2500 / square yard	\$16,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PM-030801-146 BASE BID: SP IRRIGATION REPLACEMENT / REPAIR - 1/2"						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$15.00	50 / linear foot	\$750.00		Y
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Atlas Paving Company 👔		First Offer - \$20.00	50 / linear foot	\$1,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$24.00	50 / linear foot	\$1,200.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$26.47	50 / linear foot	\$1,323.50		Y
Product Code:		Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:			

Agency Notes:		Supplier Notes:			
Product Code:		Supplier Product Co	de:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$35.00	50 / linear foot	\$1,750.00	Y	
Agency Notes:		Supplier Notes:			
Product Code:		Supplier Product Code:			
Rudy Construction Co. 👔	First Offer - \$30.00	50 / linear foot	\$1,500.00	Y	
	113 114313				

PM-030801-147 BASE BID: SP IRRIGATION HEAD REPAIR / REPLACEMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$100.00	1 / each	\$100.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$170.00	1 / each	\$170.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
Rudy Construction Co. 🙀	First Offer - \$200.00	1 / each	\$200.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Atlas Paving Company 👔	First Offer - \$250.00	1 / each	\$250.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$500.00	1 / each	\$500.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$2,946.27	1 / each	\$2,946.27		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		

PM-030801-148 BASE BID: 700-00 TRAFFIC CONTROL (4 LANE MILE SECTION)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 👔	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 👔	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Y
Product Code:	Supplier Product (	Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$14,104.15	1 / lump sum	\$14,104.15		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$15,090.00	1 / lump sum	\$15,090.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			

PM-030801-149 BASE BID: 700-00 TRAFFIC CONTROL (2 LANE MILE SECTION)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
		First Offer - \$10,250.00	1 / lump sum	\$10,250.00		Y

Silver Star Construction Company 👔					
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
Rudy Construction Co. 👔	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11,340.00	1 / lump sum	\$11,340.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company 👔	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC. 👔	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		

PM-030801-150 BASE BID: 700-00 TRAFFIC CONTROL (SIGNALIZED INTERSECTION)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$1,555.00	2 / each	\$3,110.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,985.00	2 / each	\$3,970.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co. 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC. 👔	First Offer - \$3,000.00	2 / each	\$6,000.00		Y
Product Code: Agency Notes:	Supplier Product ( Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$3,500.00	2 / each	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		

PM-030801-151 BASE BID: 700-00 TRAFFIC CONTROL (CHANGEABLE MESSAGE SIGNS)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company 🙀	First Offer - \$750.00	3 / day	\$2,250.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$775.00	3 / day	\$2,325.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co. 🙀	First Offer - \$800.00	3 / day	\$2,400.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC. 👔	First Offer - \$800.00	3 / day	\$2,400.00		Y

bid #PM-0308 - Residential,	City of Oklahoma City and
Local and Collector Street	its Trusts

Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$900.00	3 / day	\$2,700.00		Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$975.00	3 / day	\$2,925.00	Y	Y
Product Code:		Supplier Product (	Code:		
Agency Notes:		Supplier Notes: Bi	d bond uploaded he	re, could n	ot use
		bid bond upload lin	ık.		

# **Supplier Totals**

f Silver Star	Construction Company	\$6,998,500.00 (151/151 items	)
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualification	s CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on May 16, 2024)		
Bid Notes	BID BOND ALSO ATTACHED TO LINE ITEM 1		
Agency Note	25:	<b>Supplier Notes:</b> BID BOND ALSO ATTACHED TO LINE ITEM 1	Head Attch: 🕖
f Ellsworth	Construction OKC dba A-Tech Paving	\$7,117,394.00 (151/151 it	ems)
	Tim Lunday okcbids@ellsworthinc.com Ph 405-418-4741	Address 500 N Vickie DR Oklahoma City, OK 73117	
	Bid bond uploaded to last line item, could not use bid bo	•	
Agency Note	25:	<b>Supplier Notes:</b> Bid bond uploaded to last line item, cou not use bid bond upload link.	Head ld Attch:
f Atlas Pavi	ng Company	\$7,291,630.00 (151/151 items)	)
Bid Contact	Carol McCoin cmccoin@atlaspavingok.com Ph 405-947-2381	Address 3800 NW 8th Street Oklahoma City, OK 73107	
Qualification	s OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on May 21, 2024)		
Agency Note	25:	Supplier Notes:	Head Attch:
f SCHWARZ	PAVING CO., INC.	\$7,660,280.00 (151/151 items	;)
Bid Contact	BRIAN SCHWARZ RICHARD.SCHWARZ@SCHWARZPAVING.COM Ph 405-789-7203	Address 8251 WEST RENO AVE OKLAHOMA CITY, OK 73127	
Qualification	s OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on May 21, 2024)		
Agency Note	25:	Supplier Notes:	Head Attch: 🕖
f Rudy Cons	struction Co.	\$7,719,090.00 (151/151 items)	)
Bid Contact	Doug Walker	Address 3101 NE 63rd Street	

City of Oklahoma City and its Trusts

al and Collector Sti	reet	its Trusts	
	ppratt@rudycc.com Ph 405-478-9900	Oklahoma	City, OK 73121
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	🙀 (Status: Authorized on May 21, 2024)		
Agency Notes:		Supplier Notes:	Head Attch:
f T.J. Campbel	ll Construction Co.	\$8,266,805.00 (1	51/151 items)
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address <b>PO Box 37</b> Edmond, C	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch: J

\*\*All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time. Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

\$107.25 (7/7 items)

# Bid #25106 - Structured Cabling

Creation Date Apr 18, 2024

Start Date Apr 24, 2024 8:02:07 AM CDT

End Date May 22, 2024 10:00:00 AM CDT

Awarded Date Not Yet Awarded

SK Shemor & Associates, LLC Bid Contact Steve Morgan juddschrader@skshemor.com Ph 405-672-1216 Fax 405-672-1473 Oualifications CS ARCH ENG

Address **4401 S Nebraska** Oklahoma City, OK 73129

Qualifie	cations	CS ARCH ENG				
Agency	Notes:		Supplier Notes:			
ltem #	Line Ite	m	Unit Price	Qty/Unit	Total Price	
25106- -01-01		Hardware: Price List, Catalog or Website - First Offer	15.00%	1 / each	15.00%	
Product			Supplier Product Code: Supplier Notes: Cost plus <sup>2</sup>	15%		
25106- -01-02		Hardware: Price List, Catalog or Website - First Offer	15.00%	1 / each	15.00%	
Product			Supplier Product Code: Supplier Notes: Cost plus 7	15%	·	
25106- -01-03		Hardware: Price List, Catalog or Website - First Offer	15.00%	1 / each	15.00%	
Product Agency			Supplier Product Code: Supplier Notes: Cost plus 7	5%		

ling Supp	lier Tab its	Trusts		
	1	1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -02-01	- Installation and Maintenance: Installation of New Cabling First Offer	\$35.75	1 / hour	\$35.75
Produc		Supplier Product Code:		1
Agency	Notes:	Supplier Notes: Hourly Rat	:e \$35.75	
25106- -02-02	Installation and Maintenance: Troubleshooting and Repair - First Offer	\$35.75	1 / hour	\$35.75
Product Agency		Supplier Product Code: Supplier Notes: Hourly Rat	e \$35.75	
25106- -02-03	Installation and Maintenance: Fiber Polishing and Termination - First Offer	\$35.75	1 / hour	\$35.75
Product Agency		Supplier Product Code: Supplier Notes: Hourly Rat	ce \$35.75	
				Lot Total: \$107.25
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -03-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		<u>.</u>
		1		<b>Lot Total:</b> \$0.00
RF-IP,				\$165.00 (7/7 items)
BIG CO	ntact Drew Rains sales@rfip.com Ph 405-286-0928		31 E Britton ‹lahoma City	
Agency		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -01-01	Hardware: Price List, Catalog or Website - First Offer	-10.00%	1 / each	-10.00%

Supplier Product Code: Copper Cabling Supplier Notes: 10% discount off MSRP

Product Code: Agency Notes:

er lab it	s Trusts		
Hardware: Price List, Catalog or Website - First Offer	-10.00%	1 / each	-10.00%
Code:	Supplier Product Code: Fit	per Optics Cabl	ing
Notes:			_
Hardware: Price List, Catalog or Website - First Offer	-10.00%	1 / each	-10.00%
			Lot Total: \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
		1 / hour	\$55.00
	Hardware: Price List, Catalog or Website - First Offer Code: Notes: Hardware: Price List, Catalog or Website - First Offer Code: Notes: Line Item Installation and Maintenance: Installation of New Cabling -	Hardware: Price List, Catalog or Website - First Offer       -10.00%         Code:       Supplier Product Code: Fil         Notes:       Supplier Notes: 10% disco         Hardware: Price List, Catalog or Website - First Offer       -10.00%         Code:       Supplier Product Code: Mission         Motes:       10.00%         Code:       Supplier Notes: 10% disco         Line Item       Unit Price         Installation and Maintenance: Installation of New Cabling - First Offer       \$55.00         Code:       Supplier Product Code: Prist Offer	Hardware: Price List, Catalog or Website - First Offer       -10.00%       1 / each         Code: Notes:       Supplier Product Code: Fiber Optics Cabl Supplier Notes: 10% discount off MSRP         Hardware: Price List, Catalog or Website - First Offer       -10.00%       1 / each         Code: Notes:       -10.00%       1 / each       1 / each         Hardware: Price List, Catalog or Website - First Offer       -10.00%       1 / each         Code: Notes:       Supplier Product Code: Metals Supplier Notes: 10% discount off MSRP         Line Item       Unit Price       Qty/Unit         Installation and Maintenance: Installation of New Cabling- First Offer       \$1 / hour       1 / hour         Code:       Supplier Product Code: Product Product Code: Product Code: Product Code: Product

25106- -02-02	Installation and Maintenance: Troubleshooting and Repair - First Offer	\$55.00	1 / hour	\$55.00
Product		Supplier Product Code: Co Supplier Notes: Per one m		
25106-	Installation and Maintenance: Fiber Polishing and	\$55.00	1 / hour	\$55.00
-02-03	Termination - First Offer			
1		1		

# City of Oklahoma City and its Trusts

Supplier Notes: Per one man hour

				Lot Total: \$165.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -03-01	Attachments: W-9 - First Offer		1 / each	
Produc Agency		Supplier Product Code: W Supplier Notes:	9	
		•		<b>Lot Total:</b> \$0.00
Dane a	& Associates Electric Co.			\$195.00 (7/7 items)
Bid Co	buddy@daneelectric.com Ph 405-686-0290		4721 SW 18t OKC, OK 731	
	cations OKC PRE-QUALIFIED CONTRACTORS	Supplier Notes		
Agency Item		Supplier Notes:		
#	Line Item	Unit Price	Qty/Unit	Total Price
25106- -01-01	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each	20.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
25106- -01-02	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each	20.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
25106- -01-03	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each	20.00%
Produc Agency		Supplier Product Code: Supplier Notes:		
		1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -02-01	Installation and Maintenance: Installation of New Cabling - First Offer	\$65.00	1 / hour	\$65.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25106- -02-02	Installation and Maintenance: Troubleshooting and Repair - First Offer	\$65.00	1 / hour	\$65.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25106- -02-03	Installation and Maintenance: Fiber Polishing and Termination - First Offer	\$65.00	1 / hour	\$65.00
Produc Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$195.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -03-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		

TECHS	ICO			\$255.79	(7/7 items)
Bid Co	ntact Emma Phillips	Address <b>91</b>	0 S Hudson	Ave	
	estimating@techsico.com	Tu	ilsa, OK 7411	12	
Bid No	Ph 918-585-2347 tes https://catalog.belden.com/index.cfm?event=b	prowse&c=category 1725	90		
	20 Percent off Belden products	1			
Agency	Notes:	Supplier Notes: https://cata event=browse&c=category_		m/index.cfm?	
		20 Percent off Belden produ	icts		
ltem #	Line Item	Unit Price	Qty/Unit		Total Price
25106- -01-01	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each		20.00%
Produc Agency		Supplier Product Code: Supplier Notes: 20 percent			
25105	Handware Dries List Catalog an Walacian First Offer	20.000/	1 (apple		20.00%
25106- -01-02	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each		20.00%
Produc Agency		Supplier Product Code: Supplier Notes: 20 percent	off Ortronics (	products	
25106- -01-03	Hardware: Price List, Catalog or Website - First Offer	20.00%	1 / each		20.00%
Produc Agency		Supplier Product Code: Co Supplier Notes: https://ww communications/in/en/hom 20 percent off Corning prod	w.corning.com e/products.ht	ml	
				Lo	<b>t Total:</b> \$0.00

		lahoma City and s Trusts		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -02-01	Installation and Maintenance: Installation of New Cabling - First Offer	\$73.20	1 / hour	\$73.20
	t Code: / Notes:	Supplier Product Code: Supplier Notes:		
25106- -02-02	Installation and Maintenance: Troubleshooting and Repair - First Offer	\$109.39	1 / hour	\$109.39
		Supplier Product Code: Supplier Notes:		
25106- -02-03	Installation and Maintenance: Fiber Polishing and Termination - First Offer	\$73.20	1 / hour	\$73.20
	t Code: v Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$255.79
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -03-01	Attachments: W-9 - First Offer		1 / each	
Produc		Supplier Product Code:		
Agency	v Notes:	Supplier Notes:		
				<b>Lot Total:</b> \$0.00
WireK				\$220 10 (7/7 itoms)
Bid Co	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896		8 W. 3rd St. /dro, OK 730	\$320.10 (7/7 items) 48
	ntact Spencer Huiatt spencer@wirekor.com			
Agency Item	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896	Ну		48
Agency Item	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes:	Hy Supplier Notes: Unit Price	ydro, OK 730	48 Total Price
Agency Item # 25106- -01-01 Produc	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer	Hy Supplier Notes: Unit Price	/dro, OK 730	48 Total Price
Agency Item # 25106- -01-01 Produc	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer t Code: Notes:	Supplier Notes:         Unit Price       15.00%       15.	/dro, OK 730	<b>48</b> <b>Total Price</b> 15.00%
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer Notes: Hardware: Price List, Catalog or Website - First Offer	Supplier Notes:         Unit Price       15.00%       15.	<b>/dro, OK 730</b> <b>Qty/Unit</b> 1 / each	<b>48</b> <b>Total Price</b> 15.00%
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer t Code: Notes: Hardware: Price List, Catalog or Website - First Offer t Code: Notes:	Supplier Notes:         Unit Price       15.00%       15.	<b>/dro, OK 730</b> <b>Qty/Unit</b> 1 / each	<b>48</b> <b>Total Price</b> 15.00%
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc Agency 25106- -01-03 Produc Agency	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer t Code: Notes: Hardware: Price List, Catalog or Website - First Offer Hardware: Price List, Catalog or Website - First Offer Hardware: Price List, Catalog or Website - First Offer	Supplier Notes:         Unit Price       15.00%       15.	<b>/dro, OK 730</b> <b>Qty/Unit</b> 1 / each	<b>48</b> <b>Total Price</b> 15.00%
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc Agency 25106- -01-03 Produc Agency	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer t Code: Notes: Hardware: Price List, Catalog or Website - First Offer Hardware: Price List, Catalog or Website - First Offer t Code: Notes:	Supplier Notes:         Unit Price         15.00%         Supplier Product Code:         Supplier Product Code:         Supplier Notes:         15.00%         Supplier Product Code:	<b>/dro, OK 730</b> <b>Qty/Unit</b> 1 / each	
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc Agency 25106- 01-03 Produc Agency 25106- 01-03	ntact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896 Notes: Line Item Hardware: Price List, Catalog or Website - First Offer t Code: Notes: Hardware: Price List, Catalog or Website - First Offer Hardware: Price List, Catalog or Website - First Offer t Code: Notes:	Supplier Notes:         Unit Price         15.00%         Supplier Product Code:         Supplier Product Code:         Supplier Notes:         15.00%         Supplier Product Code:	<b>/dro, OK 730</b> <b>Qty/Unit</b> 1 / each	<b>48</b> Total Price           15.00%         15.00%           15.00%         15.00%
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc Agency 25106- -01-03 Produc Agency	Natact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896          Notes:         Line Item         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:	Hy Supplier Notes: Unit Price Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Notes: Unit Price Unit Price Supplier Notes:	<b>/dro, OK 730</b> Qty/Unit 1 / each 1 / each	48 Total Price 15.00% 15.00% 15.00% Lot Total: \$0.00
Agency Item # 25106- -01-01 Produc Agency 25106- -01-02 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-02 Produc Agency 25106- -01-02 Produc Agency 25106- -01-02 Produc Agency 25106- -01-02 Produc Agency 25106- -01-02 Produc Agency 25106- -01-02 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency 25106- -01-03 Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency Produc Agency	Intact Spencer Huiatt spencer@wirekor.com Ph 580-480-2896          Notes:         Line Item         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Hardware: Price List, Catalog or Website - First Offer         t Code:         Notes:         Line Item         Installation and Maintenance: Installation of New Cabling -	Hy Supplier Notes: Unit Price Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Notes: Unit Price Unit Price Supplier Notes:	<pre>/dro, OK 730- Qty/Unit 1 / each 1 / each 1 / each 2 / each 2 / each</pre>	48 Total Price 15.00% 15.00% 15.00% Lot Total: \$0.00 Total Price
Structured		lahoma City and s Trusts		
----------------------	--	--	---	--
-	Installation and Maintenance: Fiber Polishing and	\$120.10	1 / hour	\$120.10
ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
				Lot Total: \$320.10
Line Item		Unit Price	Qty/Unit	Total Price
-	Attachments: W-9 - First Offer		1 / each	
ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
justi	n.peck@graybar.com	Address Of	(LAHOMA CI	\$0.00 (4/7 items) TY, OK 73105
	05-226-9423	Supplier Notes:		
		Unit Price	Qty/Unit	Total Price
- F	lardware: Price List, Catalog or Website - First Offer	2.00%	1 / each	2.00%
		Data/Communication, Netv		
		Data/Communication, Netv Products & Services via OM		
- <b>F</b>	łardware: Price List, Catalog or Website - First Offer	Products & Services via OM		
	Line Item Line Item Line Item Line Item Ct Code: Notes: Dar Dar Dar Dar Dar Dar Dar Dar Dar Dar	<ul> <li>Installation and Maintenance: Fiber Polishing and Termination - First Offer</li> <li>Notes:</li> <li>Line Item</li> <li>Attachments: W-9 - First Offer</li> <li>Attachments: W-9 - First Offer</li> <li>Notes:</li> </ul>	Installation and Maintenance: Fiber Polishing and Termination - First Offer       \$120.10         tt Code: y Notes:       Supplier Product Code: Supplier Notes:         Line Item       Unit Price         Attachments: W-9 - First Offer       Unit Price         Attachments: W-9 - First Offer       Supplier Product Code: Supplier Notes:         votes:       Supplier Product Code: Supplier Notes:         votes:       Supplier Product Code: Supplier Notes:         votes:       Supplier Notes:         votes:       Address Of Justin.peck@graybar.com Ph 405-226-9423         v Notes:       Supplier Notes:         votes:       Supplier Notes:         votes:       Supplier Notes:         tine Item       Unit Price         Hardware: Price List, Catalog or Website - First Offer       2.00%         tt Code: y Notes:       Supplier Product Code: 27	<ul> <li>Installation and Maintenance: Fiber Polishing and Termination - First Offer</li> <li>Supplier Product Code: Supplier Notes:</li> <li>Line Item</li> <li>Attachments: W-9 - First Offer</li> <li>Attachments: W-9 - First Offer</li> <li>Supplier Product Code: Supplier Notes:</li> </ul>

ling Supp	lier Tab its	s Trusts		
25106- -01-03	Hardware: Price List, Catalog or Website - First Offer	2.00%	1 / each	2.00%
Product		Supplier Product Code: Supplier Notes: City of Okl. Data/Communication, Netw Products & Services via OM	vorking, Wirele	ss, Security and All Related
ltem				Lot Total: \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
25106- -02-01	Installation and Maintenance: Installation of New Cabling			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25106- -02-02	Installation and Maintenance: Troubleshooting and Repair			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
25106- -02-03	Installation and Maintenance: Fiber Polishing and Termination			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
	1	1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25106- -03-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00

Tresha Williams City Clerk Chad Harrison Purchasing Agent <u>Tim Alvarez</u> Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

\$8,598.07 (20/20 items)

Bid Committee Bid Tab

## Bid #25107 - Brother Mobile Printers and Accessories

Creation Date Apr 18, 2024

Start Date Apr 24, 2024 8:02:07 AM CDT

End Date May 22, 2024 10:00:00 AM CDT

Address JEFFERSON CITY, MO 65109

Awarded Date Not Yet Awarded

Turn-Key Mobile, Inc. Bid Contact Kathy Montgomery biddesk@turnkeymobile.com Ph 573-893-9888

	F11 57 5-655-5666				
Agency	Notes:	Supplier Notes:			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	\$301.35	1 / each	\$301.35	
Product Agency		Supplier Product Code: RJ Supplier Notes:	2035B	1	
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	\$345.46	1 / each	\$345.46	
Produc Agency		Supplier Product Code: RJ Supplier Notes:	2055WB	<u>.</u>	
25107- -01-03	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	\$387.92	1 / each	\$387.92	
Product Agency		Supplier Product Code: RJ Supplier Notes:	3035B		
25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	\$432.29	1 / each	\$432.29	
	roduct Code:     Supplier Product Code: RJ3055WB       gency Notes:     Supplier Notes:				
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$433.03	1 / each	\$433.03	
Product Agency		Supplier Product Code: RJ2030 Supplier Notes:			
25107- -01-06	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$505.39	1 / each	\$505.39	
Produc Agency		Supplier Product Code: RJ Supplier Notes:	2050		
25107- -01-07	Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$677.10	1 / each	\$677.10	
Product Agency		Supplier Product Code: RJ Supplier Notes:	2140		
25107- -01-08	Mobile Printers: Brother Rugged Jet 2150 - First Offer	\$688.42	1 / each	\$688.42	
		Supplier Product Code: RJ Supplier Notes:	2150		
25107- -01-09	Mobile Printers: Brother Rugged Jet 3230BL - First Offer	\$572.49	1 / each	\$572.49	
Product Agency		Supplier Product Code: RJ Supplier Notes:	3230BL		
25107- -01-10	Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer	\$645.85	1 / each	\$645.85	

Produc Agency		Supplier Product Code: RJ Supplier Notes:	3230BLCP	
25107- -01-11	Mobile Printers: Brother Rugged Jet 3250WBL - First Offer	er \$606.97 1 / each		
Produc Agency		Supplier Product Code: RJ Supplier Notes:	3250WBL	
25107- -01-12	Mobile Printers: Brother Rugged Jet WBLCP - First Offer	\$683.54	1 / each	
Produc Agency		Supplier Product Code: RJ: Supplier Notes:	3250WBL-CP	
25107- -01-13	Mobile Printers: Brother Rugged Jet 4230B - First Offer		1 / each	
Produc Agency		Supplier Product Code: RJ4 Supplier Notes:	4230B	
25107- -01-14	Mobile Printers: Brother Rugged Jet 4230BL - First Offer	\$583.06	1 / each	
Produc Agency		Supplier Product Code: RJ4 Supplier Notes:	4230BL	
25107- -01-15	Mobile Printers: Brother Rugged Jet 4250WB - First Offer	\$588.72	1 / each	
Produc Agency		Supplier Product Code: RJ4250WB Supplier Notes:		
25107- -01-16	Mobile Printers: Brother Rugged Jet 4250WBL - First Offer	\$619.87	1 / each	
Produc Agency		Supplier Product Code: RJ4 Supplier Notes:	4250WBL	
ltem #	Line Item	Unit Price	Qty/Unit	
# 25107- -02-01	Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes: 10% off M	SRP	
ltem #	Line Item	Unit Price	Qty/Unit	
25107- -03-01	Mobile Printer Accessories: Manufacturer's Price List, Catalog, or Website - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes: 10% off M	SRP	

Lot Total: \$0.00

Lot Total: \$0.00

**Total Price** 

10.00%

\$606.97

\$683.54

\$526.61

\$583.06

\$588.72

\$619.87

**Total Price** 

10.00%

Lot Total: \$8,598.07

lteı #	Line Item	Unit Price	Qty/Unit	Total Price
251	7- Extended Warranty: Extended Warranty - First Offe	-	1 / each	

		ahoma City and s Trusts		
-04-01 Product Agency		Supplier Product Code: Supplier Notes: 10% off M	SRP	
ltem	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Pric
# 25107- -05-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:	I	
				<b>Lot Total:</b> \$0.00
Bid Co	scwbids@scw.com Ph 877-468-6729 cations CS ARCH ENG		1395 S. Mari Bldg. 300 Ste Marietta, G/ n quantities	e 106 A 30067
Agency	Notes:	<b>Supplier Notes:</b> Pricing is s Depending on quantities or manufacturer as well.		ufacturer increases on product. d ship directly from the
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	\$298.65	1 / each	\$298.65
Product			nis item is spec	ial order and ships directly from time for delivery.
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	\$341.76	1 / each	\$341.76
Product			nis item is spec	ial order and ships directly from time for delivery.
25107-	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	\$384.93	1 / each	\$384.93

-01-03			
Product Code:	Supplier Product Code: RJ-3035B		
Agency Notes:	Supplier Notes:		
25107- Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer -01-04	\$428.03 1 / each \$428.03		
Product Code:	Supplier Product Code: 3055WB		
Agency Notes:	Supplier Notes:		
25107- -01-05 Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$449.75 1 / each \$449.75		
Product Code:	Supplier Product Code: RJ2030		
Agency Notes:	Supplier Notes:		
25107- -01-06 Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$526.25 1 / each \$526.25		
Product Code:	Supplier Product Code: RJ2050		
Agency Notes:	Supplier Notes:		
25107- -01-07 Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$677.15 1 / each \$677.15		
Product Code:	Supplier Product Code: RJ2140		
Agency Notes:	Supplier Notes:		
25107- Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08	\$752.56 1 / each \$752.56		
Product Code:	Supplier Product Code: RJ2150		
Agency Notes:	Supplier Notes:		
25107- -01-09 Mobile Printers: Brother Rugged Jet 3230BL - First Offer	\$625.46 1 / each \$625.46		
Product Code:	Supplier Product Code: RJ3230BL		
Agency Notes:	Supplier Notes:		
25107- Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer -01-10	\$645.95 1 / each \$645.95		
Product Code:	Supplier Product Code: RJ-3230B-LCP		
Agency Notes:	Supplier Notes:		
25107- Mobile Printers: Brother Rugged Jet 3250WBL - First Offer -01-11	\$663.18 1 / each \$663.18		
Product Code:	Supplier Product Code: RJ3250WBL		
Agency Notes:	Supplier Notes:		
25107- -01-12 Mobile Printers: Brother Rugged Jet WBLCP - First Offer	\$683.66 1 / each \$683.66		
Product Code:	Supplier Product Code: RJ-3250WB-LCP		
Agency Notes:	Supplier Notes:		
25107- -01-13 Mobile Printers: Brother Rugged Jet 4230B - First Offer	\$644.61 1 / each \$644.61		
Product Code:	Supplier Product Code: RJ4230B		
Agency Notes:	Supplier Notes:		
25107- -01-14 Mobile Printers: Brother Rugged Jet 4230BL - First Offer	\$713.81 1 / each \$713.81		
Product Code:	Supplier Product Code: RJ4230BL		
Agency Notes:	Supplier Notes:		
25107- -01-15 Mobile Printers: Brother Rugged Jet 4250WB - First Offer	\$721.40 1 / each \$721.40		
Product Code:	Supplier Product Code: RJ-4250WB		
Agency Notes:	Supplier Notes:		
25107- Mobile Printers: Brother Rugged Jet 4250WBL - First Offer -01-16	\$760.65 1 / each \$760.65		
Product Code:	Supplier Product Code: RJ4250WBL		
Agency Notes:	Supplier Notes:		

			Lot Total: \$9,317.80
Item # Line Item	Unit Price	Qty/Unit	Total Price
25107- Additional Mobile Printers: Manufacturer's Price List, Catalog, -02-01 or Website - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:	Supplier Product Code: Brother Printer Page Supplier Notes: 0-30% https://www.brother-usa.com/business		Page Lot Total: \$0.00
Item Line Item	Unit Price	Qty/Unit	Total Price
#     25107-       Mobile Printer Accessories: Manufacturer's Price List, Catalog, -03-01       or Website - First Offer	0.00%	1 / each	0.00%
-03-01 or Website - First Offer Product Code: Agency Notes:	er       Supplier Product Code: Brother Accessories         Supplier Notes:       https://www.brother-usa.com/supplies/printer-accessories		
			Lot Total: \$0.00
Item # Line Item	Unit Price	Qty/Unit	Total Price
25107- Extended Warranty: Extended Warranty - First Offer -04-01		1 / each	
Product Code: Agency Notes:	Supplier Product Code: Br Supplier Notes: 1) https://v 2) https://www.brother-usa. 3) https://www.brother-usa.	vww.brother-u .com/warranty	isa.com/ema-faq ⁄-information
			Lot Total: \$0.00
Item # Line Item	Unit Price	Qty/Unit	Total Price
25107- Attachments: W-9 - First Offer -05-01		1 / each	
Product Code: Agency Notes:	Supplier Product Code: W- Supplier Notes: W-9 Form physical form to submit and	and Exception	for Notary Signature - Need Lot Total: \$0.00

Inland Associates, Inc.

Bid Contact Peggy Meader

Address 18965 W. 158th

## pmeader@inlandassoc.com **Olathe, KS 66062** Ph 913-764-7977 Fax 913-764-8721 Agency Notes: **Supplier Notes:** Item Line Item **Unit Price** Qty/Unit **Total Price** # 25107-Mobile Printers: Brother Rugged Jet Go 2035B - First Offer \$345.00 1 / each \$345.00 -01-01 **Product Code:** Supplier Product Code: RJ2035B Agency Notes: Supplier Notes: Qty 1-10 3-5 days ARO 10% off list 25107-\$386.00 1 / each \$386.00 Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer -01-02 **Product Code:** Supplier Product Code: RJ2055WB **Agency Notes:** Supplier Notes: Qty 11-50 3-5 days ARO 10% off list 25107-Mobile Printers: Brother Rugged Jet Go 3035B - First Offer \$435.00 1 / each \$435.00 -01-03 Product Code: Supplier Product Code: RJ3035B Supplier Notes: Qty 51-100 Agency Notes: 3 -5 days ARO 10% off list

25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	\$479.00	1 / each	\$479.00
Product ( Agency N	lotes:	Supplier Product Code: RJ3 Supplier Notes: Qty 101-20 3-5 days ARO 10% off list	00	
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$594.00	1 / each	\$594.00
Product ( Agency N		Supplier Product Code: RJ2 Supplier Notes: Qty 1-10 3-5 days ARO 10% off list #RDR01U1 Zebra Labels - \$		
25107- -01-06	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$686.00	1 / each	\$686.00
Product ( Agency N		Supplier Product Code: RJ2 Supplier Notes: Qty 11-50 3-5 days ARO 10% off list #RDR01U1, Zebra labels \$1		
25107- -01-07	Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$874.00	1 / each	\$874.00
Product ( Agency N		Supplier Product Code: RJ2 Supplier Notes: Qty 51-100 3-5 days ARO 10% off list		

ers and Accessories its	s Trusts		
25107- Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08	\$962.00	1 / each	\$962.00
Product Code: Agency Notes:	Supplier Product Code: RJ2 Supplier Notes: Qty 101-20 3-5 days ARO 10% off list		
25107- Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09	\$825.00	1 / each	\$825.00
Product Code: Agency Notes:	<b>Supplier Product Code:</b> RJ3 <b>Supplier Notes:</b> Qty 1 -10 3-5 days ARO 10% off list	3230BL	
25107- Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer -01-10	\$843.00	1 / each	\$843.00
Product Code: Agency Notes:	<b>Supplier Product Code:</b> RJ3 <b>Supplier Notes:</b> Qty 11-50 3-5 days ARO 10% off list	3230BL-CP	
25107- Mobile Printers: Brother Rugged Jet 3250WBL - First Offer -01-11	\$857.00	1 / each	\$857.00
Product Code: Agency Notes:	Supplier Product Code: RJ3 Supplier Notes: Qty 51-100 3-5 days ARO 10% off list		
25107- Mobile Printers: Brother Rugged Jet WBLCP - First Offer -01-12	\$874.00	1 / each	\$874.00
Product Code: Agency Notes:	Supplier Product Code: RJ3 Supplier Notes: Qty 101-20 3-5 days ARO 10% off list		

25107- -01-13	Mobile Printers: Brother Rugged Jet 4230B - First Offer	\$825.00	1 / each	\$825.00
Product Agency		Supplier Product Code: RJ Supplier Notes: Qty 51 - 10 3-5 days ARO 10% off list		
25107- -01-14	Mobile Printers: Brother Rugged Jet 4230BL - First Offer	\$914.00	1 / each	\$914.00
Product Agency		Supplier Product Code: RJ- Supplier Notes: Qty 101-20 3-5 days ARO 10% off list		<u></u>
25107- -01-15	Mobile Printers: Brother Rugged Jet 4250WB - First Offer	\$923.00	1 / each	\$923.00
Product Agency		Supplier Product Code: RJ- Supplier Notes: Qty 51-100 3-5 days ARO 10% off list		
25107- -01-16	Mobile Printers: Brother Rugged Jet 4250WBL - First Offer	\$962.00	1 / each	\$962.00
Product		Supplier Product Code: RJ- Supplier Notes: Qty 101 - 2 3-5 days ARO 10% off list		
		I		Lot Total: \$11,784.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -02-01	Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website - First Offer		1 / each	10.00%

Product Code:

# City of Oklahoma City and

		,
its	Trusts	

Supplier Product Code: Other Brother Mobile Printers
Supplier Notes:

Agency Notes: Supplier Notes:				
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -03-01	Mobile Printer Accessories: Manufacturer's Price List, Catalog, or Website - First Offer		1 / each	20.00%
Product	t Code:	Supplier Product Code:		
Agency	Notes:	Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price

Product Agency		Supplier Product Code: Supplier Notes:		
-04-01				
25107-	Extended Warranty: Extended Warranty - First Offer		1 / each	
π				

Lot Total: \$0.00

ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -05-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

SENCO	OMMUNICATIONS, INC.			\$12,336.45	(20/20 items)	
Bid Cor Bid No	ntact STACIE MILLER rgeneral@sencomm.com Ph 813-626-4404 tes The Technical Questionnaire was uploaded to tl	Address <b>912 Chad Lane</b> TAMPA, FL 33619 the duplicate MSRP price list tab.				
Agency Notes:		Supplier Notes: The Techn duplicate MSRP price list tak	-	aire was upload	ed to the	
ltem #	Line Item	Unit Price	Qty/Unit		Total Price	
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	\$353.40	1 / each		\$353.40	
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2035B			
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	\$404.55	1 / each		\$404.55	
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2055WB			
25107- -01-03	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	\$455.70	1 / each		\$455.70	
Product Agency		Supplier Product Code: RJ Supplier Notes:	3035B	1		
25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	\$506.85	1 / each		\$506.85	
Product Agency		Supplier Product Code: RJ Supplier Notes:	3055WB	·		
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$609.15	1 / each		\$609.15	
Product	t Code:	Supplier Product Code: RJ2	2030			

Agency	Notes:	Supplier Notes:		
25107- -01-06	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$711.45	1 / each	\$711.45
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2050	
25107- -01-07	Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$916.05	1 / each	\$916.05
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2140	
25107- -01-08	Mobile Printers: Brother Rugged Jet 2150 - First Offer	\$1,018.35	1 / each	\$1,018.35
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2150	
25107- -01-09	Mobile Printers: Brother Rugged Jet 3230BL - First Offer	\$846.30	1 / each	\$846.30
Product Agency		Supplier Product Code: RJ Supplier Notes:	3230BL	
25107- -01-10	Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer	\$874.20	1 / each	\$874.20
Product Agency		Supplier Product Code: RJ Supplier Notes:	3230BL-CP	
25107- -01-11	Mobile Printers: Brother Rugged Jet 3250WBL - First Offer	\$897.45	1 / each	\$897.45
Product Agency		Supplier Product Code: RJ Supplier Notes:	3250WBL	
25107- -01-12	Mobile Printers: Brother Rugged Jet WBLCP - First Offer	\$925.35	1 / each	\$925.35
Product Agency		Supplier Product Code: RJ Supplier Notes:	3250WBL-CP	
25107- -01-13	Mobile Printers: Brother Rugged Jet 4230B - First Offer	\$864.90	1 / each	\$864.90
Product Agency		Supplier Product Code: RJ4 Supplier Notes:	4230B	
25107- -01-14	Mobile Printers: Brother Rugged Jet 4230BL - First Offer	\$967.20	1 / each	\$967.20
Product Agency		Supplier Product Code: RJ4 Supplier Notes:	4230BL	
25107- -01-15	Mobile Printers: Brother Rugged Jet 4250WB - First Offer	\$967.20	1 / each	\$967.20
Product Agency		Supplier Product Code: RJ4 Supplier Notes:	4250WB	
25107- -01-16	Mobile Printers: Brother Rugged Jet 4250WBL - First Offer	\$1,018.35	1 / each	\$1,018.35
Product Agency		Supplier Product Code: RJ4 Supplier Notes:	4250WBL	
				Lot Total: \$12,336.45
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -02-01	Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website - First Offer	7.00%	1 / each	7.00%
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem	Line Item	Unit Price	Qty/Unit	Total Price

	Accessories its			
#				
25107- -03-01	Mobile Printer Accessories: Manufacturer's Price List, Catalog, or Website - First Offer	0.00%	1 / each	0.009
	t Code: Notes:	Supplier Product Code: Supplier Notes: Technical (	Questionnaire	uploaded here
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
25107- -04-01	Extended Warranty: Extended Warranty - First Offer		1 / each	
Produc Agency				nm's offer of 7% off of MSRP. 's Extended Warranty program.
_				Lot Total: \$0.0
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
25107- -05-01	Attachments: W-9 - First Offer		1 / each	
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		- -
		1		Lot Total: \$0.0
<b>Howa</b> Bid Co	rd Technology Solutions ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077		36 Howard I Ellisville, MS	Drive
Bid Co	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG			Drive
Bid Co Qualifi Bid No	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG			Drive
Bid Co Qualifi Bid No Agency Item	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21%			Drive 5 39437
Bid Co Qualifi Bid No Agency Item # 25107-	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21%	Supplier Notes: 3-21% Unit Price	Ellisville, MS	Drive 5 39437 Total Pric
Bid Co Qualifi Bid No Agency Item # 25107- 01-01 Produc	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code:	Supplier Notes: 3-21% Unit Price	Ellisville, MS Qty/Unit	Drive 5 39437 Total Pric
Bid Co Qualifi Bid No Agency Item # 25107- -01-01 Produc Agency 25107-	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code:	Ellisville, MS Qty/Unit	Drive 5 39437 Total Pric \$366.0
Bid Co Qualifi Bid No Agency Item # 25107- 01-01 Produc Agency 25107- 01-02 Produc	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes:	Ellisville, MS Qty/Unit 1 / each	Drive 5 39437 Total Pric \$366.0
Bid Co Qualifi Bid No Agency 1tem # 25107- -01-01 25107- 01-02 Produc Agency 25107- 25107-	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes: \$418.00 Supplier Product Code:	Ellisville, MS Qty/Unit 1 / each	Drive 5 39437 Total Price \$366.0 \$418.0
Bid Co Qualifi Bid No Agency Item # 25107- 01-01 Produc Agency 25107- 01-02 Produc Agency 25107- 01-03 Produc	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes: \$418.00 Supplier Product Code: Supplier Notes:	Ellisville, MS Qty/Unit 1 / each 1 / each	Drive 5 39437 Total Price \$366.0 \$418.0
Bid Co Qualifi Bid No Agency 1tem # 25107- 01-01 25107- 01-02 Producc Agency	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes: \$418.00 Supplier Product Code: Supplier Notes: \$471.00 Supplier Product Code:	Ellisville, MS Qty/Unit 1 / each 1 / each	Drive 5 39437 Total Price \$366.0 \$418.0 \$418.0
Bid Co Qualifi Bid No Agency Item # 25107- 01-01 Produc Agency 25107- 01-02 Produc Agency 25107- 01-03 Produc Agency 25107- 01-03 Produc Agency 25107- 01-04 Produc Agency	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 Cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 3035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes: \$418.00 Supplier Product Code: Supplier Notes: \$471.00 Supplier Product Code: Supplier Notes:	Ellisville, MS Qty/Unit 1 / each 1 / each 1 / each	Drive 5 39437 Total Price \$366.0 \$418.0 \$471.0
Bid Co Qualifi Bid No Agency Item # 25107- 01-01 Produc Agency 25107- 01-02 Produc Agency 25107- 01-03 Produc Agency 25107- 01-03 Produc Agency 25107- 01-04 Produc Agency 25107- 01-04 Produc	ntact Melissa Reeves bids@howardcomputers.com Ph 601-425-3181 Fax 601-399-5077 Cations CS ARCH ENG ites 3-21% Notes: Line Item Mobile Printers: Brother Rugged Jet Go 2035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 3035B - First Offer t Code: Notes: Mobile Printers: Brother Rugged Jet Go 3035B - First Offer t Code: Notes:	Supplier Notes: 3-21% Unit Price \$366.00 Supplier Product Code: Supplier Notes: \$418.00 Supplier Product Code: Supplier Notes: \$471.00 Supplier Product Code: Supplier Notes: \$523.00 Supplier Product Code:	Ellisville, MS Qty/Unit 1 / each 1 / each 1 / each	Drive

25107- -01-06Mobile Printers: Brother Rugged Jet 2050 - First Offer Supplier Product Code: Agency Notes:\$1 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:1 / each25107- -01-07Mobile Printers: Brother Rugged Jet 2140 - First Offer -01-07\$946.001 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08\$upplier Notes:1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08\$1,051.001 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09\$1,051.001 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:1 / each25107- -01-09Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09\$874.001 / eachProduct Code: Supplier Notes:\$874.001 / each	\$734
Agency interserveSupplier Notes:25107- -01-07Mobile Printers: Brother Rugged Jet 2140 - First Offer Agency interserve\$946.001 / eachProduct Code: Agency interserveSupplier Product Code: Supplier Notes:\$1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08\$1,051.001 / eachProduct Code: Supplier Notes:\$1 / each\$1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09\$1 / each1 / each25107- -01-09Mobile Printers: Brother Rugged Jet 3230BL - First Offer - Supplier Notes:\$1 / each1 / each25107- -01-09Mobile Printers: Brother Rugged Jet 3230BL - First Offer - Supplier Notes:\$1 / each1 / eachProduct Code: - Supplier Product Code:\$874.001 / each\$1 / each	\$1,051
25107- -01-07Mobile Printers: Brother Rugged Jet 2140 - First Offer -01-07\$946.001 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:25107- -01-08Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08\$1,051.001 / eachProduct Code: Agency Notes:Supplier Product Code: \$1,051.001 / eachProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:1 / each25107- -01-08Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09\$874.001 / each25107- -01-09Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09\$874.001 / eachProduct Code: -01-09\$1 / each\$1 / each\$1 / each	\$1,051
Agency Votes:         Supplier Notes:           25107- -01-08         Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08         \$1,051.00         1 / each           Product Code: Agency Votes:         Supplier Product Code: Supplier Notes:           25107- -01-09         Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09         \$874.00         1 / each           Product Code:         Supplier Product Code:         \$874.00         1 / each	
25107- -01-08       Mobile Printers: Brother Rugged Jet 2150 - First Offer -01-08       \$1,051.00       1 / each         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes:       1 / each         25107- -01-09       Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09       \$874.00       1 / each         Product Code:       Supplier Product Code:       \$874.00       1 / each	
Agency Notes:         Supplier Notes:           25107- -01-09         Mobile Printers: Brother Rugged Jet 3230BL - First Offer         \$874.00         1 / each           Product Code:         Supplier Product Code:         \$1000000000000000000000000000000000000	
25107-       Mobile Printers: Brother Rugged Jet 3230BL - First Offer       \$874.00       1 / each         -01-09       Product Code:       Supplier Product Code:	
	\$874
Agency Notes: Supplier Notes:	
25107- -01-10 Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer \$903.00 1 / each	\$903
Product Code:     Supplier Product Code:       Agency Notes:     Supplier Notes:	
25107- -01-11Mobile Printers: Brother Rugged Jet 3250WBL - First Offer\$926.001 / each	\$926
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
25107- -01-12 Mobile Printers: Brother Rugged Jet WBLCP - First Offer \$955.00 1 / each	\$955
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
25107- -01-13 Mobile Printers: Brother Rugged Jet 4230B - First Offer \$887.99 1 / each	\$887
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
25107- -01-14 Mobile Printers: Brother Rugged Jet 4230BL - First Offer \$998.00 1 / each	\$998
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
25107- -01-15Mobile Printers: Brother Rugged Jet 4250WB - First Offer\$998.001 / each	\$998
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
25107- -01-16 Mobile Printers: Brother Rugged Jet 4250WBL - First Offer \$1,051.00 1 / each	\$1,051
Product Code:     Supplier Product Code:       Agency Notes:     Supplier Notes:	
Lot Tota	<b>al:</b> \$12,730
Item #Line ItemUnit PriceQty/Unit	Total P
25107- -02-01Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website - First Offer3.00%1 / each	3.0
Product Code:       Supplier Product Code:         Agency Notes:       Supplier Notes: 3-21%	

ers and A	Accessories it	s Trusts		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -03-01	Mobile Printer Accessories: Manufacturer's Price List, Catalog or Website - First Offer		1 / each	3.00%
Product Agency		Supplier Product Code: Supplier Notes: 3-21%		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -04-01	Extended Warranty: Extended Warranty - First Offer	ſ	1 / each	
Product Code: Supplier Product Code: Warranty				
Agency	Notes:	Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -05-01	Attachments: W-9 - First Offer	r	1 / each	
Product Agency		Supplier Product Code: Was Supplier Notes:	-9	
				Lot Total: \$0.00
Bid Co	ntact Emma Phillips estimating@techsico.com Ph 918-585-2347		0 S Hudson / Ilsa, OK 7411	
Agency	Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	\$376.20	1 / each	\$376.20
Product Agency		Supplier Product Code: Supplier Notes:		
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	\$430.65	1 / each	\$430.65
Product Agency		Supplier Product Code: Supplier Notes:		
25107- -01-03	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	\$485.10	1 / each	\$485.10
Product Agency		Supplier Product Code: Supplier Notes:		
25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	\$539.55	1 / each	\$539.55
Product Agency		Supplier Product Code: Supplier Notes:		
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$648.45	1 / each	\$648.45
Product		Supplier Product Code:		
Agency		Supplier Notes:	4.4.	1757
25107- -01-06	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$757.35	1 / each	\$757.35
Product	t Code:	Supplier Product Code:		

\$975.15
\$975.15
\$1,084.05
\$900.90
\$930.60
\$955.35
\$985.05
\$920.70
\$1,029.60
\$1,029.60
\$1,084.05
otal: \$13,132.35
Total Price
1.00%
Lot Total: \$0.00
Total Price

nters and A	Accessories	ts Trusts		
-03-01	Catalog, or Website - First Offer			
Product Agency		Supplier Product Code: Supplier Notes: https://www.brother- usa.com/business/mobile/printers#sort=relevancy		elevancy
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107-	Extended Warranty: Extended Warranty - First Offer		1 / each	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 1 year manufacturer warran					
				<b>Lot Total:</b> \$0.00			
ltem							

#		OnitPrice	Qty/onit	Total Price
25107-	Attachments: W-9 - First Offer		1 / each	
-05-01 Product	t Code:	Supplier Product Code:		
Agency		Supplier Notes:		
				<b>Lot Total:</b> \$0.00

Pacific	East Industries			\$13,220.00 (20/20 items)
Bid Co Supplie	ntact lisa showalter lisa@paceast.net Ph 805-480-3741 er Code 203-67	Address <b>4409 camino de las estrellas</b> newbury park, CA 91320		
Agency	Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	- \$375.00	1 / each	\$375.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	- \$430.00	1 / each	\$430.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-03	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	- \$485.00	1 / each	\$485.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	- \$540.00	1 / each	\$540.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	- \$650.00	1 / each	\$650.00
Produc Agency		Supplier Product Code: Supplier Notes:		

25107-	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$760.00	1 / each	\$76
-01-06				
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-07	Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$980.00	1 / each	\$98
Produc Agency		Supplier Product Code: Supplier Notes:	·	
25107- -01-08	Mobile Printers: Brother Rugged Jet 2150 - First Offer	\$1,090.00	1 / each	\$1,090
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-09	Mobile Printers: Brother Rugged Jet 3230BL - First Offer	\$905.00	1 / each	\$905
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-10	Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer	\$935.00	1 / each	\$935
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-11	Mobile Printers: Brother Rugged Jet 3250WBL - First Offer	\$960.00	1 / each	\$960
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-12	Mobile Printers: Brother Rugged Jet WBLCP - First Offer	\$990.00	1 / each	\$990
Produc Agency		Supplier Product Code: Supplier Notes: RJ3250WBL-CP		
25107- -01-13	Mobile Printers: Brother Rugged Jet 4230B - First Offer	\$925.00	1 / each	\$925
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-14	Mobile Printers: Brother Rugged Jet 4230BL - First Offer	\$1,035.00	1 / each	\$1,03
Produc Agency		Supplier Product Code: Supplier Notes:		
25107- -01-15	Mobile Printers: Brother Rugged Jet 4250WB - First Offer		1 / each	\$1,035
Product Agency		Supplier Product Code: Supplier Notes:	II	
25107- -01-16	Mobile Printers: Brother Rugged Jet 4250WBL - First Offer	\$1,125.00	1 / each	\$1,12
Produc Agency		Supplier Product Code: Supplier Notes:	ıI	
				Lot Total: \$13,220
ltem #	Line Item	Unit Price	Qty/Unit	Total P
25107- -02-01	Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website - First Offer	12.00%	1 / each	12.0
Produc	t Code: Notes:	Supplier Product Code: Supplier Notes: Pacific Eas	t hide cost +1204 or	

ers and <i>l</i>	Accessories its	s Trusts		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -03-01	Mobile Printer Accessories: Manufacturer's Price List, Catalog, or Website - First Offer		1 / each	12.00%
Produc Agency		Supplier Product Code: Supplier Notes: Pacific East bids cost +12% of	on all products	required in this bid
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -04-01	Extended Warranty: Extended Warranty - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes: Pacific East bids cost +12% on all products required in the bid		
		·		<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -05-01	Attachments: W-9 - First Offer		1 / each	
Produc Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
SMAR	T IT PROS INC			\$12,520.54 (18/20 items)
Bid Co	ntact David Thomas	Address	900 W Unive	arsity Dr

Bid Contact David Thomas dave.thomas@smartitpros.com Ph 734-238-1553 Address 900 W University Dr Rochester, MI 48307

Qualifications MBE

Agency	Notes:	Supplier Notes:		1
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25107- -01-01	Mobile Printers: Brother Rugged Jet Go 2035B - First Offer	\$356.44	1 / each	\$356.44
Product Code:     Supplier Product Code: RJ2035B       Agency Notes:     Supplier Notes:				
25107- -01-02	Mobile Printers: Brother Rugged Jet Go 2055WB - First Offer	\$407.44	1 / each	\$407.44
Product Agency		Supplier Product Code: RJ2055WB Supplier Notes:		
25107- -01-03	Mobile Printers: Brother Rugged Jet Go 3035B - First Offer	\$459.05	1 / each	\$459.05
Product Agency		Supplier Product Code: RJS Supplier Notes:	3035B	
25107- -01-04	Mobile Printers: Brother Rugged Jet Go 3055WB - First Offer	\$510.49	1 / each	\$510.49
Product Agency		Supplier Product Code: RJ Supplier Notes:	3055WB	
25107- -01-05	Mobile Printers: Brother Rugged Jet 2030 - First Offer	\$613.77	1 / each	\$613.77
Product Agency		Supplier Product Code: RJ2 Supplier Notes:	2030	
25107-	Mobile Printers: Brother Rugged Jet 2050 - First Offer	\$716.62	1 / each	\$716.62

ers and Accessories its	lahoma City and s Trusts 		
Product Code:	Supplier Product Code: RJ2	2050	
Agency Notes:	Supplier Notes:	2030	
25107- -01-07 Mobile Printers: Brother Rugged Jet 2140 - First Offer	\$922.66	1 / each	\$922.66
Product Code:	Supplier Product Code: RJ2	2140	
Agency Notes:	Supplier Notes:		
25107- -01-08 Mobile Printers: Brother Rugged Jet 2150 - First Offer	\$1,025.53	1 / each	\$1,025.53
Product Code: Agency Notes:	Supplier Product Code: RJ2 Supplier Notes:	2150	
25107- Mobile Printers: Brother Rugged Jet 3230BL - First Offer -01-09	\$852.60	1 / each	\$852.60
Product Code: Agency Notes:	Supplier Product Code: RJ3 Supplier Notes:	3230BL	
25107- -01-10 Mobile Printers: Brother Rugged Jet 3230BLCP - First Offer	\$880.67	1 / each	\$880.67
Product Code: Agency Notes:	Supplier Product Code: RJ3 Supplier Notes:	3230BL-CP	1
25107- -01-11 Mobile Printers: Brother Rugged Jet 3250WBL - First Offer		1 / each	\$904.05
Product Code: Agency Notes:	Supplier Product Code: RJ Supplier Notes:	3250WBL	
25107- -01-12 Mobile Printers: Brother Rugged Jet WBLCP - First Offer		1 / each	\$1,025.74
Product Code: Agency Notes:	Supplier Product Code: RJ4 Supplier Notes:	4250WBL	I
25107- -01-13 Mobile Printers: Brother Rugged Jet 4230B - First Offer		1 / each	\$871.21
Product Code: Agency Notes:	Supplier Product Code: RJ4 Supplier Notes:	4230B	1
25107- Mobile Printers: Brother Rugged Jet 4230BL - First Offer		1 / each	\$974.37
-01-14 Product Code:	Supplier Product Code: RJ4	4230BL	
Agency Notes: 25107- Mobile Printers: Brother Rugged Jet 4250WB - First Offer	Supplier Notes: \$974.16	1 / each	\$974.16
-01-15	\$974.10	17 each	\$974.10
Product Code: Agency Notes:	Supplier Product Code: RJ4 Supplier Notes:	4250WB	
25107- Mobile Printers: Brother Rugged Jet 4250WBL - First Offer -01-16	\$1,025.74	1 / each	\$1,025.74
	Supplier Product Code: RJ4		1
		+ZJUVVDL	
	Supplier Notes:	+23000BL	Lot Total: \$12,520.54
		Qty/Unit	Lot Total: \$12,520.54 Total Price
Agency Notes:       Item     Line Item       25107-     Additional Mobile Printers: Manufacturer's Price List,	Supplier Notes:		
# Line Item	Supplier Notes: Unit Price Supplier Product Code:		Total Price
Item #       Line Item         25107- -02-01       Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website	Supplier Notes: Unit Price		Total Price
Item #       Line Item         25107- -02-01       Additional Mobile Printers: Manufacturer's Price List, Catalog, or Website	Supplier Notes: Unit Price Supplier Product Code:		Total Price No Bids

00.04		Trusts	1	
-03-01	Catalog, or Website			
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.0
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
25107- -04-01	Extended Warranty: Extended Warranty - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.0
ltem #	Line Item	Unit Price	Qty/Unit	Total Prie
25107- -05-01	Attachments: W-9 - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.0

Tresha Williams City Clerk Chad Harrison Purchasing Agent Tim Alvarez Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

### **Bid #25700 - GENERATORS FOR BRICKTOWN CANAL**

Creation Date Start Date	• •	End Date May 22, 2 Awarded Date Not Yet A	2024 10:00:00 Awarded	AM CDT
	Way 1, 2024 7.49.55 AM CD1		warucu	
Moleaer				\$100,171.75 (4/4 items)
Bid Contact	Todd Olson		82 W. El Segu	
	<u>todd@moleaer.com</u> Ph 941-457-7687	Ha	wthorne, CA	90250
Qualifications	s CS ARCH ENG			
Agency Notes	:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570001-01	Delivery: In Stock - First Offer		1 / each	
Item # 2570002-01 Product Code:	Line Item Labor: Labor Rate - First Offer	Unit Price \$250.00 Supplier Product Code:	<b>Qty/Unit</b> 1 / hour	Lot Total: \$0.00 Total Price \$250.00
Agency Notes	:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Lot Total: \$250.00 Total Price
1.0111#			-	
2570003-01	ElXen Price' Generator - Eirst Offer	\$99.921.75	1/each	\$99 921 75
2570003-01 Product Code: Agency Notes		Supplier Product Code:	1 / each e attached quo	\$99,921.75 te sheet for unit pricing and
Product Code:		Supplier Product Code: Supplier Notes: Please se		I
Product Code:		Supplier Product Code: Supplier Notes: Please se		te sheet for unit pricing and
Product Code: Agency Notes		Supplier Product Code: Supplier Notes: Please set scope. Unit Price	e attached quo	te sheet for unit pricing and Lot Total: \$99,921.75
Product Code: Agency Notes Item #	Line Item Attachments: W-9 - First Offer	Supplier Product Code: Supplier Notes: Please set scope. Unit Price	e attached quo Qty/Unit	te sheet for unit pricing and Lot Total: \$99,921.75

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

### Bid #OCWUT 35-24 - Parts, Units, & Repair Services for Machinery

Creation Date Mar 25, 2024

Start Date Apr 10, 2024 7:47:27 AM CDT

End DateMay 22, 2024 10:00:00 AM CDTAwarded DateNot Yet Awarded

ENVIRONMENTAL I	IMPROVEMENTS, INC. (ei2)	\$400.00	(46/219 items)
Bid Contact <b>JAIMIE</b>	ALEMOND Address 517 N KEALY		
	r@ei2dallas.com LEWISVILLE, TX 76262 436-2536	2	
	430-2330	Supplier Notes:	
Agency Notes: Item #	Line Item	Unit Price Qty/U	nit Total Price
OCWUT 35-2401-01	Group 1 Air Compressors/Air Blowers: Allen Stuart	One Frice Quy/O	No Bids
Agency Notes:		Supplier Product Cod	
Agency Notes.		Supplier Notes:	
OCWUT 35-2401-02	Group 1 Air Compressors/Air Blowers: Atlas Copco - First Offer	20.00% 1 / eac	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Standard Price List are this Manufacturer due equipment. Price to be 20%.	not available for to the variability of
OCWUT 35-2401-03	Group 1 Air Compressors/Air Blowers: Campbell-Hausfield		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-04	Group 1 Air Compressors/Air Blowers: Curtis		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-05	Group 1 Air Compressors/Air Blowers: Dayton		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-06	Group 1 Air Compressors/Air Blowers: Gardner Denver		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-07	Group 1 Air Compressors/Air Blowers: Howden		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-08	Group 1 Air Compressors/Air Blowers: Ingersol Rand		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-09	Group 1 Air Compressors/Air Blowers: Lamson		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	2:
OCWUT 35-2401-10	Group 1 Air Compressors/Air Blowers: Quincy		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-11	Group 1 Air Compressors/Air Blowers: Roots Dresser		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-12	Group 1 Air Compressors/Air Blowers: Speed Air		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	
OCWUT 35-2401-13	Group 1 Air Compressors/Air Blowers: Sullair		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	
OCWUT 35-2401-14	Group 1 Air Compressors/Air Blowers: Sulzer-Turbo Blower		No Bids
Agency Notes:		Supplier Product Cod Supplier Notes:	e:
OCWUT 35-2401-15	Group 1 Air Compressors/Air Blowers: Ultra-Web		No Bids

gency Notes:		Supplier Product Code: Supplier Notes:			
		[`	supplier root		: <b>Total:</b> \$0.00
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
OCWUT 35-2402-01	Group 2 Pumps: Allis Chalmers				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-02	Group 2 Pumps: American Turbine				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-03	Group 2 Pumps: Aurora				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-04	Group 2 Pumps: Barnes Pumps				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-05	Group 2 Pumps: Chicago				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-06	Group 2 Pumps: Dayton				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-07	Group 2 Pumps: Denver				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-08		Group 2 Pumps: Ebarra - First Offer	20.00%	1 / each	20.00%
Agency Notes:		t z	Supplier Note Standard Price this Manufactu equipment. Pr 20%.	List are not a urer due to the ice to be List F	e variability of Price plus
OCWUT 35-2402-09		Group 2 Pumps: Evoqua - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		s t t	Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> List are not a urer due to the	e variability of
OCWUT 35-2402-10	Group 2 Pumps: Fairbanks Morse				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-11	Group 2 Pumps: Floserve				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-12	Group 2 Pumps: Floway				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-13 Agency Notes:	Group 2 Pumps: Flygt		Supplier Prod Supplier Note		No Bids
OCWUT 35-2402-14	Group 2 Pumps: Franklin Electric				No Bids
Agency Notes:			Supplier Prod Supplier Note		
OCWUT 35-2402-15 Agency Notes:	Group 2 Pumps: Gardner Denver		Supplier Prod		No Bids
	Group 2 Pumper Corman Pupp		Supplier Note	:5.	No Dide
OCWUT 35-2402-16 Agency Notes:	Group 2 Pumps: Gorman Rupp		Supplier Prod Supplier Note		No Bids
OCWUT 35-2402-17	Group 2 Pumps: Gould				No Bids
Agency Notes:			Supplier Prod		.10 0103
		2	Supplier Note	es:	

Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-19 Group 2 Pumps: Hale	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-20 Group 2 Pumps: Hayward Gordon	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-21 Group 2 Pumps: Hydroflo	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-22 Group 2 Pumps: Jesco Chem Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-23 Group 2 Pumps: Komeline Sanderson Piston Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-24 Group 2 Pumps: Landia	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-25 Group 2 Pumps: Milton Roy	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-26 Group 2 Pumps: Morris	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-27 Group 2 Pumps: Moyno - First O	ffer 20.00% 1 / each 20.00%
	this Manufacturer due to the variability of equipment. Price to be List Price plus 20%.
OCWUT 35-2402-28 Group 2 Pumps: Myers	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-29 Group 2 Pumps: National	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-30 Group 2 Pumps: Netzsch	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-31 Group 2 Pumps: Peerless	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-32 Group 2 Pumps: Roto Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-33 Group 2 Pumps: Sulzer	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-34 Group 2 Pumps: Summit	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-35 Group 2 Pumps: Vaughn Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-36 Group 2 Pumps: Viking Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:

OCWUT 35-2402-37	Group 2 Pumps: Vogelsang Pumps - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> List are not urer due to t	ne variability of
OCWUT 35-2402-38	Group 2 Pumps: Pentair			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-39	Group 2 Pumps: Warman - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note not available for the variability of List Price plus	<b>es:</b> Standard or this Manu of equipmen	facturer due to
OCWUT 35-2402-40	Group 2 Pumps: Watson Marlow - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> e List are not urer due to t	ne variability of
OCWUT 35-2402-41	Group 2 Pumps: Wemco			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-42	Group 2 Pumps: Zoeller			No Bids
Agency Notes:		Supplier Prod Supplier Note	es:	
ltem #	Line Item	Unit Price	Qty/Unit	ot Total: \$0.00 Total Price
OCWUT 35-2403-01	Group 3 Chemical Feed Equipment: Capitol Controls	onicrite	Qty/offic	No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-02	Group 3 Chemical Feed Equipment: Fisher			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-03	Group 3 Chemical Feed Equipment: Hach			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-04	Group 3 Chemical Feed Equipment: LMI Miltron Roy - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> List are not urer due to t	ne variability of Price plus
OCWUT 35-2403-05	Group 3 Chemical Feed Equipment: Pennwalt	Supplier Prod	uct Code:	No Bids
Agency Notes:		Supplier Prod		
OCWUT 35-2403-06	Group 3 Chemical Feed Equipment: Periflo			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-07	Group 3 Chemical Feed Equipment: Prominent			No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-08	Group 3 Chemical Feed Equipment: Pulsar			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-09	Group 3 Chemical Feed Equipment: Siemens - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	e <b>s:</b> List are not a urer due to th	e variability of
OCWUT 35-2403-10	Group 3 Chemical Feed Equipment: Stenner			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-11	Group 3 Chemical Feed Equipment: Tomco			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-12	Group 3 Chemical Feed Equipment: UGSI - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note not available fo the variability o List Price plus 2	e <b>s:</b> Standard F or this Manuf of equipment	acturer due to
OCWUT 35-2403-13	Group 3 Chemical Feed Equipment: Wallace and Tierman - First Offer	20.00%	1 / each	20.00%
		Standard Price this Manufactu equipment. Pri 20%.	irer due to th ice to be List	e variability of
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2404-01	Group 4 Electrical Equipment: ABB-Variable Frequency Drive and Switch Gear			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-02	Group 4 Electrical Equipment: Allen Bradley			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-03	Group 4 Electrical Equipment: Allied Telesyn International			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-04	Group 4 Electrical Equipment: American Vacuum Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-05	Group 4 Electrical Equipment: Arco Wand Vacuum System			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-06	Group 4 Electrical Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-07	Group 4 Electrical Equipment: Baldor			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-08	Group 4 Electrical Equipment: Contrex			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-09	Group 4 Electrical Equipment: Cryogenitics			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-10	Group 4 Electrical Equipment: Cutler Hammer			No Bids

Agency Notes:		Supplier Prod Supplier Note	upplier Product Code: upplier Notes:		
OCWUT 35-2404-11	Group 4 Electrical Equipment: Dwyer - First Offer	20.00%	1 / each	20.00%	
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	e <b>s:</b> List are not urer due to t	he variability of	
OCWUT 35-2404-12	Group 4 Electrical Equipment: Eagle Signal			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-13	Group 4 Electrical Equipment: Effectar Controls			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-14	Group 4 Electrical Equipment: Endress Houser - First Offer		1 / each	20.00%	
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	e <b>s:</b> List are not urer due to t	he variability of	
OCWUT 35-2404-15	Group 4 Electrical Equipment: Federal Signal			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-16	Group 4 Electrical Equipment: Flowline Instruments			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-17	Group 4 Electrical Equipment: Forceflow Equipment - First Offer	20.00%	1 / each	20.00%	
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	e <b>s:</b> List are not urer due to t	he variability of	
OCWUT 35-2404-18	Group 4 Electrical Equipment: General Electric - Motor Controls, Variable Speed Pump Controls, & Switch Gear			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-19	Group 4 Electrical Equipment: Honeywell Instruments			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-20	Group 4 Electrical Equipment: Idec Controls			No Bids	
Agency Notes:		Supplier Prod Supplier Note	es:	1	
OCWUT 35-2404-21	Group 4 Electrical Equipment: Kinetrol - First Offer		1 / each	20.00%	
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	e <b>s:</b> List are not urer due to t	he variability of	
OCWUT 35-2404-22	Group 4 Electrical Equipment: Knife Batteries			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-23	Group 4 Electrical Equipment: Krohme Instruments			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-24	Group 4 Electrical Equipment: LeRoi - Natural Gas Engines & Medium & High Voltage Switch Gear			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-25	Group 4 Electrical Equipment: Marathon Motors			No Bids	
Agency Notes:		Supplier Prod Supplier Note			
OCWUT 35-2404-26	Group 4 Electrical Equipment: Materials Controls, Inc.			No Bids	
Agency Notes:		Supplier Prod Supplier Note			

Agency Notes:		Supplier Product Supplier Notes:	t Code:	
OCWUT 35-2405-09	Group 5 Gauges, Monitors, and Accessories: Magnitrol			No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 35-2405-08	Group 5 Gauges, Monitors, and Accessories: Honeywell	Cumulia D. 1		No Bids
Product Code: Agency Notes:		Supplier Product Supplier Notes: Standard Price Lis this Manufacturer equipment. Price 20%.	t <b>Code:</b> St are not a r due to th	available for ne variability c Price plus
OCWUT 35-2405-07	Group 5 Gauges, Monitors, and Accessories: Endress Hauser - First Offer	this Manufacturer equipment. Price 20%. 20.00% 1		
Product Code: Agency Notes:		Supplier Product Supplier Notes: Standard Price Lis	st are not a	
OCWUT 35-2405-06	Group 5 Gauges, Monitors, and Accessories: Dwyer - First Offer		/ each	20.00%
Agency Notes:		Supplier Product	t Code:	
OCWUT 35-2405-05	Group 5 Gauges, Monitors, and Accessories: Bindicator	Supplier Notes:		No Bids
OCWUT 35-2405-04 Agency Notes:	Group 5 Gauges, Monitors, and Accessories: Badger	Supplier Product	t Code <sup>.</sup>	No Bids
Product Code: Agency Notes:		Supplier Product Supplier Notes: Standard Price Lis this Manufacturer equipment. Price 20%.	st are not a r due to th	e variability o Price plus
OCWUT 35-2405-03	Group 5 Gauges, Monitors, and Accessories: Ashcroft - First Offer	I	/ each	20.00%
OCWUT 35-2405-02 Agency Notes:	Group 5 Gauges, Monitors, and Accessories: Action Industry	Supplier Product Supplier Notes:	t Code:	No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 35-2405-01	Group 5 Gauges, Monitors, and Accessories: Absolute Process Instruments		·	No Bids
ltem #	Line Item	Unit Price C	Lo ty/Unit	t Total: \$0.00 Total Pric
OCWUT 35-2404-33 Agency Notes:	Group 4 Electrical Equipment: Toshiba Drives and Motors	Supplier Product Supplier Notes:		No Bids
Agency Notes:		Supplier Product Supplier Notes: Standard Price Lis this Manufacturer equipment. Price 20%.	st are not a r due to th	e variability o Price plus
OCWUT 35-2404-32 Product Code:	Group 4 Electrical Equipment: Sew-Eurodrive - First Offer	20.00% 1 Supplier Product	/ each	20.00%
Agency Notes:		Supplier Product Supplier Notes:	t Code:	
OCWUT 35-2404-31	Group 4 Electrical Equipment: MVC - Surge Protector			No Bids
Agency Notes:		Supplier Product Supplier Notes:	t Code:	
OCWUT 35-2404-30	Group 4 Electrical Equipment: Murphy Switches	Supplier Notes:		No Bids
OCWUT 35-2404-29 Agency Notes:	Group 4 Electrical Equipment: Moxa	Supplier Product	Code:	No Bids
Agency Notes:		Supplier Product Supplier Notes:	t Code:	
OCWUT 35-2404-28	Group 4 Electrical Equipment: Mettler Toledo			No Bids
Agency Notes:		Supplier Product Supplier Notes:	t Code:	
Agency Notes:		Supplier Product	t Code:	

OCWUT 35-2405-10	Group 5 Gauges, Monitors, and Accessories: Mercoid			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-11	Group 5 Gauges, Monitors, and Accessories: Numatics			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-12	Group 5 Gauges, Monitors, and Accessories: Omega			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-13	Group 5 Gauges, Monitors, and Accessories: Reno A and E			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-14	Group 5 Gauges, Monitors, and Accessories: Rosemount - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> List are not urer due to tl	ne variability of
OCWUT 35-2405-15	Group 5 Gauges, Monitors, and Accessories: Universal - Flow Monitors			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-16	Group 5 Gauges, Monitors, and Accessories: Venture			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-17	Group 5 Gauges, Monitors, and Accessories: Wahl			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-18	Group 5 Gauges, Monitors, and Accessories: Weiss			No Bids
Agency Notes:		Supplier Prod Supplier Note		
			Lo	ot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2406-01	Group 6 Plant Equipment: Alfa Laval Presses - First Offer	-	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	<b>es:</b> List are not urer due to th	ne variability of
OCWUT 35-2406-02	Group 6 Plant Equipment: Assa Abloy Operators			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-03	Group 6 Plant Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-04	Group 6 Plant Equipment: BDP			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-05	Group 6 Plant Equipment: Bradley			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-06 Agency Notes:	Group 6 Plant Equipment: Caloritech Heaters	Supplier Prod	uct Code:	No Bids
		Supplier Note		
OCWUT 35-2406-07	Group 6 Plant Equipment: Caterpillar Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-08	Group 6 Plant Equipment: Chemical Storage Tanks - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu	e <b>s:</b> List are not	

	equipment. Price to be List Pr	ice plus
	20%.	
OCWUT 35-2406-09 Group 6 Plant Equipment: Chesterton		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-10 Group 6 Plant Equipment: Cla-Val		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-11 Group 6 Plant Equipment: Cleveland Mixer		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-12 Group 6 Plant Equipment: Conquest		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-13 Group 6 Plant Equipment: Conseco - Hydrated Lime System		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-14 Group 6 Plant Equipment: Cummins Equipment		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-15 Group 6 Plant Equipment: Dezurick Valves		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-16 Group 6 Plant Equipment: Dodge Gear Boxes		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-17 Group 6 Plant Equipment: EDI Diffusers		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-18 Group 6 Plant Equipment: EIMCO Process Equipment - First Offer	r 20.00% 1 / each	20.00%
Agency Notes:	Supplier Notes: Standard Price List are not aver this Manufacturer due to the equipment. Price to be List Pr 20%.	variability of
OCWUT 35-2406-19 Group 6 Plant Equipment: Epic Lubing Systems		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-20 Group 6 Plant Equipment: Evoqua Regulators and Injectors - First Offer	r 20.00% 1 / each	20.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Standard Price List are not aver this Manufacturer due to the equipment. Price to be List Pr 20%.	variability of
OCWUT 35-2406-21 Group 6 Plant Equipment: EVR		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-22 Group 6 Plant Equipment: Falk Gearboxes		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-23 Group 6 Plant Equipment: Febco		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-24 Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offer	r 20.00% 1 / each	20.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Standard Price List are not avaithis Manufacturer due to the equipment. Price to be List Pr 20%.	variability of
OCWUT 35-2406-25 Group 6 Plant Equipment: Fiberglass Doors and Windows		No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-26	Group 6 Plant Equipment: Fisher Controls Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-27	Group 6 Plant Equipment: FMC Link Belt Clarifier			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-28	Group 6 Plant Equipment: Fontaine Aquanox - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	e <b>s:</b> List are not a urer due to th	e variability of
OCWUT 35-2406-29	Group 6 Plant Equipment: Fuller Dust Collectors			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-30	Group 6 Plant Equipment: GA Industries - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	e <b>s:</b> List are not a urer due to th	e variability of
OCWUT 35-2406-31	Group 6 Plant Equipment: Garlock			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-32	Group 6 Plant Equipment: Halliday Products			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-33	Group 6 Plant Equipment: Haws			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-34	Group 6 Plant Equipment: Hollow Metal Doors and Windows			No Bids
Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2406-35	Group 6 Plant Equipment: Huber Grit - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	e <b>s:</b> List are not a urer due to th	e variability of
OCWUT 35-2406-36	Group 6 Plant Equipment: J&S Valve Hedflex			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-37	Group 6 Plant Equipment: JMS Augers and Conveyors - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	e <b>s:</b> List are not a urer due to th	e variability of
OCWUT 35-2406-38	Group 6 Plant Equipment: John Crane			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-39	Group 6 Plant Equipment: Jurassic Carbon			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-40	Group 6 Plant Equipment: Kome Line Presses			No Bids
Agency Notes:		Supplier Prod Supplier Note		

OCWUT 35-2406-41 Group 6 P	lant Equipment: Koyo Bearings		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-42 Group 6 P	lant Equipment: Kusters		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-43 Group 6 P	lant Equipment: Landshire Screws		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-44	Group 6 Plant Equipment: Leopard Filter Tile and Repair Parts - First Offer	20.00% 1 / eacl	ח 20.00%
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Standard Price List are it this Manufacturer due t equipment. Price to be 20%.	not available for to the variability of
OCWUT 35-2406-45 Group 6 P	lant Equipment: Liftmaster Doors		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-46 Group 6 P	lant Equipment: Lighting Flash Mixers		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-47 Group 6 P	lant Equipment: Limitorque		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-48 Group 6 P	lant Equipment: Link-Seal		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-49 Group 6 P	lant Equipment: Lovejoy		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-50 Group 6 P	lant Equipment: Martin Decker Load Cell Scales		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-51 Group 6 P	lant Equipment: Motorola Control Units		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-52 Group 6 P	lant Equipment: Muffin Monster		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	); 
OCWUT 35-2406-53	Group 6 Plant Equipment: Myers and Son - First Offer	20.00% 1 / eacl	n 20.00%
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Standard Price List are this Manufacturer due tequipment. Price to be 20%.	not available for to the variability of
OCWUT 35-2406-54 Group 6 P	lant Equipment: Nachi Technology		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-55 Group 6 P	lant Equipment: Nordic Water - Westech		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-56 Group 6 P	lant Equipment: Norit Carbon Systems		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-57 Group 6 P	lant Equipment: NSK Corporation		No Bids
Agency Notes:		Supplier Product Code Supplier Notes:	2:
OCWUT 35-2406-58 Group 6 P	lant Equipment: Omega Dust Collector		No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-59	Group 6 Plant Equipment: Onyx			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-60	Group 6 Plant Equipment: Ovivo - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	<b>s:</b> List are not a rer due to th	e variability of
OCWUT 35-2406-61	Group 6 Plant Equipment: Park Hannifer			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-62	Group 6 Plant Equipment: Philadelphia Mixers			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-63	Group 6 Plant Equipment: Pipe Linx			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-64	Group 6 Plant Equipment: Poly Blend - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	<b>s:</b> List are not rer due to th	e variability of
OCWUT 35-2406-65	Group 6 Plant Equipment: PPI			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-66	Group 6 Plant Equipment: Proco Products - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	<b>s:</b> List are not a rer due to th	e variability of
OCWUT 35-2406-67	Group 6 Plant Equipment: RDP Lime Systems			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-68	Group 6 Plant Equipment: Red Valve			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-69	Group 6 Plant Equipment: Rodney Hunt - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pri 20%.	<b>s:</b> List are not a rer due to th	e variability of
OCWUT 35-2406-70	Group 6 Plant Equipment: Rotalgn Laser Shaft Alignment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-71 Agency Notes:	Group 6 Plant Equipment: Roto Mix	Supplier Prod Supplier Note		No Bids
OCWUT 35-2406-72	Group 6 Plant Equipment: Rotork Actuators - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note not available fo the variability o List Price plus 2	<b>s:</b> Standard I or this Manuf of equipment	acturer due to

	Crown & Diant Fourier Sour Friendwise - First Office	20.00%	1/each	20.000/
OCWUT 35-2406-73 Product Code: Agency Notes:	Group 6 Plant Equipment: Sew-Eurodrive - First Offer	Supplier Proo Supplier Not	<b>duct Code:</b> es: Standard I for this Manuf of equipment	facturer due to
OCWUT 35-2406-74	Group 6 Plant Equipment: Shermco - Equipment Alignments			No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-75	Group 6 Plant Equipment: SKF USA	Supplier Not		No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-76	Group 6 Plant Equipment: Storefront Doors and Windows			No Bids
Agency Notes:		Supplier Proc Supplier Not		
OCWUT 35-2406-77	Group 6 Plant Equipment: T.B. Woods			No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-78	Group 6 Plant Equipment: Teadit			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2406-79	Group 6 Plant Equipment: Tekkem Slaker			No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-80	Group 6 Plant Equipment: The Bilco Company			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2406-81	Group 6 Plant Equipment: Tideflex Technologies			No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-82	Group 6 Plant Equipment: Timken Company			No Bids
Agency Notes:		Supplier Proo Supplier Not		
OCWUT 35-2406-83	Group 6 Plant Equipment: Toledo Scales			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2406-84	Group 6 Plant Equipment: Torit Dust Collector - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Not Standard Pric this Manufact equipment. P 20%.	<b>es:</b> e List are not urer due to th	ne variability of
OCWUT 35-2406-85	Group 6 Plant Equipment: USGI - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Not Standard Pric this Manufact equipment. P 20%.	<b>es:</b> e List are not a urer due to th	ne variability of
OCWUT 35-2406-86	Group 6 Plant Equipment: Vulcan Bar Screens - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Not Standard Pric this Manufact equipment. P 20%.	<b>es:</b> e List are not a urer due to th	ne variability of
OCWUT 35-2406-87	Group 6 Plant Equipment: Watts			No Bids
--------------------------------	---	---	---	--------------------------------
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-88	Group 6 Plant Equipment: Wessels Company			No Bids
Agency Notes:		Supplier Prod		
OCWUT 35-2406-89	Group 6 Plant Equipment: WesTech Process Equipment	Supplier Note	:5.	No Bids
Agency Notes:	Group of hand Equipment. Westeen Hotess Equipment	Supplier Prod	uct Code:	NO DIUS
		Supplier Note		
OCWUT 35-2406-90	Group 6 Plant Equipment: Whipps			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-91	Group 6 Plant Equipment: Zeks Air Dryers (Refrigerated)			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-92	Group 6 Plant Equipment: Zurn/Wilkins			No Bids
Agency Notes:		Supplier Prod Supplier Note		
			Lo	<b>t Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2407-01	Group 7 Labor: Field Labor Per Hour - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Prod Supplier Note We provide ser within.	s:	ems bid
OCWUT 35-2407-02	Group 7 Labor: Shop Labor Per Hour - First Offer	\$200.00	1 / each	\$200.00
Agency Notes:		Supplier Note We provide ser within.	rvice for all ite	
ltem #	Line Item	Unit Price	Lot 1 Qty/Unit	Total: \$400.00 Total Price
OCWUT 35-2408-01	Group 8 Delivery: Delivery Schedule - First Offer		1 / day	Total Price
Product Code: Agency Notes:		Supplier Prod Supplier Note	uct Code:	
OCWUT 35-2408-02	Group 8 Delivery: Repair Service Schedule - First Offer		1 / hour	
Product Code: Agency Notes:		Supplier Prod Supplier Note		
				<b>t Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2409-01	Group 9 Federal Acquisition Regulations: FAR Clauses - First Offer	Cumelian David	1 / each	
Product Code: Agency Notes:		Supplier Prod Supplier Note Yes	·s:	
		·		<b>t Total:</b> \$0.00
Item # OCWUT 35-2410-01	Line Item Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Offer	Unit Price	<b>Qty/Unit</b> 1 / each	Total Price
Product Code: Agency Notes:		Supplier Prod Supplier Note Standard Price this Manufactu equipment. Pr 20%.	e <b>s:</b> List are not a urer due to th	ne variability of

Lot Total: \$0.00

Haynes Equipmen	t Co		\$240.00 (53	8/219 items)
Bid Contact <b>Joe Mo</b>	ssauer	Address 117 NW 132nd St		
joe@haynes-equipment.com Oklahoma City, OK 73114		3114		
	-755-1357		<b>. .</b>	
Agency Notes:			Supplier Notes:	
Item #	Line Item		Unit Price Qty/Unit	Total Price
OCWUT 35-2401-01	Group 1 Air Compressors/Air Blowers: Allen Stuart		Supplier Product Code:	No Bids
Agency Notes:			Supplier Notes:	
OCWUT 35-2401-02	Group 1 Air Compressors/Air Blowers: Atlas Copco			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-03	Group 1 Air Compressors/Air Blowers: Campbell-Hausfield			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-04	Group 1 Air Compressors/Air Blowers: Curtis			No Bids
Agency Notes:	,		Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-05	Group 1 Air Compressors/Air Blowers: Dayton			No Bids
Agency Notes:	· · ·		Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-06	Group 1 Air Compressors/Air Blowers: Gardner Denver			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-07	Group 1 Air Compressors/Air Blowers: Howden			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-08	Group 1 Air Compressors/Air Blowers: Ingersol Rand			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-09	Group 1 Air Compressors/Air Blowers: Lamson			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-10	Group 1 Air Compressors/Air Blowers: Quincy			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-11	Group 1 Air Compressors/Air Blowers: Roots Dresser			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-12	Group 1 Air Compressors/Air Blowers: Speed Air			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-13	Group 1 Air Compressors/Air Blowers: Sullair			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-14	Group 1 Air Compressors/Air Blowers: Sulzer-Turbo Blower			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2401-15	Group 1 Air Compressors/Air Blowers: Ultra-Web			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
	1		Lot	t <b>Total:</b> \$0.00
ltem #	Line Item		Unit Price Qty/Unit	<b>Total Price</b>
OCWUT 35-2402-01	Group 2 Pumps: Allis Chalmers			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2402-02	Group 2 Pumps: American Turbine			No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-03	Group 2 Pumps: Aurora - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED /	<b>:s:</b> ⊦ 15%, WE AR	
OCWUT 35-2402-04	Group 2 Pumps: Barnes Pumps			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-05	Group 2 Pumps: Chicago - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED ( MUNICIPAL RE	<b>:S:</b> ⊦ 20%, WE AR CHICAGO PU	
OCWUT 35-2402-06	Group 2 Pumps: Dayton			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-07	Group 2 Pumps: Denver			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-08	Group 2 Pumps: Ebarra			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-09	Group 2 Pumps: Evoqua			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-10	Group 2 Pumps: Fairbanks Morse - First Offer	20.00%	1 / each	20.00%
Agency Notes:		Supplier Note Offer IS LIST - AUTHORIZED F MUNICIPAL RE	⊦20%, WE AR FAIRBANKS-N	
OCWUT 35-2402-11	Group 2 Pumps: Floserve			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-12	Group 2 Pumps: Floway			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-13	Group 2 Pumps: Flygt			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-14	Group 2 Pumps: Franklin Electric			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-15	Group 2 Pumps: Gardner Denver			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-16	Group 2 Pumps: Gorman Rupp - First Offer	15.00%	1 / each	15.00%
Product Code:		Supplier Prod Supplier Note OFFER IS LIST -	s:	
Agency Notes:		AUTHORIZED ( REP.	gorman-ru	PP MUNICIPAL
OCWUT 35-2402-17 Agency Notes:	Group 2 Pumps: Gould		uct Code:	PP MUNICIPAL

Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST + AUTHORIZED ( REP.	<b>s:</b> -15%, WE AR	
OCWUT 35-2402-19	Group 2 Pumps: Hale			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-20	Group 2 Pumps: Hayward Gordon - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST + AUTHORIZED H MUNICIPAL RE	<b>s:</b> -20%, WE AR HAYWARD-G	
OCWUT 35-2402-21	Group 2 Pumps: Hydroflo			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-22	Group 2 Pumps: Jesco Chem Pumps			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2402-23	Group 2 Pumps: Komeline Sanderson Piston Pumps - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST + AUTHORIZED F	<b>s:</b> -25%, WE AR	
OCWUT 35-2402-24	Group 2 Pumps: Landia			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-25	Group 2 Pumps: Milton Roy - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST +	s:	
OCWUT 35-2402-26	Group 2 Pumps: Morris - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST 4 AUTHORIZED N	<b>s:</b> -25%, WE AR	
OCWUT 35-2402-27	Group 2 Pumps: Moyno			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-28	Group 2 Pumps: Myers			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-29	Group 2 Pumps: National			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-30	Group 2 Pumps: Netzsch - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST + AUTHORIZED N	<b>s:</b> -25%, WE AR	I
OCWUT 35-2402-31	Group 2 Pumps: Peerless - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST + AUTHORIZED F	<b>s:</b> -20%, WE AR	I
OCWUT 35-2402-32	Group 2 Pumps: Roto Pumps			No Bids
Agency Notes:		Supplier Prod	uct Code:	

		INET .		No Bids
Agency Notes:		Supplier Note OFFER IS LIST - AUTHORIZED I REP.	<b>s:</b> -25%, WE AR	
OCWUT 35-2403-07 Product Code:	Group 3 Chemical Feed Equipment: Prominent - First Offer	25.00% Supplier Prod	1 / each	25.00%
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-06	Group 3 Chemical Feed Equipment: Periflo	Cumelian D		No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-05	Group 3 Chemical Feed Equipment: Pennwalt			No Bids
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	s:	
OCWUT 35-2403-04  Product Code:	Group 3 Chemical Feed Equipment: LMI Miltron Roy - First Offer	20.00% Supplier Prod	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	<b>s:</b> -20%.	
OCWUT 35-2403-03	Group 3 Chemical Feed Equipment: Hach - First Offer	20.00%	1 / each	20.00%
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-02	Group 3 Chemical Feed Equipment: Fisher			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-01	Group 3 Chemical Feed Equipment: Capitol Controls		<u>, , , , , , , , , , , , , , , , , , , </u>	No Bids
ltem #	Line Item	Unit Price	LC Qty/Unit	ot Total: \$0.0 Total Pric
Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2402-42	Group 2 Pumps: Zoeller			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-41	Group 2 Pumps: Wemco			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-40	Group 2 Pumps: Watson Marlow			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-39	Group 2 Pumps: Warman			No Bids
		AUTHORIZED I		
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	s:	ETHE
OCWUT 35-2402-38	Group 2 Pumps: Pentair - First Offer	20.00%	<b>3.</b> 1 / each	20.00%
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-37	Group 2 Pumps: Vogelsang Pumps			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-36	Group 2 Pumps: Viking Pumps	Supplier Note	5.	No Bids
Agency Notes:		Supplier Prod		
OCWUT 35-2402-35	Group 2 Pumps: Vaughn Pumps		3.	No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2402-34	Group 2 Pumps: Summit	supplier note		No Bids
Agency Notes:		Supplier Prod Supplier Note		
				No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-09	Group 3 Chemical Feed Equipment: Siemens			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-10	Group 3 Chemical Feed Equipment: Stenner			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-11	Group 3 Chemical Feed Equipment: Tomco - First Offer	15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED	<b>s:</b> ⊦15%, WE A	
OCWUT 35-2403-12	Group 3 Chemical Feed Equipment: UGSI			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2403-13	Group 3 Chemical Feed Equipment: Wallace and Tierman - First Offer	20.00%	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST	<b>:s:</b> ⊦20%.	
				ot Total: \$0.00
Item # OCWUT 35-2404-01	Line Item Group 4 Electrical Equipment: ABB-Variable Frequency Drive and Switch Gear - First Offer	<b>Unit Price</b> 25.00%	<b>Qty/Unit</b> 1 / each	<b>Total Price</b> 25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED /	<b>uct Code:</b> • <b>s:</b> ⊦25%, WE A	RETHE
OCWUT 35-2404-02	Group 4 Electrical Equipment: Allen Bradley - First Offer	30.00%	1 / each	30.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	s:	
OCWUT 35-2404-03	Group 4 Electrical Equipment: Allied Telesyn International			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-04	Group 4 Electrical Equipment: American Vacuum Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-05	Group 4 Electrical Equipment: Arco Wand Vacuum System			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-06	Group 4 Electrical Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2404-07	Group 4 Electrical Equipment: Baldor - First Offer		1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2404-08	Group 4 Electrical Equipment: Contrex			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-09	Group 4 Electrical Equipment: Cryogenitics			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-10	Group 4 Electrical Equipment: Cutler Hammer			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-11	Group 4 Electrical Equipment: Dwyer - First Offer	-	1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2404-12	Group 4 Electrical Equipment: Eagle Signal			No Bids

Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-13	Group 4 Electrical Equipment: Effectar Controls			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-14	Group 4 Electrical Equipment: Endress Houser			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-15	Group 4 Electrical Equipment: Federal Signal			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-16	Group 4 Electrical Equipment: Flowline Instruments - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note OFFER IS LIST	es:	
OCWUT 35-2404-17	Group 4 Electrical Equipment: Forceflow Equipment - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note OFFER IS LIST	es:	
OCWUT 35-2404-18	Group 4 Electrical Equipment: General Electric - Motor Controls, Variable Speed Pump Controls, & Switch Gear			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-19	Group 4 Electrical Equipment: Honeywell Instruments - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note OFFER IS LIST	es:	
OCWUT 35-2404-20	Group 4 Electrical Equipment: Idec Controls - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note	es:	
OCWUT 35-2404-21	Group 4 Electrical Equipment: Kinetrol - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE ARE	
OCWUT 35-2404-22	Group 4 Electrical Equipment: Knife Batteries			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-23	Group 4 Electrical Equipment: Krohme Instruments			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-24	Group 4 Electrical Equipment: LeRoi - Natural Gas Engines & Medium & High Voltage Switch Gear			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-25	Group 4 Electrical Equipment: Marathon Motors			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-26	Group 4 Electrical Equipment: Materials Controls, Inc.			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-27	Group 4 Electrical Equipment: McCrometer - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note	es:	
OCWUT 35-2404-28	Group 4 Electrical Equipment: Mettler Toledo			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-29	Group 4 Electrical Equipment: Moxa			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-30	Group 4 Electrical Equipment: Murphy Switches - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note OFFER IS LIST	es:	

OCWUT 35-2404-31	Group 4 Electrical Equipment: MVC - Surge Protector			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2404-32	Group 4 Electrical Equipment: Sew-Eurodrive - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	es:	
OCWUT 35-2404-33	Group 4 Electrical Equipment: Toshiba Drives and Motors			No Bids
Agency Notes:		Supplier Prod Supplier Note		
			Lo	ot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2405-01	Group 5 Gauges, Monitors, and Accessories: Absolute Process Instruments			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-02	Group 5 Gauges, Monitors, and Accessories: Action Industry			No Bids
Agency Notes:		Supplier Prod Supplier Note		1
OCWUT 35-2405-03	Group 5 Gauges, Monitors, and Accessories: Ashcroft - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	es:	
OCWUT 35-2405-04	Group 5 Gauges, Monitors, and Accessories: Badger - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	es:	
OCWUT 35-2405-05	Group 5 Gauges, Monitors, and Accessories: Bindicator			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-06	Group 5 Gauges, Monitors, and Accessories: Dwyer			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-07	Group 5 Gauges, Monitors, and Accessories: Endress Hauser			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2405-08	Group 5 Gauges, Monitors, and Accessories: Honeywell			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-09 Agency Notes:	Group 5 Gauges, Monitors, and Accessories: Magnitrol	Supplier Prod Supplier Note		No Bids
OCWUT 35-2405-10	Group 5 Gauges, Monitors, and Accessories: Mercoid - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	es:	
OCWUT 35-2405-11	Group 5 Gauges, Monitors, and Accessories: Numatics			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-12	Group 5 Gauges, Monitors, and Accessories: Omega			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-13	Group 5 Gauges, Monitors, and Accessories: Reno A and E			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-14	Group 5 Gauges, Monitors, and Accessories: Rosemount - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST -	es:	
OCWUT 35-2405-15	Group 5 Gauges, Monitors, and Accessories: Universal - Flow Monitors			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-16	Group 5 Gauges, Monitors, and Accessories: Venture			No Bids
Agency Notes:		Supplier Prod Supplier Note		

OCWUT 35-2405-17	Group 5 Gauges, Monitors, and Accessories: Wahl			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-18	Group 5 Gauges, Monitors, and Accessories: Weiss			No Bids
Agency Notes:		Supplier Prod Supplier Note		
			Lot	: <b>Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2406-01	Group 6 Plant Equipment: Alfa Laval Presses			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2406-02	Group 6 Plant Equipment: Assa Abloy Operators			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2406-03	Group 6 Plant Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-04	Group 6 Plant Equipment: BDP - First Offer	25.00%	1 / each	25.00%
Product Code:		Supplier Prod		
Agency Notes:		Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE ARE	THE
OCWUT 35-2406-05	Group 6 Plant Equipment: Bradley			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-06	Group 6 Plant Equipment: Caloritech Heaters			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-07	Group 6 Plant Equipment: Caterpillar Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-08	Group 6 Plant Equipment: Chemical Storage Tanks - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	es:	
OCWUT 35-2406-09	Group 6 Plant Equipment: Chesterton - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: OFFER IS LIST +25%		
OCWUT 35-2406-10	Group 6 Plant Equipment: Cla-Val - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST	es:	
OCWUT 35-2406-11	Group 6 Plant Equipment: Cleveland Mixer			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-12	Group 6 Plant Equipment: Conquest			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-13	Group 6 Plant Equipment: Conseco - Hydrated Lime System			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-14	Group 6 Plant Equipment: Cummins Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-15	Group 6 Plant Equipment: Dezurick Valves - First Offer	-15.00%	1 / each	-15.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST AUTHORIZED	e <b>s:</b> -15%, WE ARE	THE
OCWUT 35-2406-16	Group 6 Plant Equipment: Dodge Gear Boxes			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-17	Group 6 Plant Equipment: EDI Diffusers			No Bids

Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-18 Group 6 Plant Equipment: EIMCO Process Equipment	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-19 Group 6 Plant Equipment: Epic Lubing Systems	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-20 Group 6 Plant Equipment: Evoqua Regulators and Injectors	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-21 Group 6 Plant Equipment: EVR	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-22 Group 6 Plant Equipment: Falk Gearboxes	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-23 Group 6 Plant Equipment: Febco	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-24 Group 6 Plant Equipment: Fiberglass Custom Fabrication	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-25 Group 6 Plant Equipment: Fiberglass Doors and Windows	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-26 Group 6 Plant Equipment: Fisher Controls Company	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-27 Group 6 Plant Equipment: FMC Link Belt Clarifier	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-28 Group 6 Plant Equipment: Fontaine Aquanox	No Bids
Agency Notes: OCWUT 35-2406-29 Group 6 Plant Equipment: Fuller Dust Collectors	Supplier Product Code: Supplier Notes: No Bids
OCWUT 35-2406-29 Group 6 Plant Equipment: Fuller Dust Collectors  Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-30 Group 6 Plant Equipment: GA Industries	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-31 Group 6 Plant Equipment: Garlock	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-32 Group 6 Plant Equipment: Halliday Products	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-33 Group 6 Plant Equipment: Haws	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-34 Group 6 Plant Equipment: Hollow Metal Doors and Windows	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-35 Group 6 Plant Equipment: Huber Grit	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-36 Group 6 Plant Equipment: J&S Valve Hedflex	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-37 Group 6 Plant Equipment: JMS Augers and Conveyors	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-38 Group 6 Plant Equipment: John Crane	No Bids

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-39	Group 6 Plant Equipment: Jurassic Carbon			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-40	Group 6 Plant Equipment: Kome Line Presses - First Offer		1 / each	20.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED I	uct Code: s: ⊦20%, WE AR	
OCWUT 35-2406-41	Group 6 Plant Equipment: Koyo Bearings			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-42	Group 6 Plant Equipment: Kusters			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-43	Group 6 Plant Equipment: Landshire Screws			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-44	Group 6 Plant Equipment: Leopard Filter Tile and Repair Parts			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-45	Group 6 Plant Equipment: Liftmaster Doors			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-46	Group 6 Plant Equipment: Lighting Flash Mixers			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-47	Group 6 Plant Equipment: Limitorque			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-48 Agency Notes:	Group 6 Plant Equipment: Link-Seal	Supplier Prod Supplier Note		No Bids
OCWUT 35-2406-49	Group 6 Plant Equipment: Lovejoy			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-50	Group 6 Plant Equipment: Martin Decker Load Cell Scales			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-51	Group 6 Plant Equipment: Motorola Control Units			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-52	Group 6 Plant Equipment: Muffin Monster			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-53	Group 6 Plant Equipment: Myers and Son			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-54	Group 6 Plant Equipment: Nachi Technology			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-55	Group 6 Plant Equipment: Nordic Water - Westech - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST - AUTHORIZED	<b>s:</b> ⊦25%, WE AR	
OCWUT 35-2406-56	Group 6 Plant Equipment: Norit Carbon Systems - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note	s:	
OCWUT 35-2406-57	Group 6 Plant Equipment: NSK Corporation			No Bids
Agency Notes:		Supplier Prod Supplier Note		

OCWUT 35-2406-58 Group 6 Plant Equipment: Omega Dust Collector	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-59 Group 6 Plant Equipment: Onyx Agency Notes:	Supplier Product Code:
Agency Notes.	Supplier Notes:
OCWUT 35-2406-60 Group 6 Plant Equipment: Ovivo	No Bids
Agency Notes:	Supplier Product Code:
OCWUT 35-2406-61 Group 6 Plant Equipment: Park Hannifer	Supplier Notes: No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-62 Group 6 Plant Equipment: Philadelphia Mixers	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-63 Group 6 Plant Equipment: Pipe Linx	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-64 Group 6 Plant Equipment: Poly Blend Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-65 Group 6 Plant Equipment: PPI	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-66 Group 6 Plant Equipment: Proco Products	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-67 Group 6 Plant Equipment: RDP Lime Systems - I	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: OFFER IS LIST +25%, WE ARE THE AUTHORIZED RDP REP
OCWUT 35-2406-68 Group 6 Plant Equipment: Red Valve - I	
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes: OFFER IS LIST +25%, WE ARE THE
	AUTHORIZED RED VALVE REP
OCWUT 35-2406-69 Group 6 Plant Equipment: Rodney Hunt	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-70 Group 6 Plant Equipment: Rotalgn Laser Shaft Alignment	No Bids
Agency Notes:	Supplier Product Code:
OCWUT 35-2406-71 Group 6 Plant Equipment: Roto Mix	Supplier Notes: No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-72 Group 6 Plant Equipment: Rotork Actuators	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-73 Group 6 Plant Equipment: Sew-Eurodrive	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 35-2406-74 Group 6 Plant Equipment: Shermco - Equipment Alignments	No Bids
	Supplier Broduct Code:
Agency Notes:	Supplier Product Code: Supplier Notes:
	1
Agency Notes:	Supplier Notes: No Bids Supplier Product Code:
Agency Notes:     OCWUT 35-2406-75     Group 6 Plant Equipment: SKF USA       Agency Notes:     Image: Comparison of the second se	Supplier Notes: No Bids Supplier Product Code: Supplier Notes:
Agency Notes: OCWUT 35-2406-75 Group 6 Plant Equipment: SKF USA	Supplier Notes: No Bids Supplier Product Code:
Agency Notes:         OCWUT 35-2406-75       Group 6 Plant Equipment: SKF USA         Agency Notes:         OCWUT 35-2406-76       Group 6 Plant Equipment: Storefront Doors and Windows	Supplier Notes:       No Bids       Supplier Product Code:       Supplier Notes:       No Bids
Agency Notes:         OCWUT 35-2406-75       Group 6 Plant Equipment: SKF USA         Agency Notes:         OCWUT 35-2406-76       Group 6 Plant Equipment: Storefront Doors and Windows	Supplier Notes:       No Bids       Supplier Product Code:       Supplier Notes:       No Bids       Supplier Product Code:       Supplier Product Code:

OCWUT 35-2406-78	Group 6 Plant Equipment: Teadit			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-79	Group 6 Plant Equipment: Tekkem Slaker - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE AR	E THE
OCWUT 35-2406-80	Group 6 Plant Equipment: The Bilco Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-81	Group 6 Plant Equipment: Tideflex Technologies - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE AR	
OCWUT 35-2406-82	Group 6 Plant Equipment: Timken Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-83	Group 6 Plant Equipment: Toledo Scales			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-84	Group 6 Plant Equipment: Torit Dust Collector			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-85	Group 6 Plant Equipment: USGI			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-86	Group 6 Plant Equipment: Vulcan Bar Screens			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-87	Group 6 Plant Equipment: Watts			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-88	Group 6 Plant Equipment: Wessels Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-89	Group 6 Plant Equipment: WesTech Process Equipment - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE AR	
OCWUT 35-2406-90	Group 6 Plant Equipment: Whipps - First Offer	25.00%	1 / each	25.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note OFFER IS LIST AUTHORIZED	<b>es:</b> +25%, WE AR	ETHE
OCWUT 35-2406-91	Group 6 Plant Equipment: Zeks Air Dryers (Refrigerated)			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-92	Group 6 Plant Equipment: Zurn/Wilkins			No Bids
Agency Notes:		Supplier Prod Supplier Note		
		1		<b>t Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2407-01 Product Code: Agency Notes:	Group 7 Labor: Field Labor Per Hour - First Offer	\$140.00 Supplier Prod Supplier Note REGULAR SERVI LEVEL II SERVI SCADA/PLC PF LEVEL III SERVI EQUIPMENT N HAYNES \$195	es: Level I Se Vice \$ 140/Hi Ce: On Site/F Cogrammin Ce: Service ( Iot Purcha:	R REMOTE G \$ 180/HR ON

1				
OCWUT 35-2407-02	Group 7 Labor: Shop Labor Per Hour - First Offer	\$100.00	1 / each	\$100.00
Product Code:		Supplier Prod		
Agency Notes:		Supplier Note		
14 #	Line How	Linit Duine		Total: \$240.00
Item # OCWUT 35-2408-01	Line Item	Unit Price	Qty/Unit	Total Price
	Group 8 Delivery: Delivery Schedule - First Offer	Supplier Dred	1 / day	
Product Code: Agency Notes:		Supplier Prode Supplier Note DELIVERIES VAI ON EQUIPMEN	<b>s:</b> Ry greatly i	
OCWUT 35-2408-02	Group 8 Delivery: Repair Service Schedule - First Offer		1 / hour	
Product Code:		Supplier Prod	uct Code:	
Agency Notes:		Supplier Note		
				ot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2409-01	Group 9 Federal Acquisition Regulations: FAR Clauses - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Prode Supplier Note		
				ot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2410-01	Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Offer		1 / each	
Product Code:		Supplier Prod		
Agency Notes:		Supplier Note		
			L0	ot Total: \$0.00
EDWARDS EQUIPM			300.00 (28	8/219 items)
Bid Contact SONNY		( RD		
	vedwardsequipmentllc.com LUTHER, OK 73054 757-5767			
Agency Notes:		Supplier Note		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2401-01	Group 1 Air Compressors/Air Blowers: Allen Stuart - First Offer	0.00%	1 / each	0.00%
Product Code:		Supplier Prod		
Agency Notes:		Supplier Note	1	
OCWUT 35-2401-02  Product Code:	Group 1 Air Compressors/Air Blowers: Atlas Copco - First Offer	0.00%	1 / each	0.00%
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2401-03	Group 1 Air Compressors/Air Blowers: Campbell-Hausfield - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2401-04	Group 1 Air Compressors/Air Blowers: Curtis - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes:		Supplier Prode Supplier Note		
OCWUT 35-2401-05	Group 1 Air Compressors/Air Blowers: Dayton - First Offer	0.00%	1 / each	0.00%
Product Code:			ust Cada	
Agency Notes:		Supplier Prode Supplier Note		
Agency Notes: OCWUT 35-2401-06	Group 1 Air Compressors/Air Blowers: Gardner Denver			No Bids
	Group 1 Air Compressors/Air Blowers: Gardner Denver	Supplier Note Supplier Produ	s: uct Code:	No Bids
OCWUT 35-2401-06	Group 1 Air Compressors/Air Blowers: Gardner Denver	Supplier Note	s: uct Code:	No Bids No Bids
OCWUT 35-2401-06 Agency Notes:	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden	Supplier Note Supplier Produ	s: uct Code: s: uct Code:	
OCWUT 35-2401-06 Agency Notes: OCWUT 35-2401-07	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden	Supplier Note Supplier Produ Supplier Note Supplier Produ Supplier Produ	s: uct Code: s: uct Code:	
OCWUT 35-2401-06 Agency Notes: OCWUT 35-2401-07 Agency Notes:	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand	Supplier Note Supplier Produ Supplier Note Supplier Produ Supplier Produ	s: uct Code: s: uct Code: s: uct Code:	No Bids
OCWUT 35-2401-06 Agency Notes: OCWUT 35-2401-07 Agency Notes: OCWUT 35-2401-08	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand	Supplier Note Supplier Prode Supplier Prode Supplier Prode Supplier Note Supplier Note Supplier Prode Supplier	s: uct Code: s: uct Code: s: uct Code:	No Bids
OCWUT 35-2401-06           Agency Notes:           OCWUT 35-2401-07           Agency Notes:           OCWUT 35-2401-08           Agency Notes:	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand Group 1 Air Compressors/Air Blowers: Lamson	Supplier Note Supplier Prode Supplier Prode Supplier Prode Supplier Note Supplier Note Supplier Prode Supplier	s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code:	No Bids No Bids
OCWUT 35-2401-06 Agency Notes: OCWUT 35-2401-07 Agency Notes: OCWUT 35-2401-08 Agency Notes: OCWUT 35-2401-09	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand Group 1 Air Compressors/Air Blowers: Lamson	Supplier Note Supplier Prode Supplier Prode Supplier Note Supplier Prode Supplier Note Supplier Prode Supplier	s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code:	No Bids No Bids
OCWUT 35-2401-06           Agency Notes:           OCWUT 35-2401-07           Agency Notes:           OCWUT 35-2401-08           Agency Notes:           OCWUT 35-2401-09           Agency Notes:	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand Group 1 Air Compressors/Air Blowers: Lamson Group 1 Air Compressors/Air Blowers: Quincy	Supplier Note Supplier Prode Supplier Prode Supplier Prode Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Prode Supplier P	s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code:	No Bids No Bids No Bids
OCWUT 35-2401-06           Agency Notes:           OCWUT 35-2401-07           Agency Notes:           OCWUT 35-2401-08           Agency Notes:           OCWUT 35-2401-09           Agency Notes:           OCWUT 35-2401-09           Agency Notes:           OCWUT 35-2401-09           Agency Notes:           OCWUT 35-2401-09	Group 1 Air Compressors/Air Blowers: Gardner Denver Group 1 Air Compressors/Air Blowers: Howden Group 1 Air Compressors/Air Blowers: Ingersol Rand Group 1 Air Compressors/Air Blowers: Lamson Group 1 Air Compressors/Air Blowers: Quincy	Supplier Note Supplier Prode Supplier Prode Supplier Note Supplier Prode Supplier Note	s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code:	No Bids No Bids No Bids

Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2401-12	P Group 1 Air Compressors/Air Blowers: Speed Air			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2401-13	Group 1 Air Compressors/Air Blowers: Sullair			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2401-14	Group 1 Air Compressors/Air Blowers: Sulzer-Turbo Blower - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2401-15	Group 1 Air Compressors/Air Blowers: Ultra-Web			No Bids
Agency Notes:		Supplier Proc Supplier Note		
			Lot	t <b>Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2402-01	Group 2 Pumps: Allis Chalmers			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-02	Group 2 Pumps: American Turbine			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-03	Group 2 Pumps: Aurora			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-04	Group 2 Pumps: Barnes Pumps - First Offer	10.00%	1 / each	10.00%
Agency Notes:		Supplier Note Equipment LL		,
OCWUT 35-2402-05	Group 2 Pumps: Chicago			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-06	Group 2 Pumps: Dayton			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-07	Group 2 Pumps: Denver			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-08	Group 2 Pumps: Ebarra			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-09	9 Group 2 Pumps: Evoqua			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-10 Agency Notes:	Group 2 Pumps: Fairbanks Morse	Supplier Proc		No Bids
OCWUT 35-2402-11	Group 2 Pumps: Floserve	Supplier Note	=>:	No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-12	Group 2 Pumps: Floway			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-13	Group 2 Pumps: Flygt			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2402-14 Agency Notes:	Group 2 Pumps: Franklin Electric	Supplier Proc	luct Code:	No Bids
		Supplier Note		

OCWUT 35-2402-15 Group 2 Pumps: Gardner Denver	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-16 Group 2 Pumps: Gorman Rupp	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-17 Group 2 Pumps: Gould	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-18 Group 2 Pumps: Groundsfos	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-19 Group 2 Pumps: Hale	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-20 Group 2 Pumps: Hayward Gordon	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-21 Group 2 Pumps: Hydroflo	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-22 Group 2 Pumps: Jesco Chem Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-23 Group 2 Pumps: Komeline Sanderson Piston Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-24 Group 2 Pumps: Landia	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-25 Group 2 Pumps: Milton Roy	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-24-02-26 Group 2 Pumps: Morris	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-27 Group 2 Pumps: Moyno	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-28 Group 2 Pumps: Myers	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-29 Group 2 Pumps: National	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-30 Group 2 Pumps: Netzsch	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-31 Group 2 Pumps: Peerless	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-32 Group 2 Pumps: Roto Pumps	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-33 Group 2 Pumps: Sulzer - First Off	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-34 Group 2 Pumps: Summit	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2402-35 Group 2 Pumps: Vaughn Pumps	No Bids
Agency Notes:	Supplier Product Code:

Ageneralisten				
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2402-37	Group 2 Pumps: Vogelsang Pumps			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2402-38	Group 2 Pumps: Pentair			No Bids
Agency Notes:		Supplier Prod		
OCWUT 35-2402-39	Group 2 Pumps: Warman	Supplier Note	5:	No Bids
Agency Notes:		Supplier Prod		
OCWUT 35-2402-40	Group 2 Pumps: Watson Marlow	Supplier Note	5:	No Bids
Agency Notes:		Supplier Prod	uct Code:	NO BIUS
		Supplier Note		
OCWUT 35-2402-41	Group 2 Pumps: Wemco			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2402-42	Group 2 Pumps: Zoeller			No Bids
Agency Notes:		Supplier Produ Supplier Note		
			Lo	<b>t Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2403-01	Group 3 Chemical Feed Equipment: Capitol Controls			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-02	Group 3 Chemical Feed Equipment: Fisher			No Bids
Agency Notes:		Supplier Prode Supplier Note		
OCWUT 35-2403-03	Group 3 Chemical Feed Equipment: Hach			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-04	Group 3 Chemical Feed Equipment: LMI Miltron Roy			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-05	Group 3 Chemical Feed Equipment: Pennwalt			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-06	Group 3 Chemical Feed Equipment: Periflo			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-07	Group 3 Chemical Feed Equipment: Prominent			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-08	Group 3 Chemical Feed Equipment: Pulsar			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-09	Group 3 Chemical Feed Equipment: Siemens			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-10	Group 3 Chemical Feed Equipment: Stenner - First Offe		1 / each	10.00%
Product Code: Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-11	Group 3 Chemical Feed Equipment: Tomco			No Bids
Agency Notes:		Supplier Produ Supplier Note		
OCWUT 35-2403-12	Group 3 Chemical Feed Equipment: UGSI			No Bids
Agency Notes:		Supplier Produ		
OCWUT 35-2403-13	Group 3 Chemical Feed Equipment: Wallace and Tierman	Supplier Note		No Bids
0010100-10-10		Curren View Dave de	uat Cadas	NO DIUS
Agency Notes:		Supplier Produ	ici code:	

ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2404-01	Group 4 Electrical Equipment: ABB-Variable Frequency Drive and Switch Gear			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-02	Group 4 Electrical Equipment: Allen Bradley			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-03	Group 4 Electrical Equipment: Allied Telesyn International			No Bids
Agency Notes:		Supplier Proc		
		Supplier Not	es:	
OCWUT 35-2404-04	Group 4 Electrical Equipment: American Vacuum Company			No Bids
Agency Notes:		Supplier Proc Supplier Not		
OCWUT 35-2404-05	Group 4 Electrical Equipment: Arco Wand Vacuum System			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-06	Group 4 Electrical Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-07	Group 4 Electrical Equipment: Baldor			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-08	Group 4 Electrical Equipment: Contrex			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-09	Group 4 Electrical Equipment: Cryogenitics			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-10	Group 4 Electrical Equipment: Cutler Hammer - First Offe		1/each	10.00%
Product Code: Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-11	Group 4 Electrical Equipment: Dwyer			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-12	Group 4 Electrical Equipment: Eagle Signal			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-13	Group 4 Electrical Equipment: Effectar Controls			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-14	Group 4 Electrical Equipment: Endress Houser			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-15	Group 4 Electrical Equipment: Federal Signal			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-16	Group 4 Electrical Equipment: Flowline Instruments			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-17	Group 4 Electrical Equipment: Forceflow Equipment - First Offe		1 / each	10.00%
Product Code: Agency Notes:	· · · · · · · · · · · · · · · · · · ·	Supplier Proc Supplier Note		
OCWUT 35-2404-18	Group 4 Electrical Equipment: General Electric - Motor Controls, Variable Speed Pump Controls, & Switch Gea			No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-19	Group 4 Electrical Equipment: Honeywell Instruments		-	No Bids
Agency Notes:		Supplier Proc Supplier Note		
OCWUT 35-2404-20	Group 4 Electrical Equipment: Idec Controls			No Bids
Agency Notes:		Supplier Proc Supplier Note		

Agency Notes:		Supplier Pro Supplier Not		
OCWUT 35-2404-22	Group 4 Electrical Equipment: Knife Batteries			No Bids
Agency Notes:		Supplier Proc Supplier Not		
OCWUT 35-2404-23	Group 4 Electrical Equipment: Krohme Instruments			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-24	Group 4 Electrical Equipment: LeRoi - Natural Gas Engines & Medium & High Voltage Switch Gear			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-25	Group 4 Electrical Equipment: Marathon Motors			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-26	Group 4 Electrical Equipment: Materials Controls, Inc.			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-27	Group 4 Electrical Equipment: McCrometer			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-28	Group 4 Electrical Equipment: Mettler Toledo			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-29	Group 4 Electrical Equipment: Moxa			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-30	Group 4 Electrical Equipment: Murphy Switches			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-31	Group 4 Electrical Equipment: MVC - Surge Protector			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-32	Group 4 Electrical Equipment: Sew-Eurodrive - First Offe		1 / each	10.00%
Product Code: Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2404-33	Group 4 Electrical Equipment: Toshiba Drives and Motors			No Bids
Agency Notes:		Supplier Proe Supplier Not	es:	
				t Total:\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2405-01 Agency Notes:	Group 5 Gauges, Monitors, and Accessories: Absolute Process Instruments	Supplier Proo Supplier Not		No Bids
OCWUT 35-2405-02	Group 5 Gauges, Monitors, and Accessories: Action Industry			No Bids
Agency Notes:		Supplier Pro Supplier Not		
OCWUT 35-2405-03	Group 5 Gauges, Monitors, and Accessories: Ashcroft			No Bids
Agency Notes:		Supplier Prod Supplier Not		
OCWUT 35-2405-04	Group 5 Gauges, Monitors, and Accessories: Badger			No Bids
Agency Notes:		Supplier Prod Supplier Not		
OCWUT 35-2405-05	Group 5 Gauges, Monitors, and Accessories: Bindicator			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2405-06	Group 5 Gauges, Monitors, and Accessories: Dwyer			No Bids
Agency Notes:		Supplier Proe Supplier Not		
OCWUT 35-2405-07	Group 5 Gauges, Monitors, and Accessories: Endress Hauser			No Bids
Agency Notes:		Supplier Proe Supplier Not		

Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-09	Group 5 Gauges, Monitors, and Accessories: Magnitrol			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-10	Group 5 Gauges, Monitors, and Accessories: Mercoid			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-11	Group 5 Gauges, Monitors, and Accessories: Numatics			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-12	Group 5 Gauges, Monitors, and Accessories: Omega			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-13	Group 5 Gauges, Monitors, and Accessories: Reno A and E			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-14	Group 5 Gauges, Monitors, and Accessories: Rosemount			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-15	Group 5 Gauges, Monitors, and Accessories: Universal - Flow Monitors - First Offe	er 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-16	Group 5 Gauges, Monitors, and Accessories: Venture			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-17	Group 5 Gauges, Monitors, and Accessories: Wahl			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2405-18	Group 5 Gauges, Monitors, and Accessories: Weiss			No Bids
Agency Notes:		Supplier Prod Supplier Note	s:	
				t Total:\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2406-01	Group 6 Plant Equipment: Alfa Laval Presses	Supplier Prod	ust Codo:	No Bids
Agency Notes:		Supplier Note		
OCWUT 35-2406-02	Group 6 Plant Equipment: Assa Abloy Operators			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-03	Group 6 Plant Equipment: Automatic Switch Company			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-04	Group 6 Plant Equipment: BDP			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-05	Group 6 Plant Equipment: Bradley			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-06	Group 6 Plant Equipment: Caloritech Heaters			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-07	Group 6 Plant Equipment: Caterpillar Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-08	Group 6 Plant Equipment: Chemical Storage Tanks - First Offe	-	1 / each	5.00%
Product Code: Agen <i>c</i> y Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-09	Group 6 Plant Equipment: Chesterton			No Bids
Agency Notes:		Supplier Prod Supplier Note		
		10.00%		

Product Code: Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-11	Group 6 Plant Equipment: Cleveland Mixer			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-12	Group 6 Plant Equipment: Conquest			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-13	Group 6 Plant Equipment: Conseco - Hydrated Lime System			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-14	Group 6 Plant Equipment: Cummins Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-15	Group 6 Plant Equipment: Dezurick Valves			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-16	Group 6 Plant Equipment: Dodge Gear Boxes			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-17	Group 6 Plant Equipment: EDI Diffusers - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Prode Supplier Note		
OCWUT 35-2406-18	Group 6 Plant Equipment: EIMCO Process Equipment			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-19	Group 6 Plant Equipment: Epic Lubing Systems			No Bids
Agency Notes:		Supplier Prod Supplier Note		
OCWUT 35-2406-20 Product Code: Agency Notes:	Group 6 Plant Equipment: Evoqua Regulators and Injectors - First Offe	Supplier Prod Supplier Note	s:REGAL GA	10.00% S EQUIPMENT
Product Code:		Supplier Prod	uct Code: s:REGAL GA	
Product Code:		Supplier Prod Supplier Note	uct Code: s:REGAL GA	
Product Code: Agency Notes:	Group 6 Plant Equipment: EVR	Supplier Prod Supplier Note	uct Code: s:REGAL GA S PER DAY	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21	Group 6 Plant Equipment: EVR	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s:	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code:	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code:	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: uct Code:	S EQUIPMENT No Bids No Bids
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes	Supplier Prod Supplier Note UP TO 2,000LB Supplier Prod Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: uct Code:	S EQUIPMENT No Bids No Bids
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Febco	Supplier Prod Supplier Note UP TO 2,000LB Supplier Prod Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code:	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Febco	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Note ar 10.00% Supplier Prode	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code:	S EQUIPMENT
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code: Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Note ar 10.00% Supplier Prode	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s: uct Code:	S EQUIPMENT No Bids No Bids 10.00%
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code: Agency Notes: OCWUT 35-2406-25	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Prode Supplier Note Supplier Note r 10.00% Supplier Note supplier Note Supplier Prode Supplier Prode Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00%
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code: Agency Notes: OCWUT 35-2406-25 Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows Group 6 Plant Equipment: Fiberglass Doors and Windows	Supplier Produ Supplier Note UP TO 2,000LB Supplier Produ Supplier Note Supplier Note Supplier Note ar 10.00% Supplier Produ Supplier Produ Supplier Produ Supplier Note ar Supplier Produ Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00% No Bids
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code: Agency Notes: OCWUT 35-2406-25 Agency Notes: OCWUT 35-2406-25	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows Group 6 Plant Equipment: Fiberglass Doors and Windows	Supplier Prode Supplier Note UP TO 2,000LB Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note r 10.00% Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00% No Bids
Product Code: Agency Notes: OCWUT 35-2406-21 Agency Notes: OCWUT 35-2406-22 Agency Notes: OCWUT 35-2406-23 Agency Notes: OCWUT 35-2406-24 Product Code: Agency Notes: OCWUT 35-2406-25 Agency Notes: OCWUT 35-2406-26 Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows Group 6 Plant Equipment: Fiberglass Company Group 6 Plant Equipment: Fisher Controls Company Group 6 Plant Equipment: FMC Link Belt Clarifier	Supplier Prode Supplier Note UP TO 2,000LB Supplier Prode Supplier Note Supplier Note Supplier Note r 10.00% Supplier Prode Supplier Note Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00% No Bids No Bids
Product Code: Agency Notes: OCWUT 35-24-06-21 Agency Notes: OCWUT 35-24-06-22 Agency Notes: OCWUT 35-24-06-23 Agency Notes: OCWUT 35-24-06-24 Product Code: Agency Notes: OCWUT 35-24-06-25 Agency Notes: OCWUT 35-24-06-26 Agency Notes: OCWUT 35-24-06-26	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows Group 6 Plant Equipment: Fiberglass Company Group 6 Plant Equipment: Fisher Controls Company Group 6 Plant Equipment: FMC Link Belt Clarifier	Supplier Prode Supplier Note UP TO 2,000LB Supplier Note Supplier Note Supplier Note Supplier Note r 10.00% Supplier Note Supplier Note Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00% No Bids No Bids
Product Code:           Agency Notes:           Agency Notes:           OCWUT 35-24-06-22           Agency Notes:           OCWUT 35-24-06-22           Agency Notes:           OCWUT 35-24-06-22           Agency Notes:           OCWUT 35-24-06-23           Agency Notes:           OCWUT 35-24-06-24           Product Code:           Agency Notes:           OCWUT 35-24-06-25           Agency Notes:           OCWUT 35-24-06-26           Agency Notes:           OCWUT 35-24-06-26           Agency Notes:           OCWUT 35-24-06-27           Agency Notes:           OCWUT 35-24-06-27           Agency Notes:	Group 6 Plant Equipment: EVR Group 6 Plant Equipment: Falk Gearboxes Group 6 Plant Equipment: Febco Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe Group 6 Plant Equipment: Fiberglass Doors and Windows Group 6 Plant Equipment: Fisher Controls Company Group 6 Plant Equipment: Fisher Controls Company Group 6 Plant Equipment: FMC Link Belt Clarifier Group 6 Plant Equipment: FMC Link Belt Clarifier	Supplier Prode Supplier Note UP TO 2,000LB Supplier Note Supplier Note Supplier Note Supplier Note r 10.00% Supplier Note Supplier Note Supplier Prode Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note Supplier Note	uct Code: s:REGAL GA S PER DAY uct Code: s: uct Code: s: 1 / each uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: uct Code: s: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: s: uct Code: uct Code: s: uct Code: s:	S EQUIPMENT No Bids No Bids 10.00% No Bids No Bids No Bids No Bids

Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-30 Group 6 Plant Equipment: GA Industries		NoB	3ids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-2406-31 Group 6 Plant Equipment: Garlock		No B	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-32	Group 6 Plant Equipment: Halliday Products - First Offe		00%
Product Code:		Supplier Product Code:	
Agency Notes: OCWUT 35-2406-33 Group 6 Plant Equipment: Haws		Supplier Notes:	Dide
Agency Notes:		Supplier Product Code:	JUS
		Supplier Notes:	
OCWUT 35-2406-34 Group 6 Plant Equipment: Hollow Metal Doors a	nd Windows	NoB	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-35 Group 6 Plant Equipment: Huber Grit		No B	Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-2406-36 Group 6 Plant Equipment: J&S Valve Hedflex		No B	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-37 Group 6 Plant Equipment: JMS Augers and Conv	evors	NoB	3ids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-2406-38 Group 6 Plant Equipment: John Crane		No B	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-39 Group 6 Plant Equipment: Jurassic Carbon		NoB	3ids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-24-06-40 Group 6 Plant Equipment: Kome Line Presses		No B	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-41 Group 6 Plant Equipment: Koyo Bearings		NoB	3ids
Agency Notes:		Supplier Product Code:	
OCWUT 35-2406-42 Group 6 Plant Equipment: Kusters		Supplier Notes: No B	Ride
Agency Notes:		Supplier Product Code:	JUS
		Supplier Notes:	
OCWUT 35-2406-43 Group 6 Plant Equipment: Landshire Screws		NoB	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-44 Group 6 Plant Equipment: Leopard Filter Tile and	d Renair Parts	No B	Ride
Agency Notes:		Supplier Product Code:	Jus
		Supplier Notes:	
OCWUT 35-2406-45 Group 6 Plant Equipment: Liftmaster Doors		NoB	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-46 Group 6 Plant Equipment: Lighting Flash Mixers		No B	Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-2406-47	Group 6 Plant Equipment: Limitorque - First Offe	· · · · · ·	00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-48 Group 6 Plant Equipment: Link-Seal		No B	3ids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
OCWUT 35-2406-49 Group 6 Plant Equipment: Lovejoy		No B	3ids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-50 Group 6 Plant Equipment: Martin Decker Load C	ell Scales	No B	Dide

Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-51 Group 6 Plant Equipment: Motorola Control Units	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-24-06-52 Group 6 Plant Equipment: Muffin Monster		lo Bids
Agency Notes:	Supplier Product Code:	o blas
	Supplier Notes:	
OCWUT 35-2406-53 Group 6 Plant Equipment: Myers and Son	N	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-54 Group 6 Plant Equipment: Nachi Technology		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-55 Group 6 Plant Equipment: Nordic Water - Westech	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-56 Group 6 Plant Equipment: Norit Carbon Systems	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code:	0 0.00
OCWUT 35-2406-57 Group 6 Plant Equipment: NSK Corporation	Supplier Notes:	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-58 Group 6 Plant Equipment: Omega Dust Collector		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-59 Group 6 Plant Equipment: Onyx		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-60 Group 6 Plant Equipment: Ovivo	· · ·	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-61 Group 6 Plant Equipment: Park Hannifer	N	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-62 Group 6 Plant Equipment: Philadelphia Mixers	N	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-63 Group 6 Plant Equipment: Pipe Linx	N	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-64 Group 6 Plant Equipment: Poly Blend	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-65 Group 6 Plant Equipment: PPI		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-66 Group 6 Plant Equipment: Proco Products - First Offe		5.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-67 Group 6 Plant Equipment: RDP Lime Systems	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-68 Group 6 Plant Equipment: Red Valve		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-69 Group 6 Plant Equipment: Rodney Hunt	<u> </u>	lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-70 Group 6 Plant Equipment: Rotalgn Laser Shaft Alignment		lo Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-71 Group 6 Plant Equipment: Roto Mix		lo Bids

Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-72 Group 6 Plant Equipment: Rotork Actuators	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-73 Group 6 Plant Equipment: Sew-Eurodrive - First Off	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-74 Group 6 Plant Equipment: Shermco - Equipment Alignments	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-75 Group 6 Plant Equipment: SKF USA	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-76 Group 6 Plant Equipment: Storefront Doors and Windows	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-77 Group 6 Plant Equipment: T.B. Woods	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-78 Group 6 Plant Equipment: Teadit	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-79 Group 6 Plant Equipment: Tekkem Slaker	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-80 Group 6 Plant Equipment: The Bilco Company	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-81 Group 6 Plant Equipment: Tideflex Technologies	NoB
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-82 Group 6 Plant Equipment: Timken Company	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-83 Group 6 Plant Equipment: Toledo Scales	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-84 Group 6 Plant Equipment: Torit Dust Collector	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-85 Group 6 Plant Equipment: USGI	NoBi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-86 Group 6 Plant Equipment: Vulcan Bar Screens	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-87 Group 6 Plant Equipment: Watts	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-88 Group 6 Plant Equipment: Wessels Company	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-89 Group 6 Plant Equipment: WesTech Process Equipment	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-90 Group 6 Plant Equipment: Whipps	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-91 Group 6 Plant Equipment: Zeks Air Dryers (Refrigerated)	No Bi
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 35-2406-92 Group 6 Plant Equipment: Zurn/Wilkins	NoBi

Agency Notes:		Supplier Product Code: Supplier Notes:		
			Lo	t Total:\$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2407-01	Group 7 Labor: Field Labor Per Hour - First Offe	r \$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2407-02	Group 7 Labor: Shop Labor Per Hour - First Offe	r \$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Proc Supplier Note		
			Lot T	otal:\$300.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2408-01	Group 8 Delivery: Delivery Schedule - First Offe	r	1 / day	
Agency Notes: Sur		Supplier Product Code: Supplier Notes: 6-8 WEEKS		
OCWUT 35-2408-02	Group 8 Delivery: Repair Service Schedule - First Offe	r	1 / hour	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 2-4 WEEKS		
			Lot	t Total:\$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2409-01	Group 9 Federal Acquisition Regulations: FAR Clauses - First Offe	r	1 / each	
Product Code: Agency Notes:		Supplier Proc Supplier Note		
			Lo	t Total:\$0.00
				Total Price
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
	Line Item Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Off		<b>Qty/Unit</b> 1 / each	Total Price
	Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Off		1 / each	TotarPrice

Bid Contact <b>Timothy Hunt</b> <u>thunt@aei-inc.com</u> Ph 918-998-7021		Address <b>412 N. Redbud Ave.</b> Broken Arrow, OK 74012			
Agency Notes:			Supplier No	otes:	
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
OCWUT 35-2401-01		Group 1 Air Compressors/Air Blowers: Allen Stuart - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:			Supplier Pr Supplier No We are not t rep/distribu	o <b>tes:</b> the manufac	turer's local

OCWUT 35-2401-02 Product Code: Agency Notes:	r 12.00% 1 / each 12.00 Supplier Product Code: Supplier Notes: We are not the manufacturer's lo rep/distributor for this product	
OCWUT 35-2401-03 Product Code: Agency Notes:	r 12.00% 1 / each 12.00 Supplier Product Code: Supplier Notes:We are not the manufacturer's local rep/distribut for this product	

OCWUT 35-2401-04	Group 1 Air Compressors/Air Blowers: Curtis - First Offer 10.00% 1 / each 10.00%
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
Agency Notes.	We are not the manufacturer's local rep/distributor for this product
OCWUT 35-2401-05	Group 1 Air Compressors/Air Blowers: Dayton - First Offer 10.00% 1 / each 10.00%

	Product Code: Agency Notes:	Supplier Pro Supplier No We are not t rep/distribut	<b>tes:</b> he manufact	urer's local
Ī	OCWUT 35-2401-06         Group 1 Air Compressors/Air Blowers: Gardner D           Product Code:         Comparison of the second	Supplier Pro		12.00%
	Agency Notes:	Supplier No We are not t rep/distribut	he manufact	urer's local oduct
- 1-	OCWUT 35-24-01-07 Group 1 Air Compressors/Air Blowers: Ho		1 / each	12.00%
	Product Code: Agency Notes:	Supplier Pro Supplier No	duct Code: tes:	
- 1-	OCWUT 35-2401-08 Group 1 Air Compressors/Air Blowers: Ingersol		1 / each	12.00%
	Product Code: Agency Notes:	Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> We are i er's local rep	not the

OCWUT 35-2401-09	Group 1 Air Compressors/Air Blowers: Lamson - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier N	roduct Code otes:We are rer's local rep duct	not the
OCWUT 35-2401-10	Group 1 Air Compressors/Air Blowers: Quincy - First Offe	r 12.00%	1 / each	12.00%
Product Code:			oduct Code	
OCWUT 35-2401-11	Group 1 Air Compressors/Air Blowers: Roots Dresser - First Offe	for this prod	er's local reg duct	12.00%
Product Code:			oduct Code	
Agency Notes:		Supplier No We are not	otes: the manufac itor for this p	turer's local
OCWUT 35-2401-12	Group 1 Air Compressors/Air Blowers: Speed Air - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier N	the manufa	turer's local

1		1	
	Craus 1 Air Compressors /Air Disuard Cullair, First Off	12,00% 1 (aach	12.00%
OCWUT 35-2401-13  Product Code:	Group 1 Air Compressors/Air Blowers: Sullair - First Offe		12.00%
Agency Notes:		Supplier Product Code: Supplier Notes:We are	not the
		manufacturer's local rep	/distributor
		for this product	
OCWUT 35-2401-14	Group 1 Air Compressors/Air Blowers: Sulzer-Turbo Blower - First Offe		12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Agency Notes.		We are not the manufac	turer's local
		rep/distributor for this p	
OCWUT 35-2401-15	Group 1 Air Compressors/Air Blowers: Ultra-Web - First Offe	r 12.00% 1 / each	12.00%
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
		We are not the manufact rep/distributor for this p	
1			
			otal: \$0.00

ltem #	Line Item	Unit Price	Qty/Unit 1	otal Price
OCWUT 35-2402-01	Group 2 Pumps: Allis Chalmers - First Offe		1 / each	-3.00%
	Group 2 Pumps: Allis Chalmers - First Offe Group 2 Pumps: American Turbine - First Offe	-3.00% Supplier Pro Supplier No We are the s rep/distribut - 12.00% Supplier Pro Supplier No	1 / each duct Code: tes: ole authorize tor 1 / each duct Code:	-3.00% ed local
		rep/distribu	or for this pr	roduct
OCWUT 35-2402-03 Product Code:	Group 2 Pumps: Aurora - First Offer	Supplier Pr	1 / each	12.00%
Agency Notes:		manufacture for this prod		/distributo
OCWUT 35-2402-04	Group 2 Pumps: Barnes Pumps - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier No We are not t	oduct Code: ites: he manufact tor for this pr	urer's loca

OCWUT 35-2402-05	Group 2 Pumps: Chicago - First Offe	12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's local rep/distr for this product			
OCWUT 35-2402-06	Group 2 Pumps: Dayton - First Offer	12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not manufacturer's local rep/distr for this product.			
OCWUT 35-2402-07	Group 2 Pumps: Denver - First Offe	12.00%	1 / each	12.00%	
		manufactur for this proc		o/distributor	
OCWUT 35-2402-08	Group 2 Pumps: Ebarra - First Offer	5.00%	1 / each	5.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2402-09	Group 2 Pumps: Evoqua - First Offe	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distribu for this product.			
OCWUT 35-2402-10	Group 2 Pumps: Fairbanks Morse - First Offe	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributo for this product.			
OCWUT 35-2402-11	Group 2 Pumps: Floserve - First Offe	10.00%	1 / each	10.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	

OCWUT 35-24-02-12	Group 2 Pumps: Floway - First Offer 10.00% 1 / e	ach 10.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loc for this product.	gent is not the
OCWUT 35-2402-13	Group 2 Pumps: Flygt - First Offer -3.00% 1 / e	ach -3.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co authorized distribu product in Oklahoi	Code: ogent is the sole itor for this
OCWUT 35-2402-14	Group 2 Pumps: Franklin Electric - First Offer 10.00% 1 / e	ach 10.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loc for this product.	gent is not the
OCWUT 35-2402-15	Group 2 Pumps: Gardner Denver - First Offer 12.00% 1 / e	ach 12.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loc for this product.	gent is not the
OCWUT 35-2402-16	Group 2 Pumps: Gorman Rupp - First Offer 15.00% 1 / e	ach 15.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loo for this product.	gent is not the
OCWUT 35-2402-17	Group 2 Pumps: Gould - First Offer -5.00% 1 / e	ach -5.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co authorized distribu product in Oklahor	ogent is an Itor for this
OCWUT 35-2402-18	Group 2 Pumps: Groundsfos - First Offer 12.00% 1 / e	ach 12.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loc for this product.	gent is not the
OCWUT 35-2402-19	Group 2 Pumps: Hale - First Offer 12.00% 1 / e	ach 12.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co manufacturer's loc for this product.	gent is not the
OCWUT 35-2402-20	Group 2 Pumps: Hayward Gordon - First Offer 12.00% 1 / e	ach 12.00%
Product Code: Agency Notes:	Supplier Product Supplier Notes:Co	Code: ogent is not the
	manufacturer's loc for this product.	al rep/distributor

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not manufacturer's local rep/distri for this product.				
OCWUT 35-24-02-22	Group 2 Pumps: Jesco Chem Pumps - First Offe	r 10.00%	1 / each	10.00%		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distrib for this product.		is not the		
OCWUT 35-2402-23	Group 2 Pumps: Komeline Sanderson Piston Pumps - First Offe	r 10.00%	1 / each	10.00%		
Product Code: Agency Notes:		r 10.00% 1 / each 10.00% Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributor for this product.				
OCWUT 35-24-02-24	Group 2 Pumps: Landia - First Offe	10.00%	1 / each	10.00%		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distribut for this product.				
OCWUT 35-2402-25	Group 2 Pumps: Milton Roy - First Offe	-3.00%	1 / each	-3.00%		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is the sole authorized local rep/distributor for this product.				
OCWUT 35-2402-26	Group 2 Pumps: Morris - First Offe	12.00%	1 / each	12.00%		
Agency Notes:				is not the b/distributor		
OCWUT 35-2402-27	Group 2 Pumps: Moyno - First Offe	12.00%	1 / each	12.00%		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distribut for this product.		is not the		
OCWUT 35-2402-28	Group 2 Pumps: Myers - First Offer	-3.00%	1 / each	-3.00%		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is a local distributor for this product.				
OCWUT 35-24-02-29	Group 2 Pumps: National - First Offe	12.00%	1 / each	12.00%		
Product Code: Agency Notes:		Supplier N				
OCWUT 35-2402-30	Group 2 Pumps: Netzsch - First Offe	12.00%	1 / each	12.00%		
Product Code: Agency Notes:		Supplier N				

Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep duct.	is not the
OCWUT 35-2402-32	Group 2 Pumps: Roto Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not th manufacturer's local rep/distrib for this product.		is not the
OCWUT 35-2402-33	Group 2 Pumps: Sulzer - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		12.00%     1 / each     12.00%       Supplier Product Code:       Supplier Notes:     Cogent is not the manufacturer's local rep/distributor for this product.		
OCWUT 35-2402-34	Group 2 Pumps: Summit - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distrib for this product.		is not the
OCWUT 35-2402-35	Group 2 Pumps: Vaughn Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributo for this product.		
OCWUT 35-2402-36	Group 2 Pumps: Viking Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not th manufacturer's local rep/distribu for this product.		is not the
OCWUT 35-2402-37	Group 2 Pumps: Vogelsang Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distribu for this product.		
OCWUT 35-2402-38	Group 2 Pumps: Pentair - First Offer	3.00%	1 / each	3.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is a local rep/distributor for this certain Pentair pump products.		is a local
OCWUT 35-2402-39	Group 2 Pumps: Warman - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No Cogent is no	oduct Code: otes: ot the manufa stributor for t	acturer's
OCWUT 35-2402-40	Group 2 Pumps: Watson Marlow - First Offe	12.00%	1 / each	12.00%
Product Code:		Supplier Product Code: Supplier Notes: Cogent is not the manufacturer's		
Agency Notes:			ot the manufa stributor for t	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is the sole authorized local rep/distributor for this product.			
OCWUT 35-2402-42	Group 2 Pumps: Zoeller - First Offe	12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributor for this product.			
			Lot	fotal: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 35-2403-01	Group 3 Chemical Feed Equipment: Capitol Controls - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re		
OCWUT 35-2403-02	Group 3 Chemical Feed Equipment: Fisher - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re		
OCWUT 35-2403-03	Group 3 Chemical Feed Equipment: Hach - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re		
OCWUT 35-2403-04	Group 3 Chemical Feed Equipment: LMI Miltron Roy - First Offe	r -5.00%	1 / each	-5.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is an authorized local rep/distributor for this product.			
OCWUT 35-2403-05	Group 3 Chemical Feed Equipment: Pennwalt - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributor for this product.			
OCWUT 35-2403-06	Group 3 Chemical Feed Equipment: Periflo - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributor for this product.			
OCWUT 35-2403-07	Group 3 Chemical Feed Equipment: Prominent - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cogent is not the manufacturer's local rep/distributor for this product.			
OCWUT 35-2403-08	Group 3 Chemical Feed Equipment: Pulsar - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not the manufacturer's local rep/distributor for this product.			
OCWUT 35-2403-09	Group 3 Chemical Feed Equipment: Siemens - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No manufactur	upplier Product Code: upplier Notes:Cogent is not the nanufacturer's local rep/distribu or this product.		
--------------------------------	--	---	--	-----------------------	--
OCWUT 35-2403-10	Group 3 Chemical Feed Equipment: Stenner - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	er's local rep	is not the	
OCWUT 35-2403-11	Group 3 Chemical Feed Equipment: Tomco - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proo	o <b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2403-12	Group 3 Chemical Feed Equipment: UGSI - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No manufactur	upplier Product Code: upplier Notes:Cogent is not the nanufacturer's local rep/distribut or this product.		
OCWUT 35-2403-13	Group 3 Chemical Feed Equipment: Wallace and Tierman - First Offe		1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	
				otal: \$0.00	
Item # OCWUT 35-2404-01	Line Item Group 4 Electrical Equipment: ABB-Variable Frequency Drive and Switch Gear - First Off	Unit Price er 12.00%	Qty/Unit	Total Price 12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	er's local rep	is not the	
OCWUT 35-2404-02	Group 4 Electrical Equipment: Allen Bradley - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-03	Group 4 Electrical Equipment: Allied Telesyn International - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	er's local rep	is not the	
OCWUT 35-2404-04	Group 4 Electrical Equipment: American Vacuum Company - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-05			1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No			

		manufactur for this proc	er's local rep luct.	/distributor
OCWUT 35-2404-06	Group 4 Electrical Equipment: Automatic Switch Company - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	is not the	
OCWUT 35-2404-07 Product Code: Agency Notes:	Group 4 Electrical Equipment: Baldor - First Offe	Supplier Pr Supplier No	1 / each oduct Codes otes:Cogent tor for this p	is a local
OCWUT 35-2404-08 Product Code: Agency Notes:	Group 4 Electrical Equipment: Contrex - First Offe	Supplier Pr Supplier Ne	1 / each oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-09	Group 4 Electrical Equipment: Cryogenitics - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-10	Group 4 Electrical Equipment: Cutler Hammer - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-11	Group 4 Electrical Equipment: Dwyer - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-12	Group 4 Electrical Equipment: Eagle Signal - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-13	Group 4 Electrical Equipment: Effectar Controls - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-14	Group 4 Electrical Equipment: Endress Houser - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-15	Group 4 Electrical Equipment: Federal Signal - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2404-16	Group 4 Electrical Equipment: Flowline Instruments - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep	is not the

		for this proc	duct.	
OCWUT 35-2404-17	Group 4 Electrical Equipment: Forceflow Equipment - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this prod	otes:Cogen er's local re	
OCWUT 35-2404-18 Group	p 4 Electrical Equipment: General Electric - Motor Controls, Variable Speed Pump Controls, & Switch Gear - First Of	fer 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	otes:Cogen er's local re	
OCWUT 35-2404-19	Group 4 Electrical Equipment: Honeywell Instruments - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	otes:Cogen er's local re	
OCWUT 35-2404-20	Group 4 Electrical Equipment: Idec Controls - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this prod	otes:Cogen er's local re	
OCWUT 35-2404-21	Group 4 Electrical Equipment: Kinetrol - First Offe	r 12.00%	1 / each	12.00%
		manufactur for this proc		p/distributo
OCWUT 35-2404-22	Group 4 Electrical Equipment: Knife Batteries - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this prod	otes:Cogen er's local re	
OCWUT 35-2404-23	Group 4 Electrical Equipment: Krohme Instruments - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	otes:Cogen er's local re	
OCWUT 35-2404-24	Group 4 Electrical Equipment: LeRoi - Natural Gas Engines & Medium & High Voltage Switch Gear - First Off	er 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	otes:Cogen er's local re	
OCWUT 35-2404-25	Group 4 Electrical Equipment: Marathon Motors - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code otes:Cogen er's local re	e:
OCWUT 35-2404-26	Group 4 Electrical Equipment: Materials Controls, Inc First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur	otes:Cogen	

		for this prod	or this product.		
OCWUT 35-2404-27	Group 4 Electrical Equipment: McCrometer - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture	Supplier Product Code: Supplier Notes:Cogent is not the nanufacturer's local rep/distribut or this product.		
OCWUT 35-2404-28	Group 4 Electrical Equipment: Mettler Toledo - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-29	Group 4 Electrical Equipment: Moxa - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-30			1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-31	Group 4 Electrical Equipment: MVC - Surge Protector - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-32	Group 4 Electrical Equipment: Sew-Eurodrive - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2404-33	Group 4 Electrical Equipment: Toshiba Drives and Motors - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
				otal: \$0.00	
Item #	Line Item	Unit Price	-	Total Price	
OCWUT 35-24-05-01 Product Code: Agency Notes:		er 12.00% Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2405-02	Group 5 Gauges, Monitors, and Accessories: Action Industry - First Offe		1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture for this prod	<b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2405-03	Group 5 Gauges, Monitors, and Accessories: Ashcroft - First Offe	r 12.00%	1 / each	12.00%	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:Cogent is not th nanufacturer's local rep/distribu for this product.		
OCWUT 35-2405-04	Group 5 Gauges, Monitors, and Accessories: Badger - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep/ duct.	s not the
OCWUT 35-2405-05	Group 5 Gauges, Monitors, and Accessories: Bindicator - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep/ luct.	s not the
OCWUT 35-2405-06	Group 5 Gauges, Monitors, and Accessories: Dwyer - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent is er's local rep/ luct.	s not the
OCWUT 35-2405-07	Group 5 Gauges, Monitors, and Accessories: Endress Hauser - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent is er's local rep/ duct.	s not the
OCWUT 35-2405-08	Group 5 Gauges, Monitors, and Accessories: Honeywell - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent is er's local rep/ duct.	s not the
OCWUT 35-2405-09	Group 5 Gauges, Monitors, and Accessories: Magnitrol - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent is er's local rep/ duct.	s not the
OCWUT 35-2405-10	Group 5 Gauges, Monitors, and Accessories: Mercoid			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-11	Group 5 Gauges, Monitors, and Accessories: Numatics			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-12	Group 5 Gauges, Monitors, and Accessories: Omega			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-13	Group 5 Gauges, Monitors, and Accessories: Reno A and E			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-14	Group 5 Gauges, Monitors, and Accessories: Rosemount			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-15	Group 5 Gauges, Monitors, and Accessories: Universal - Flow Monitors			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-16	Group 5 Gauges, Monitors, and Accessories: Venture			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-17	Group 5 Gauges, Monitors, and Accessories: Wahl			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-18	Group 5 Gauges, Monitors, and Accessories: Weiss			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	

			Lot T	otal: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 35-2406-01	Group 6 Plant Equipment: Alfa Laval Presses - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No manufactur	upplier Product Code: upplier Notes:Cogent is not the anufacturer's local rep/distributo r this product.		
OCWUT 35-2406-02	Group 6 Plant Equipment: Assa Abloy Operators - First Offe	r 12.00%	1 / each	12.00%	
Product Code:			oduct Code:		
Agency Notes:		manufactur	upplier Product Code: upplier Notes:Cogent is not the nanufacturer's local rep/distributo or this product.		
OCWUT 35-2406-03	Group 6 Plant Equipment: Automatic Switch Company - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the	
OCWUT 35-2406-04	Group 6 Plant Equipment: BDP - First Offe	12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the	
OCWUT 35-2406-05	Group 6 Plant Equipment: Bradley			No Bids	
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
OCWUT 35-2406-06	Group 6 Plant Equipment: Caloritech Heaters			No Bids	
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:		
OCWUT 35-2406-07	Group 6 Plant Equipment: Caterpillar Equipment			No Bids	
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:		
OCWUT 35-2406-08	Group 6 Plant Equipment: Chemical Storage Tanks - First Offe		1 / each	5.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent tor for this p	is a local	
OCWUT 35-2406-09	Group 6 Plant Equipment: Chesterton - First Offe	r 5.00%	1 / each	5.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the	
OCWUT 35-2406-10	Group 6 Plant Equipment: Cla-Val - First Offe	15.00%	1 / each	15.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the	
OCWUT 35-2406-11	Group 6 Plant Equipment: Cleveland Mixer - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the	
OCWUT 35-2406-12	Group 6 Plant Equipment: Conquest - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pro Supplier No Cogent is no	oduct Code:	acturer's	

OCWUT 35-2406-13	Group 6 Plant Equipment: Conseco - Hydrated Lime System - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-14	Group 6 Plant Equipment: Cummins Equipment			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	:
OCWUT 35-2406-15	Group 6 Plant Equipment: Dezurick Valves - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-16	Group 6 Plant Equipment: Dodge Gear Boxes - First Offe	ı	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-17	Group 6 Plant Equipment: EDI Diffusers - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-18	Group 6 Plant Equipment: EIMCO Process Equipment - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-19	Group 6 Plant Equipment: Epic Lubing Systems - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-20	Group 6 Plant Equipment: Evoqua Regulators and Injectors - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-21	Group 6 Plant Equipment: EVR - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	er's local rep	is not the
OCWUT 35-2406-22	Group 6 Plant Equipment: Falk Gearboxes - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-23	Group 6 Plant Equipment: Febco - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:Cogent	

		manufactur for this proc	rer's local rep duct.	/distributor
OCWUT 35-2406-24	Group 6 Plant Equipment: Fiberglass Custom Fabrication - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent rer's local rep duct.	is not the
OCWUT 35-2406-25	Group 6 Plant Equipment: Fiberglass Doors and Windows			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code:	:
OCWUT 35-2406-26	Group 6 Plant Equipment: Fisher Controls Company	ouppiler in		No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code:	:
OCWUT 35-2406-27	Group 6 Plant Equipment: FMC Link Belt Clarifier - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier No Cogent is no	oduct Code: otes: ot the manufa stributor for t	acturer's
OCWUT 35-2406-28	Group 6 Plant Equipment: Fontaine Aquanox - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-29	Group 6 Plant Equipment: Fuller Dust Collectors - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-30	Group 6 Plant Equipment: GA Industries - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent rer's local rep duct.	is not the
OCWUT 35-2406-31	Group 6 Plant Equipment: Garlock - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent itor for this p	is a local
OCWUT 35-2406-32	Group 6 Plant Equipment: Halliday Products - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	:
OCWUT 35-2406-33	Group 6 Plant Equipment: Haws			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	:
OCWUT 35-2406-34	Group 6 Plant Equipment: Hollow Metal Doors and Windows			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	:
OCWUT 35-2406-35	Group 6 Plant Equipment: Huber Grit - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-36	Group 6 Plant Equipment: J&S Valve Hedflex - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the

			1 / each	
OCWUT 35-24-06-37 Product Code: Agency Notes:	Group 6 Plant Equipment: JMS Augers and Conveyors - First Offe	Supplier Pr Supplier No		
OCWUT 35-2406-38	Group 6 Plant Equipment: John Crane - First Offe	r -3.00%	1 / each	-3.00%
Product Code: Agency Notes:		Supplier Pr Supplier Ne rep/distribu	otes:Cogent	is the local
OCWUT 35-2406-39	Group 6 Plant Equipment: Jurassic Carbon - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	otes:Cogent er's local re	
OCWUT 35-2406-40	Group 6 Plant Equipment: Kome Line Presses - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re	
OCWUT 35-2406-41	Group 6 Plant Equipment: Koyo Bearings - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re	
OCWUT 35-2406-42	Group 6 Plant Equipment: Kusters - First Offe	r -5.00%	1 / each	-5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No authorized this product	otes:Cogent local rep/dis	is the sole
OCWUT 35-2406-43	Group 6 Plant Equipment: Landshire Screws			No Bids
Agency Notes:		Supplier Pr Supplier No		
OCWUT 35-2406-44	Group 6 Plant Equipment: Leopard Filter Tile and Repair Parts			No Bids
Agency Notes:		Supplier Pr Supplier No		r:
OCWUT 35-2406-45	Group 6 Plant Equipment: Liftmaster Doors			No Bids
Agency Notes:		Supplier Pr Supplier No		::
OCWUT 35-2406-46	Group 6 Plant Equipment: Lighting Flash Mixers - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No distributor f	otes:Cogent	is a local
OCWUT 35-2406-47	Group 6 Plant Equipment: Limitorque - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re	
OCWUT 35-2406-48	Group 6 Plant Equipment: Link-Seal - First Offe	r 5.00%	1 / each	5.00%
Product Code:		Supplier Pr		
Agency Notes:		Supplier No		

		rep/distribu	tor for this p	roduct.
OCWUT 35-2406-49	Group 6 Plant Equipment: Lovejoy - First Offe	10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-50	Group 6 Plant Equipment: Martin Decker Load Cell Scales			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-51	Group 6 Plant Equipment: Motorola Control Units - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-52	Group 6 Plant Equipment: Muffin Monster - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-53	Group 6 Plant Equipment: Myers and Son - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-54	Group 6 Plant Equipment: Nachi Technology			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-55	Group 6 Plant Equipment: Nordic Water - Westech - First Offe	r 10.00%	1 / each	10.00%
Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-56	Group 6 Plant Equipment: Norit Carbon Systems - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-57	Group 6 Plant Equipment: NSK Corporation			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-58	Group 6 Plant Equipment: Omega Dust Collector - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent rer's local rep duct.	is not the
OCWUT 35-2406-59	Group 6 Plant Equipment: Onyx - First Offe	10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-60	Group 6 Plant Equipment: Ovivo - First Offe	10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-61	Group 6 Plant Equipment: Park Hannifer - First Offe	r 10.00%	1 / each	10.00%

Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-62	Group 6 Plant Equipment: Philadelphia Mixers - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-63	Group 6 Plant Equipment: Pipe Linx			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-64	Group 6 Plant Equipment: Poly Blend - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the
OCWUT 35-2406-65	Group 6 Plant Equipment: PPI - First Offe	10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-66	Group 6 Plant Equipment: Proco Products			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-67	Group 6 Plant Equipment: RDP Lime Systems - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the
OCWUT 35-2406-68	Group 6 Plant Equipment: Red Valve - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep luct.	is not the
OCWUT 35-2406-69	Group 6 Plant Equipment: Rodney Hunt - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-70	Group 6 Plant Equipment: Rotalgn Laser Shaft Alignment - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent er's local rep duct.	is not the
OCWUT 35-2406-71	Group 6 Plant Equipment: Roto Mix - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep	is not the
OCWUT 35-2406-72	Group 6 Plant Equipment: Rotork Actuators - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:Cogent er's local rep	is not the

		for this proc	duct.	
OCWUT 35-2406-73	Group 6 Plant Equipment: Sew-Eurodrive - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:	· · · ·	Supplier Pr Supplier No	oduct Code: otes:Cogent i er's local rep.	is not the
OCWUT 35-2406-74	Group 6 Plant Equipment: Shermco - Equipment Alignments - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier N	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-75	Group 6 Plant Equipment: SKF USA - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier N	oduct Code: otes:Cogent i rer's local rep. duct.	is not the
OCWUT 35-2406-76	Group 6 Plant Equipment: Storefront Doors and Windows			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-77	Group 6 Plant Equipment: T.B. Woods			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-78	Group 6 Plant Equipment: Teadit			No Bids
Agency Notes:		Supplier Pr Supplier N	oduct Code:	
OCWUT 35-2406-79	Group 6 Plant Equipment: Tekkem Slaker - First Offe		1 / each	10.00%
Agency Notes:		manufactur for this proc		/distributo
OCWUT 35-2406-80	Group 6 Plant Equipment: The Bilco Company - First Offe		1 / each	10.00%
Product Code: Agency Notes:		Supplier N	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-81	Group 6 Plant Equipment: Tideflex Technologies - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier N	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-82	Group 6 Plant Equipment: Timken Company			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-83	Group 6 Plant Equipment: Toledo Scales			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-84	Group 6 Plant Equipment: Torit Dust Collector - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i er's local rep. duct.	is not the
OCWUT 35-2406-85	Group 6 Plant Equipment: USGI - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:Cogent i rer's local rep. duct.	is not the

OCWUT 35-2406-86	Group 6 Plant Equipment: Vulcan Bar Screens - First Offe	r 12.00%	1 / each	12.00%	
Product Code:		Supplier Pr			
Agency Notes:		Supplier No manufactur			
			or this product.		
OCWUT 35-2406-87	Group 6 Plant Equipment: Watts - First Offe	12.00%	1 / each	12.00%	
Product Code:		Supplier Pr			
Agency Notes:		Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local rep	is not the	
OCWUT 35-2406-88	Group 6 Plant Equipment: Wessels Company - First Offe	r 12.00%	1 / each	12.00%	
Product Code:		Supplier Pr	oduct Code	:	
Agency Notes:		Supplier No manufactur for this proc	er's local re		
OCWUT 35-2406-89	Group 6 Plant Equipment: WesTech Process Equipment - First Offe	r 12.00%	1 / each	12.00%	
Product Code:		Supplier Pr			
Agency Notes:		Supplier No manufactur for this proc	er's local re		
OCWUT 35-2406-90	Group 6 Plant Equipment: Whipps - First Offe	r 12.00%	1 / each	12.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No			
		for this proc	luct.		
OCWUT 35-2406-91	Group 6 Plant Equipment: Zeks Air Dryers (Refrigerated) - First Offe	r 12.00%	1 / each	12.00%	
Product Code:		Supplier Pr			
Agency Notes:		Supplier No manufactur for this proc	er's local re		
OCWUT 35-2406-92			1 / each	15.00%	
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur for this proc	o <b>tes:</b> Cogent er's local re	is not the	
			1 - 4 -	otal: \$0.00	
	· · · · · · · · · · · · · · · · · · ·				
ltem #		Unit Price	Qty/Unit		
OCWUT 35-2407-01	Group 7 Labor: Field Labor Per Hour - First Offer	r \$160.00	<b>Qty/Unit</b> 1 / each	\$160.00	
OCWUT 35-2407-01 Product Code: Agency Notes:	Group 7 Labor: Field Labor Per Hour - First Offer	supplier Pr Supplier No	Qty/Unit 1 / each oduct Code otes:	\$160.00 :	
OCWUT 35-2407-01 Product Code: Agency Notes: OCWUT 35-2407-02	Group 7 Labor: Field Labor Per Hour - First Offe Group 7 Labor: Shop Labor Per Hour - First Offe	r \$160.00 Supplier Pr Supplier No r \$160.00	Qty/Unit 1 / each oduct Code otes: 1 / each	\$160.00 : \$160.00	
OCWUT 35-24-07-01 Product Code: Agency Notes: OCWUT 35-24-07-02 Product Code:	Group 7 Labor: Field Labor Per Hour - First Offe Group 7 Labor: Shop Labor Per Hour - First Offe	supplier Pr Supplier No	Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code	\$160.00 : \$160.00	
OCWUT 35-2407-01 Product Code: Agency Notes: OCWUT 35-2407-02 Product Code:	Group 7 Labor: Field Labor Per Hour - First Offe Group 7 Labor: Shop Labor Per Hour - First Offe	supplier Pr Supplier Nor \$160.00 Supplier Pr	Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: Lot To	\$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00	
OCWUT 35-2407-01 Product Code: Agency Notes: OCWUT 35-2407-02 Product Code: Agency Notes: Item #	Group 7 Labor: Field Labor Per Hour - First Offer Group 7 Labor: Shop Labor Per Hour - First Offer	r \$160.00 Supplier Pr Supplier No r \$160.00 Supplier Pr Supplier No Unit Price	Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: Lot Too Qty/Unit	\$160.00 : \$160.00 :	
OCWUT 35-2407-01 Product Code: Agency Notes: OCWUT 35-2407-02 Product Code: Agency Notes: Item # OCWUT 35-2408-01	Group 7 Labor: Field Labor Per Hour - First Offer Group 7 Labor: Shop Labor Per Hour - First Offer Line Item Group 8 Delivery: Delivery Schedule - First Offer	r \$160.00 Supplier Pr Supplier No r \$160.00 Supplier Pr Supplier No Unit Price	Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: Lot Too Qty/Unit 1 / day	\$160.00 : \$160.00 : : al: \$320.00 Total Price	
OCWUT 35-2407-01 Product Code: Agency Notes: OCWUT 35-2407-02 Product Code: Agency Notes: Item #	Group 7 Labor: Field Labor Per Hour - First Offer Group 7 Labor: Shop Labor Per Hour - First Offer Line Item Group 8 Delivery: Delivery Schedule - First Offer	r \$160.00 Supplier Pr Supplier No r \$160.00 Supplier Pr Supplier No Unit Price	Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: Lot Tot Qty/Unit 1 / day oduct Code	\$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00 \$160.00	

Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code otes:	:
			Lot T	otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
DCWUT 35-2409-0	1 Group 9 Federal Acquisition Regulations: FAR Clauses - First Offe	r	1 / each	
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code otes:	:
0 7				otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2410-0	1 Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Of	fer	1 / each	
		Duperon, Cu Trend, Flygt HydroGate, Hydro Inter Dyne Engine Kaeser, Kus Myers, Milto Energie, Prii Sodimate, S Twister, Tos Verder, and	ndor registra	richlor, Flo TT Goulds, uments, ek), Hydro- Group, Hi Tech, Nuove olite, Simflo ock, Titus t Actuator,
Bid Contact <b>Jacob</b> jacob	Blough     Address 1839 Linwood Blvd       @asemok.com     OKC, OK 73106	\$225	5.00 (120/	219 items
Bid Contact <b>Jacob</b> jacob Ph 40 Bid Notes We ar	Blough Address 1839 Linwood Blvd	Supplier No	otes:We are er's rep/dist	not the
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes:	Blough     Address 1839 Linwood Blvd       @asemok.com     OKC, OK 73106       5-639-9882     OKC, OK 73106	Supplier No	<b>otes:</b> We are rer's rep/dist	not the
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes:	Blough       Address 1839 Linwood Blvd         @asemok.com       OKC, OK 73106         5-639-9882       or not the manufacturer's rep/distributor for this product.         Line Item       Line Item	Supplier No manufactur this product	<b>otes:</b> We are rer's rep/dist	not the ributor for
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-2401-0	Blough       Address 1839 Linwood Blvd         @asemok.com       OKC, OK 73106         5-639-9882       e not the manufacturer's rep/distributor for this product.         ke not the manufacturer's rep/distributor for this product.       Line Item         1       Group 1 Air Compressors/Air Blowers: Allen Stuart	Supplier No manufactur this product Unit Price Supplier Pr	otes:We are er's rep/dist t. Qty/Unit oduct Code	not the ributor for <b>Total Price</b> No Bids
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-2401-0 Agency Notes:	Blough Address 1839 Linwood Blvd OKC, OK 73106 5-639-9882 re not the manufacturer's rep/distributor for this product. Line Item 1 Group 1 Air Compressors/Air Blowers: Allen Stuart	Supplier No manufactur this product Unit Price	otes:We are er's rep/dist t. Qty/Unit oduct Code	not the ributor for <b>Total Price</b> No Bids
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough Address 1839 Linwood Blvd @asemok.com OKC, OK 73106 5-639-9882 re not the manufacturer's rep/distributor for this product. Line Item 1 Group 1 Air Compressors/Air Blowers: Allen Stuart	Supplier Ne manufactur this product Unit Price Supplier Pr Supplier Ne Supplier Pr	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code	not the ributor for <b>Total Price</b> <u>No Bids</u> <u>No Bids</u>
Bid Contact <b>Jacob</b> jacob Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough Address 1839 Linwood Blvd @asemok.com 5-639-9882 re not the manufacturer's rep/distributor for this product. Line Item 1 Group 1 Air Compressors/Air Blowers: Allen Stuart 2 Group 1 Air Compressors/Air Blowers: Atlas Copco	Supplier No manufactur this product Unit Price Supplier Pr Supplier No	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code	not the ributor for <b>Total Price</b> <u>No Bids</u> : <u>No Bids</u>
Bid Contact <b>Jacob</b> jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough Address 1839 Linwood Blvd   @asemok.com OKC, OK 73106   5-639-9882 or the manufacturer's rep/distributor for this product.     Line Item   1   Group 1 Air Compressors/Air Blowers: Allen Stuart   2      2   Group 1 Air Compressors/Air Blowers: Atlas Copco	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Pr Supplier Pr Supplier Pr	otes:We are er's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code	not the ributor for Total Price No Bids No Bids
Bid Contact <b>Jacob</b> jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough       Address 1839 Linwood Blvd OKC, OK 73106         S-639-9882       oKC, OK 73106         te not the manufacturer's rep/distributor for this product.       Image: Comparison of the second of	Supplier No manufactur this product Unit Price Supplier Pr Supplier No Supplier Pr Supplier No	otes:We are er's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code	not the ributor for <b>Total Price</b> No Bids No Bids No Bids
Bid Contact Jacob jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough       Address 1839 Linwood Blvd OKC, OK 73106         S-639-9882       oKC, OK 73106         te not the manufacturer's rep/distributor for this product.       Image: Comparison of the second of	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Pr Supplier Pr Supplier Pr	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for <b>Total Price</b> <u>No Bids</u> : <u>No Bids</u> : <u>No Bids</u>
Bid Contact <b>Jacob</b> <b>jacob</b> Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough       Address 1839 Linwood Blvd OKC, OK 73106         5-639-9882       OKC, OK 73106         re not the manufacturer's rep/distributor for this product.       Image: Comparison of the second se	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Pr Supplier Norman	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for <b>Total Price</b> No Bids No Bids No Bids
Bid Contact Jacob jacob Ph 40: Bid Notes We ar agency Notes: CWUT 35-24-01-0 agency Notes: CWUT 35-24-01-0 agency Notes: CWUT 35-24-01-0 agency Notes: CWUT 35-24-01-0 agency Notes: CWUT 35-24-01-0 agency Notes:	Blough       Address 1839 Linwood Blvd OKC, OK 73106         5-639-9882       OKC, OK 73106         re not the manufacturer's rep/distributor for this product.       Image: Comparison of the product of the produ	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman	otes:We are er's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids
Bid ContactJacob jacob Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough       Address 1839 Linwood Blvd OKC, OK 73106         Composition       OKC, OK 73106         Composition       OKC, OK 73106         Line tem       Image: Composition of the product.         Image: Composition of the product of the	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids
Bid Contact <b>Jacob</b> <b>jacob</b> Ph 40: Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough       Address 1839 Linwood Blvd OKC, OK 73106         Composition       OKC, OK 73106         Composition       OKC, OK 73106         Line tem       Image: Composition of the product.         Image: Composition of the product of the	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Pr Supplier Norman Supplier Pr	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids
Bid ContactJacob jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough       Address 1839 Linwood Blvd OKC, OK 73106         S-639-9882       oKC, OK 73106         te not the manufacturer's rep/distributor for this product.       Image: Comparison of the state of the sta	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Pr Supplier Norman Supplier Pr Supplier Norman Supplier Norman	otes:We are er's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids No Bids
Bid ContactJacob jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough       Address 1839 Linwood Blvd OKC, OK 73106         S-639-9882       OKC, OK 73106         te not the manufacturer's rep/distributor for this product.       Image: Comparison of the structure o	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Pr Supplier Norman Supplier Pr	otes:We are er's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids No Bids
Ph 40	Blough       Address 1839 Linwood Blvd OKC, OK 73106         S-639-9882       OKC, OK 73106         te not the manufacturer's rep/distributor for this product.       Image: Comparison of the structure o	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Pr	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids No Bids
Bid Contact Jacob jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes:	Blough       Address 1839 Linwood Bivd OKC, OK 73106         5-639-9882       e not the manufacturer's rep/distributor for this product.         Line Item	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman Supplier Norman	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids No Bids No Bids
Bid Contact Jacob jacob Ph 40 Bid Notes We ar Agency Notes: Item # OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0 Agency Notes: OCWUT 35-24-01-0	Blough       Address 1839 Linwood Bivd OKC, OK 73106         5-639-9882       e not the manufacturer's rep/distributor for this product.         Line Item	Supplier Normanufactur this product Unit Price Supplier Pr Supplier Norman Supplier Norman	otes:We are rer's rep/dist t. Qty/Unit oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes: oduct Code otes:	not the ributor for Total Price No Bids No Bids No Bids No Bids No Bids No Bids

Agency Notes:		Supplier Pr Supplier No		:
OCWUT 35-2401-10				No Bids
Agency Notes:		Supplier Pr		
OCWUT 35-2401-11		Supplier No	otes:	No Bids
Agency Notes:	Group 1 Air Compressors/Air Blowers: Roots Dresser	Supplier Pr	oduct Code	
ingency notes.		Supplier No		•
OCWUT 35-2401-12	Group 1 Air Compressors/Air Blowers: Speed Air			No Bids
Agency Notes:		Supplier Pr Supplier No		:
OCWUT 35-2401-13	Group 1 Air Compressors/Air Blowers: Sullair			No Bids
Agency Notes:		Supplier Pr Supplier No		:
OCWUT 35-2401-14	Group 1 Air Compressors/Air Blowers: Sulzer-Turbo Blower			No Bids
Agency Notes:		Supplier Pr Supplier No		:
OCWUT 35-2401-15				No Bids
Agency Notes:		Supplier Pr Supplier No		:
				f <b>otal:</b> \$0.00
ltem #	Line Item	Unit Price		Total Price
OCWUT 35-2402-01	Group 2 Pumps: Allis Chalmers - First Offe		1 / each	5.00%
Product Code: Agency Notes:		Supplier Pro Supplier Nor manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-02	Group 2 Pumps: American Turbine - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are manufacturer's rep/distr this product.		not the
OCWUT 35-2402-03	Group 2 Pumps: Aurora - First Offe	5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-04	Group 2 Pumps: Barnes Pumps - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-05	Group 2 Pumps: Chicago - First Offe	21.00%	1 / each	21.00%
Product Code: Agency Notes:		Supplier Pro Supplier Nor manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-06	Group 2 Pumps: Dayton - First Offe	· ·	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-07	Group 2 Pumps: Denver - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
	Group 2 Pumps: Ebarra - First Offe		1 / each	5.00%
OCWUT 35-2402-08	Group 21 dimps, Eburia Triscone			
Product Code:		Supplier Pro Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2402-08 Product Code: Agency Notes: OCWUT 35-2402-09		Supplier Pro Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the

		manufacture this product.	er's rep/distri	butor for
OCWUT 35-2402-10	Group 2 Pumps: Fairbanks Morse - First Offer	14.00%	1 / each	14.00%
Product Code: Agency Notes:	s	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-11	Group 2 Pumps: Floserve - First Offer	8.00%	1 / each	8.00%
Product Code: Agency Notes:	S r	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-12	Group 2 Pumps: Floway - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-13	Group 2 Pumps: Flygt - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s r	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-14	Group 2 Pumps: Franklin Electric - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s r	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-15	Group 2 Pumps: Gardner Denver - First Offer	8.00%	1 / each	8.00%
Product Code: Agency Notes:	s r	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-16	Group 2 Pumps: Gorman Rupp - First Offer	14.00%	1 / each	14.00%
Product Code: Agency Notes:	s	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-17	Group 2 Pumps: Gould - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s r	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-18	Group 2 Pumps: Groundsfos - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:	s	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-19	Group 2 Pumps: Hale - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s	Supplier No	duct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-20	Group 2 Pumps: Hayward Gordon - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-21	Group 2 Pumps: Hydroflo - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes:	s	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-22	Group 2 Pumps: Jesco Chem Pumps - First Offer	11.00%	1 / each	11.00%
Product Code: Agency Notes:	s	Supplier No	oduct Code: tes:We are r er's rep/distri	not the
OCWUT 35-2402-23	Group 2 Pumps: Komeline Sanderson Piston Pumps - First Offer	11.00%	1 / each	11.00%

Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are a	not the
OCWUT 35-2402-24	Group 2 Pumps: Landia - First Offer	11.00%	1 / each	11.00%
Product Code: Agency Notes:	· · ·	Supplier Pro Supplier No manufacture this product	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2402-25	Group 2 Pumps: Milton Roy - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-26	Group 2 Pumps: Morris - First Offer	11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-27	Group 2 Pumps: Moyno - First Offer	11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-28	Group 2 Pumps: Myers - First Offer	5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-29	Group 2 Pumps: National - First Offe	5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-30	Group 2 Pumps: Netzsch - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	er's rep/distr	not the
OCWUT 35-2402-31	Group 2 Pumps: Peerless - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	er's rep/distr	not the
OCWUT 35-2402-32	Group 2 Pumps: Roto Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-33	Group 2 Pumps: Sulzer - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No		
OCWUT 35-2402-34	Group 2 Pumps: Summit - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2402-35	Group 2 Pumps: Vaughn Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No		
OCWUT 35-2402-36	Group 2 Pumps: Viking Pumps - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufacture this product	o <b>tes:</b> We are i er's rep/distr	not the
OCWUT 35-2402-37	Group 2 Pumps: Vogelsang Pumps - First Offe	· · ·	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No		

		manufactur this product	er's rep/distr	butor for
OCWUT 35-2402-38	Group 2 Pumps: Pentair - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr	not the
OCWUT 35-2402-39	Group 2 Pumps: Warman - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr	not the
OCWUT 35-2402-40	Group 2 Pumps: Watson Marlow - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr	not the
OCWUT 35-2402-41	Group 2 Pumps: Wemco - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distr	not the
OCWUT 35-2402-42	Group 2 Pumps: Zoeller - First Offe	12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr	not the
				otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	
OCWUT 35-2403-01 Agency Notes:		Supplier Pro	oduct Code:	No Bids
OCWUT 35-2403-02	Group 3 Chemical Feed Equipment: Fisher			No Bids
Agency Notes:		Supplier Pro	oduct Code: otes:	
OCWUT 35-2403-03	Group 3 Chemical Feed Equipment: Hach			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2403-04	Group 3 Chemical Feed Equipment: LMI Miltron Roy			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2403-05	Group 3 Chemical Feed Equipment: Pennwalt			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2403-06	Group 3 Chemical Feed Equipment: Periflo			No Bids
Agency Notes:		Supplier Pro	oduct Code: otes:	
OCWUT 35-2403-07	Group 3 Chemical Feed Equipment: Prominent			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2403-08	Group 3 Chemical Feed Equipment: Pulsar			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2403-09	Group 3 Chemical Feed Equipment: Siemens - First Offe		1 / each	8.00%
Product Code: Agency Notes:		Supplier No and delivery	oduct Code: otes:yes we o when reque ss its after bu ours	lo pick up sted. No
OCWUT 35-2403-10	Group 3 Chemical Feed Equipment: Stenner			No Bids
Agency Notes:		Supplier Pro	oduct Code: otes:	
OCWUT 35-2403-11	Group 3 Chemical Feed Equipment: Tomco			No Bids
Agency Notes:		Supplier Pro	oduct Code:	

Agency Notes:		Supplier Pr	oduct Code	
		Supplier No		
OCWUT 35-2403-13	Group 3 Chemical Feed Equipment: Wallace and Tierman			No Bids
Agency Notes:		Supplier Pr Supplier No		:
		Supplierite		otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
OCWUT 35-2404-01	Group 4 Electrical Equipment: ABB-Variable Frequency Drive and Switch Gear - First Off	er 1.00%	1 / each	1.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	tes:We are	not the
		manufactur this product		ributor for
OCWUT 35-2404-02	Group 4 Electrical Equipment: Allen Bradley - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-03	Group 4 Electrical Equipment: Allied Telesyn International - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-04	Group 4 Electrical Equipment: American Vacuum Company - First Offe		1 / each	15.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/disti	not the
OCWUT 35-2404-05	Group 4 Electrical Equipment: Arco Wand Vacuum System - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Pro Supplier Nor manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-06	Group 4 Electrical Equipment: Automatic Switch Company - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-07	Group 4 Electrical Equipment: Baldor - First Offe	r 1.00%	1 / each	1.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/disti	not the
OCWUT 35-2404-08	Group 4 Electrical Equipment: Contrex - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pro Supplier Not manufactur this product	o <b>tes:</b> We are er's rep/disti	not the
OCWUT 35-2404-09	Group 4 Electrical Equipment: Cryogenitics - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/disti	not the
OCWUT 35-2404-10	Group 4 Electrical Equipment: Cutler Hammer - First Offe		1 / each	5.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufactur this product	o <b>tes:</b> We are er's rep/disti	not the
OCWUT 35-2404-11	Group 4 Electrical Equipment: Dwyer - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier Pro Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-12	Group 4 Electrical Equipment: Eagle Signal - First Offe	r 3.00%	1 / each	3.00%
Product Code: Agency Notes:		Supplier Pro Supplier No		

Product Code: Agency Notes:			oduct Code: otes:We are	
OCWUT 35-2404-26	Group 4 Electrical Equipment: Materials Controls, Inc First Offe	this product	er's rep/distr t. 1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are	not the
OCWUT 35-2404-25	Group 4 Electrical Equipment: Marathon Motors - First Offe	this product r 5.00%	t. 1 / each	5.00%
Product Code: Agency Notes:		Supplier No manufactur	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2404-24	Group 4 Electrical Equipment: LeRoi - Natural Gas Engines & Medium & High Voltage Switch Gear - First Off		1 / each	12.00%
Product Code: Agency Notes:		Supplier No manufactur this product	oduct Code: otes:We are er's rep/distr t.	not the
Agency Notes: OCWUT 35-2404-23		manufactur this product	otes:We are er's rep/distr t. 1 / each	
OCWUT 35-2404-22 Product Code:	Group 4 Electrical Equipment: Knife Batteries - First Offe	Supplier Pr	1 / each oduct Code:	
Agency Notes:		Supplier No		
OCWUT 35-2404-21	Group 4 Electrical Equipment: Kinetrol			No Bids
Product Code: Agency Notes:	· · · · · ·	Supplier Pr Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2404-20	Group 4 Electrical Equipment: Idec Controls - First Offe	this product	er's rep/distr t. 1 / each	3.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are	not the
OCWUT 35-2404-19	Group 4 Electrical Equipment: Honeywell Instruments - First Offe		1 / each	8.00%
Product Code: Agency Notes:		Supplier Pr Supplier No We are not f	oduct Code: otes: the manufac tor for this p	turer's
OCWUT 35-2404-18	Group 4 Electrical Equipment: General Electric - Motor Controls, Variable Speed Pump Controls, & Switch Gear - First Of	this product er 7.00%	t. 1 / each	7.00%
Product Code: Agency Notes:		Supplier No manufactur	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2404-17		this product	er's rep/distr t. 1 / each	15.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:We are	not the
Agency Notes:	Group 4 Electrical Equipment: Flowline Instruments - First Offe	rep/distribu	otes: the manufac tor for this p	
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Pr	oduct Code	
Agency Notes:		manufactur this product	otes:We are er's rep/distr t. 1 / each	
OCWUT 35-2404-14 Product Code:	Group 4 Electrical Equipment: Endress Houser - First Offe	Supplier Pr	1 / each	
Agency Notes:		manufactur this product		ibutor for
OCWUT 35-2404-13 Product Code:	Group 4 Electrical Equipment: Effectar Controls - First Offe		1 / each oduct Code:	12.00%
		this product		

		manufactur this product		ributor for
OCWUT 35-2404-27	Group 4 Electrical Equipment: McCrometer - First Offe	r 12.00%	1 / each	12.00%
Product Code:			oduct Code	
Agency Notes:		Supplier No manufactur this product	er's rep/dist	
OCWUT 35-2404-28	Group 4 Electrical Equipment: Mettler Toledo - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-29	Group 4 Electrical Equipment: Moxa - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	er's rep/dist	not the
OCWUT 35-2404-30	Group 4 Electrical Equipment: Murphy Switches - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-31	Group 4 Electrical Equipment: MVC - Surge Protector - First Offe		1 / each	5.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2404-32	Group 4 Electrical Equipment: Sew-Eurodrive - First Offe	r 3.00%	1 / each	3.00%
Product Code: Agency Notes:		Supplier Pr Supplier No We are the rep/distribu	otes:	25
OCWUT 35-2404-33	Group 4 Electrical Equipment: Toshiba Drives and Motors - First Offe	r 3.00%	1 / each	3.00%
Product Code: Agency Notes:		Supplier Pr Supplier No We are stoc Toshiba Elec	o <b>tes:</b> king wareho	
				otal: \$0.00
Item #		Unit Price		Total Price
OCWUT 35-2405-01 Product Code: Agency Notes:			er's rep/dist	not the
OCWUT 35-2405-02	Group 5 Gauges, Monitors, and Accessories: Action Industry - First Offe		1 / each	10.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2405-03	Group 5 Gauges, Monitors, and Accessories: Ashcroft - First Offe	r 3.00%	1 / each	3.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2405-04	Group 5 Gauges, Monitors, and Accessories: Badger - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier Pr Supplier No manufactur this product	o <b>tes:</b> We are er's rep/dist	not the
OCWUT 35-2405-05	Group 5 Gauges, Monitors, and Accessories: Bindicator - First Offe	r 11.00%	1 / each	11.00%
Product Code:		Supplier Pr	oduct Code	:

		this product		
OCWUT 35-2405-06	Group 5 Gauges, Monitors, and Accessories: Dwyer - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are i er's rep/distr	not the
OCWUT 35-2405-07	Group 5 Gauges, Monitors, and Accessories: Endress Hauser - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2405-08	Group 5 Gauges, Monitors, and Accessories: Honeywell - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2405-09	Group 5 Gauges, Monitors, and Accessories: Magnitrol			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-10	Group 5 Gauges, Monitors, and Accessories: Mercoid			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2405-11	Group 5 Gauges, Monitors, and Accessories: Numatics - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr t.	not the
OCWUT 35-2405-12	Group 5 Gauges, Monitors, and Accessories: Omega - First Offe	r 15.00%	1 / each	15.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distr t.	not the
OCWUT 35-2405-13	Group 5 Gauges, Monitors, and Accessories: Reno A and E - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distr	not the
OCWUT 35-2405-14	Group 5 Gauges, Monitors, and Accessories: Rosemount - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are a er's rep/distr	not the
OCWUT 35-2405-15	Group 5 Gauges, Monitors, and Accessories: Universal - Flow Monitors - First Offe	er 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are i er's rep/distr	not the
OCWUT 35-2405-16	Group 5 Gauges, Monitors, and Accessories: Venture - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are i er's rep/distr	not the
OCWUT 35-2405-17	Group 5 Gauges, Monitors, and Accessories: Wahl - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2405-18	Group 5 Gauges, Monitors, and Accessories: Weiss - First Offe		1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the

			Lot T	otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2406-01	Group 6 Plant Equipment: Alfa Laval Presses - First Offe		1 / each	11.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor this product.		
OCWUT 35-2406-02	Group 6 Plant Equipment: Assa Abloy Operators - First Offe	r 11.00%	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2406-03	Group 6 Plant Equipment: Automatic Switch Company - First Offe	· ·	1 / each	11.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2406-04	Group 6 Plant Equipment: BDP			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-05	Group 6 Plant Equipment: Bradley			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-06	Group 6 Plant Equipment: Caloritech Heaters			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-07	Group 6 Plant Equipment: Caterpillar Equipment - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2406-08	Group 6 Plant Equipment: Chemical Storage Tanks			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-09	Group 6 Plant Equipment: Chesterton			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-10	Group 6 Plant Equipment: Cla-Val			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-11	Group 6 Plant Equipment: Cleveland Mixer			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-12	Group 6 Plant Equipment: Conquest			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-13	Group 6 Plant Equipment: Conseco - Hydrated Lime System			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-14	Group 6 Plant Equipment: Cummins Equipment			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-15	Group 6 Plant Equipment: Dezurick Valves			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-16	Group 6 Plant Equipment: Dodge Gear Boxes - First Offe	r 8.00%	1 / each	8.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are er's rep/distr	not the
OCWUT 35-2406-17	Group 6 Plant Equipment: EDI Diffusers			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-18	Group 6 Plant Equipment: EIMCO Process Equipment			No Bids

Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-19	Group 6 Plant Equipment: Epic Lubing Systems - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-20	Group 6 Plant Equipment: Evoqua Regulators and Injectors - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier No manufactur this product		butor for
OCWUT 35-2406-21	Group 6 Plant Equipment: EVR - First Offe		1 / each	12.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distri	
OCWUT 35-2406-22	Group 6 Plant Equipment: Falk Gearboxes - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distri t.	
OCWUT 35-2406-23	Group 6 Plant Equipment: Febco			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-24	Group 6 Plant Equipment: Fiberglass Custom Fabrication			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-25	Group 6 Plant Equipment: Fiberglass Doors and Windows			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-26	Group 6 Plant Equipment: Fisher Controls Company - First Offe		1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distri	
OCWUT 35-2406-27	Group 6 Plant Equipment: FMC Link Belt Clarifier			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-28	Group 6 Plant Equipment: Fontaine Aquanox			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
·	Group 6 Plant Equipment: Fuller Dust Collectors			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
· · · · · · · · · · · · · · · · · · ·	Group 6 Plant Equipment: GA Industries			No Bids
Agency Notes:		Supplier No		
OCWUT 35-2406-31 Product Code: Agency Notes:		Supplier Pr Supplier No	1 / each oduct Code: otes:We are n er's rep/distri	
OCWUT 35-2406-32	Group 6 Plant Equipment: Halliday Products			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-33	Group 6 Plant Equipment: Haws			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-34	Group 6 Plant Equipment: Hollow Metal Doors and Windows			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-35	Group 6 Plant Equipment: Huber Grit			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-36	Group 6 Plant Equipment: J&S Valve Hedflex			No Bids

Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT35-2406-37 Gro	oup 6 Plant Equipment: JMS Augers and Conveyors			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-38 Gro	oup 6 Plant Equipment: John Crane			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-39 Gro	oup 6 Plant Equipment: Jurassic Carbon			No Bids
Agency Notes:			Supplier Product Code: Supplier Notes:	
OCWUT 35-2406-40 Gro	oup 6 Plant Equipment: Kome Line Presses			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-41	Group 6 Plant Equipment: Koyo Bearings - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distri	
OCWUT 35-2406-42 Gro	oup 6 Plant Equipment: Kusters			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-43 Gro	oup 6 Plant Equipment: Landshire Screws			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-44 Gro	oup 6 Plant Equipment: Leopard Filter Tile and Repair Parts			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-45 Gro	oup 6 Plant Equipment: Liftmaster Doors			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-46 Gro	oup 6 Plant Equipment: Lighting Flash Mixers			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-47 Gro	oup 6 Plant Equipment: Limitorque			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-48 Gro	oup 6 Plant Equipment: Link-Seal			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-49 Gro	oup 6 Plant Equipment: Lovejoy			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-50 Gro	oup 6 Plant Equipment: Martin Decker Load Cell Scales			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-51	Group 6 Plant Equipment: Motorola Control Units - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for this product.		
OCWUT 35-2406-52	Group 6 Plant Equipment: Muffin Monster - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for this product.		
OCWUT 35-2406-53 Gro	oup 6 Plant Equipment: Myers and Son			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-54	Group 6 Plant Equipment: Nachi Technology - First Offe		1 / each	8.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distri	

Agency Notes:	s	Supplier Pro	oduct Code:	
		Supplier No		
OCWUT 35-2406-56 Group 6 Plant Eq	uipment: Norit Carbon Systems			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-57	Group 6 Plant Equipment: NSK Corporation - First Offer	8.00%	1 / each	8.00%
Product Code: Agency Notes:	s n	Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for this product.		
OCWUT 35-2406-58 Group 6 Plant Eq	uipment: Omega Dust Collector			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-59 Group 6 Plant Eq	uipment: Onyx			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-60 Group 6 Plant Eq	uipment: Ovivo			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-61 Group 6 Plant Eq	uipment: Park Hannifer			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-62 Group 6 Plant Eq	uipment: Philadelphia Mixers			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-63 Group 6 Plant Eq	uipment: Pipe Linx			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-64 Group 6 Plant Eq	uipment: Poly Blend			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-65 Group 6 Plant Eq	uipment: PPI			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-66 Group 6 Plant Eq	uipment: Proco Products			No Bids
Agency Notes:	s	Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-67 Group 6 Plant Eq				No Bids
Agency Notes:	s	Supplier Pro	oduct Code: otes:	
	uipment: Red Valve			No Bids
Agency Notes:	s	Supplier Pro	oduct Code: otes:	
	uipment: Rodney Hunt			No Bids
Agency Notes:		Supplier Pro	oduct Code: otes:	
OCWUT 35-2406-70	Group 6 Plant Equipment: Rotalgn Laser Shaft Alignment - First Offer		1 / each	10.00%
Product Code: Agency Notes:	s n	Supplier No	oduct Code: otes:We are r er's rep/distri	
OCWUT 35-2406-71 Group 6 Plant Eq	uipment: Roto Mix			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 35-2406-72	Group 6 Plant Equipment: Rotork Actuators - First Offer	12.00%	1 / each	12.00%
Product Code: Agency Notes:	s	Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for		
	ti	his product		
OCWUT 35-2406-73 Product Code:			1 / each oduct Code:	3.00%
Agency Notes:	S	Supplier No	otes:	

		We are the a rep/distribu	authorized ma tor	anufacture
OCWUT 35-2406-74	Group 6 Plant Equipment: Shermco - Equipment Alignments - First Offe	r 12.00%	1 / each	12.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for this product.		
OCWUT 35-2406-75	Group 6 Plant Equipment: SKF USA - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We are not the manufacturer's rep/distributor for this product.		
OCWUT 35-2406-76	Group 6 Plant Equipment: Storefront Doors and Windows			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2406-77	Group 6 Plant Equipment: T.B. Woods	Supplierit		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2406-78	Group 6 Plant Equipment: Teadit			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-79	Group 6 Plant Equipment: Tekkem Slaker			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-80	Group 6 Plant Equipment: The Bilco Company			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-81	Group 6 Plant Equipment: Tideflex Technologies			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-82	Group 6 Plant Equipment: Timken Company - First Offe	r 5.00%	1 / each	5.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are r er's rep/distri t.	
OCWUT 35-2406-83	Group 6 Plant Equipment: Toledo Scales			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 35-2406-84	Group 6 Plant Equipment: Torit Dust Collector			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-85	Group 6 Plant Equipment: USGI			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-86	Group 6 Plant Equipment: Vulcan Bar Screens - First Offe	r 10.00%	1 / each	10.00%
Product Code: Agency Notes:		Supplier No	oduct Code: otes:We are n er's rep/distri t.	
OCWUT 35-2406-87	Group 6 Plant Equipment: Watts			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-88	Group 6 Plant Equipment: Wessels Company			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-89	Group 6 Plant Equipment: WesTech Process Equipment			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-90	Group 6 Plant Equipment: Whipps			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-91	Group 6 Plant Equipment: Zeks Air Dryers (Refrigerated)			No Bids
Agency Notes:		Supplier Pr Supplier No	oduct Code: otes:	
OCWUT 35-2406-92	Group 6 Plant Equipment: Zurn/Wilkins			No Bids

		Supplier Product Code: Supplier Notes:		
	Lot Total: \$0.00			
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2407-01	Group 7 Labor: Field Labor Per Hour - First Offe	r \$125.00	1 / each	\$125.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We have field service capabilities: Hot/cold alignment, vibration, balancing, push pull,		
OCWUT 35-2407-02	Group 7 Labor: Shop Labor Per Hour - First Offe	r \$100.00	1 / each	\$100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
			Lot Tot	al: \$225.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2408-01	Group 8 Delivery: Delivery Schedule - First Offe	r	1 / day	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: yes we do pick up and delivery when requested. No charge unless its after business operating hours		
OCWUT 35-2408-02	Group 8 Delivery: Repair Service Schedule - First Offe	r	1 / hour	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:yes we do pick up and delivery when requested. No charge unless its after business operating hours		
		Lot Total: \$0.00		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2409-01	Group 9 Federal Acquisition Regulations: FAR Clauses - First Offe	r	1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
			Lot T	otal: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 35-2410-01	Group 10 Miscellaneous Equipment and Information: Brands, parts, or services not specifically listed First Of	er	1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:We would like to be considered for any miscellaneous equipment and information: Brands, parts, or services not specifically listed.		
				otal: \$0.00

Tresha Williams	
City Clerk	

Chad Harrison Purchasing Agent

Tim Alvarez

Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.